"— -

LEEREERHNERAT PrigE =3 bl
Explosion-proof three phase induction motor

ot : BB RFRARE299SRAFH2SH507E

E3i% : 021-52588255

Rtk : www.tecochina.net

TEBY/TEB4/TEB5 |E3/IE4/IESRFIRIEETNL

8 ik 0791-88195099 TEBY/TEB4/TEB5 1E3/IE4/IE5 series flame-proof motor
R EBIE: 0769-28826526
=1} AN = =
FB MIE: 022-23850635 TEBD/TED4 IE3/IE4,Z{§§U.1=§J\:I:BE}§§579$}.'L
022-23859637 TEBD/TED4 [E3/IE4 series dust-ignition-proof motor

T HEiE: 0510-85342005



TECO

FAHIC

©®  1956FRTEINBRHBRABDKZITEE=ED,

©  1965F HE RENGEE—EAMUEBNE LI .

®  1966FETERT] MIZEAEFRAL).

©  1973FROKITIERA, EFECSHL. BN, BIKESEREE M,

©  1979FHH— B TS A LT MHIRE LB,

©  1983F . ME BRLEFBI. BRBF-RREBHREREE.
T ERARN ©  1987FRIHI R mR SAREGIFEFTBARE.,

RITBMAIIFATTI9565, MHNEDRE, ESHTERACENER. SENBIRE. KR8, & ® OFEMERSAI R, SASHEDHETRATR.

B, BFXETEAAHSSEHANRRETE, SWEEEESKANNIN+RE. Folsarfzos ®©  1991EDREEE M.

b, RSN R, RERARRHDZEBMMNESTERIRRR, L [RASKESK. SEHSEE

® 199 I E Sehk.
RRMZORRIENE] HER, BEOEWN. BRENGE. MR e

®  1995FHMEEFARE(WESTINGHOUSE)BHS .

tEFTESRNERADEN ®  00EEERRENAT.

RTRIERNELREEHSHS, EABNEERENMEFT, AMEEEREFNRSTFHER ®  2003FXBRTENR™.
5, HF201258A% LS LERTABBIERAT. EARTEREFEARNEEEENE, ©  2004EFEETE—I I
EERTHEFAEKENCREERSENTRAK. BRTREAEE. EREENRAERRAE.
BEEARE. FRE0: BRERLEN. SEETNS. MRENE. BHIBTEN. ke, B © 20045 TFRTTARIE.
RS, RERREETE, FBRFWEKN. =IHE. XBENTHERSKA, MBNSFREET ®  2012FEm B TEEENERATENRTERERE T ENERS B,
RERELEREERS, FHRERFTOE. AEREESEEMERATE, NEPNRLERS, B
=L (RS R R, ©  2016ELBHITTEEME .

© 2017ERHEXER [DAEETFEDUETHO] .

©  2018FRITiMmE DA ML MEH AR TEAEREINEER,
EEFEEERNARAE

ik KT R A RE299S GRITF 2244507 ©  2019F AERGRTTIEE T EHEEBRETIERE.

FBIE:021-52588255 © 2020 N#EDISHEIKSHE M- HRH K.
ik www.tecochina.net

©®  2021FEBIRBE= ISR EARMENB IR,

= ©  2022FFSXERERBMER LI ZAEITR,
TSI RS S S % AT BT BB, .
All date presented is for reference only and subject to change without notice ® 2023FWMAHELEAT.



TECO

FRIME

FREEBARINE
BRl 2 Rz = EIRIRRIAIE
MR EBAZRINE

X

E § Contents

HFrhR=taRS R

TECO Explosion-Proof Three Phase Induction Motors
BAIREBHE A% FTUse place of explosion-proof motor .

BEIRER AR EEEXplosion-proof motor technical data
$#EiR{EENamepalte

BHBIEBSExplosion-proof certificate NO.

SHRRIMNE
Data Sheet & Outline DrawingTEBY
TEBY4F43RTEBY Data Sheet
TEBYSMEEITEBY Outline Drawing
B3%24£B3 Mounting
B5%%B5 Mounting
B35%%£B35 Mounting
V1224£V1 Mounting

TEB445M3RTEB4 Data Sheet

TEB44MEEITEB4 Outline Drawing
B3%24EB3 Mounting
B5Z24EB5 Mounting
B35%4B35 Mounting
V122%£V1 Mounting

TEBS45MZRTEBS Data Sheet

TEBS4MEZEITEBS Outline Drawing
B3%2%EB3 Mounting
B5Z24EB5 Mounting
B35%4£B35 Mounting
V1224£V1 Mounting

TEBD#F14HZTEBD Data Sheet
TEBDAMFZEITEBD Outline Drawing
B3%%£B3 Mounting
B5Z24EB5 Mounting
B35%4£B35 Mounting
V1%%V1 Mounting

TED44$MERTED4 Data Sheet

TED44MEETED4 Outline Drawing
B3%22%B3 Mounting
B5Z24EB5 Mounting
B35%2%%B35 Mounting
V1%%V1 Mounting

01-02
03-11
12
13

14-17

18-22
23-26
27-31
32-36

37-39

40-44
45-48
49-53
54-58

59-61

62-66
67-70
71-75
76-80

81-84

85-92
93-102
103-113
114-124

125-127

128-136
137-143
144-153
154-163



BrREBH(E LA PR

IR EZATRG . SHRAS. ABETMKET
WEEFISRPETMFESHAMMESE. ZSRPLNT
W, REMRSESREFHRERT BEEESY . MR
XIMREMATIRIENRE | BEXRE , RasRRE,
SRAIDHIREBANAT LU R R EIRNE,

AP B MR ES

Rig REEX EFRIBAIREEHL

Location of explosion-proof motor

Explosion-proof motor is mainly used in coal mine, petroleum and
natural gas, petrochemical and chemical industry which may produce a
variety of combustible gas or steam or dust in the production process
These can be mixed with air to form an “explosive mixture". If the
mixture is at explosive temperature and meets fire, it will cause an

explosion. The usage of explosion-proof motor can avoid the explosion.

Classification of hazardous areas

Applicable explo-sion

Zone  Zone definition proof motors
o Occurrence of explosive gas atmosphere : No applicable explosion-
| wprarin O permanent, long time proaimotors t present
T R s Occurrence of explosive gas Flame-proof “db" ,
Ik | TRHBEEHENONE | gen fob' EER b | atmosphere : occasional Pressurized enclosure “p"
ERTHEHIUBKEE SR Flame-proof ‘b’ ,
o |t mEeneey | EEE “db’ EER P’ 5 | Oceurrence of explosive gas Pressurized enclosure *p
. 1% “eb”, TKILE "ec atmosphere : rare , shot time Increased safety "eb”
18 Non-sparking ‘ec’
Rl REEX EFRRESH Zone  Zone definition e o "
o 3o | Occuence of explosv gasatmosphere | o appicaie exploson
NBOTRE permanent, long time proof motors at present
" Occurrence of explosive gas atmosphere: [ pust ignition protection by
ThEHIE EN:N = “tb” gnition p Y
2 | FTEEBFHIBLASRSE | jiaprm o 2| occasional enclosure -t
IERATREHIUBIEI L Occurrence of explosive gas atmosphere :| Dust ignition protection by
22K pgma. EDEEHIUBRAERT | AMSIPR o 22 | e e o e
18]

PR RIER

Ex d lIB T4 Gb

~ \— RERIPR
i S Ga, Gb, Ge
< :Da, Db, Dc
REER)

RiPEE

ISR "db”
EER P,
B ‘eb”
TR “ec”

SBEERER
¢ A, T8, 1IC
#E WA, B, mC

TEC0/01

Explanation of explosion-proof marking
Ex d IIB T4 Gb

Explosion-proof J

T

The degreeof protection

marking Gas: Ga, Gb, Gc
Dust: Da, Db, Dc
Temperature class
Temperature class | Maximum surface temperature('C
Type of protection i 250

Flame-proof “db”
Pressurized enclosure “p!
Increased safety "eb
Non-sparking “ec”

T

00
s s ]
explosive substances group

Gas :TA, 1B, IIC
Dust : TA , T8 , TC

RIEESEREYSER

EREMIECER , MEMMES =%
I36H HEPR

MSRIFESIHREY (AESES)
JUES g2 E I

T2

AIRESHERES

TECO

Explosive gas mixture group table

In China and the IEC countries, explosive material is di
three categories

Class I: Mine Methane
Class II: explosive gas mixture (water vapor,mist)
Class llI: dust explosion and fiber

AYNERSEE(C)21H Temp.class

SFlammable gas or water vapor

Bz TE HERT
Methane Buty alcoho Cyelohexane
! E AT
Ammonia Acetic anhydride
BaRR
Acetic acid
i AT Tz Prac i
Ethane Propane | Butane Pentane Ether
ES L] Z8E Zi ZE
BenZene Acetone | Ethanol Hexane Acetaldeh yde
ES EZWE A 157
Chlorbenzene ~ Styrene | Propene Heptane
A BT i
Methanol n-Butvl acetate Octane
P BERRIXER
Toluene Amyl acetate Dectane
—S v S
Carbonmonoxide i
BB ER b
Ethyl acetate Gsaoline

sa
Hydrogen cyanide
HPES

B
Ethylene oxide
T

ke ZEFER
Isopentylens Ethyl methyl ether

Coal gas Butadiene Dimethylether Ethyl oxide
Hrke 1L4-“HEBKR TR -
B Cyclopropane 1.4-dioxan Butenal Butyl oxide
AR ZH% L Znmg PUmZ %
Propine Ethyene  Furan Ethanethiol Tetrafluoroethylene
AR
Acrylonitrile Methyl acrylate
Ic v
=3
1. bZ&IED | BIREFLICSIB > IA, iREZLMEIC> IB>IA 1. In the above-mentioned calss Il the danger degree: IIC > lIB > IIA, the

"BREI S ERS .

safety of the apparatus: IIC >lIB > IIA, high level covers the low level;

TEC0/02



TEBYR R
FIAIRE= AR
ERERESE: 380VELHEREE
ERESRE: 50HZEE60HZ
IR 0.18-355kW
TAEHEETARRIST
HEES: 80M-355L
P45 Exdb 1IB T4 Gb; Exdb IIC T4 Gb
PSR IPSS, P65
$#7E 10411
KSR PR
HHEGRTT: EBRRATES.F: LOWR FA@IZ80K
RHEA: IM B3KFHIRSRE)
IM B35 (KFERIEZEHAED),
IM BS (KFEXEZZR);
IM V1 (Zstiim FAE= ) s E
oBEER : GB18613-2020 GB3/IE3

ERARY

AR R AR £ 0% SPRIRAR £ SR R
piks 10%LAR {8 BT +5%

R IRR2E

IEIRAE-20-50°C
FIHREARRGEEI0%LA T (BFAERILE)
THIREEER1000mLLT

feanFI=ERHRS

BERETITARTNANERE. A ER S AT £
AR | REEEEEY-ABH

i#2%: Munsell 5PB 3/8

TEC0/03

TEBY technical data

Type: Flame-proof three phase induction motors
Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.18-355kW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Exdb 1IB T4 ;Exdb IIC T4

Protection classIP55, IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting:IM B3 , IM B35, IM B5 , IMV1 or others.

o Energy efficiency level: GB18613-2020 GB3/IE3

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zonel or Zone2

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)

Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting
Painting: Munsell 5PB 3/8

TEBAB A &R
MRIBIRE=IAR SR
HER[E: 380VELRERE
BRI 50HZEL60HZ
TN 0.75-315kW
TR TARRIST
HIEES: 80M-355L
514 Exdb 1IB T4 Gb; Exdb IIC T4 Gb
FHIP&LIPSS, P65
St 10411
BEER: FR
BEORTT: EBIRIATES F: LOER FA#BIZ80K
TR IMB3 (KFHIRR)
IM B35 (KFHIRZREHAEZ);
IM BS (KFRiEZZRE);
IMV1 Sz FAE =22 sk it
oHENELR | GB18613-2020 GB2/IE4

ERRN

R FREE R £ 10960170 MR S96 AP R
piis 10%LAR, {8 BT +5%

R KE2K

INETRE:-20-40°C
FHREARRGREI0%LA T (BFAERILE)
BREEBR1000mLLT

feanFT=UERIHRS

BERETTARTNANERE. ARt ER I £t
By SEEERMERY-AR

i#45 Munsell N5

TECO
TEB4 technical data

Type: Flame-proof three phase induction motors

Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.75-315kW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Exdb IIB T4 ;Exdb IIC T4

Protection classIPS5, IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5 , IMV1 or others

o Energy efficiency level: GB18613-2020 GB2/IE4

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zonel or Zone2

Ambient temperature:-20-40°C

Relative humidity: Less than 90%RH(Non-condensation)

Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y- starting
Painting: Munsell N5

TEC0/04



TEBSE AR IR
MRIBIRE =SSR
FEBE: 380V RTERE
SR S0HZEI60HZ
I 0.75-315kW
T ESTARRIST
HEES: 80M-355L
W14 Exdb IIB T4 Gb; Exdb IIC T4 Gb
PP IPSS, P65
REIAE: 1C411
BEER: FR
ERTT: EBIRIATES F: LOER FABIZ80K
T3 IMB3 (KFHIRZ) ;
IM B35 (KFHIRZEHAEZ);
IM BS (KFEREZZRE);
IMV1 Gzt FAE= 2 sl
oHEER : GB18613-2020 GB1/IES

BERRMG

R FREEASE £ 109%L1P0 SRR S96 AP R
piez 10%LAR,{E: BT 5%

MR K2R

IRETRE:-20-40°C
IR EEI0%L F(EREEEE)
SIREEIBR1000mLLT

feanFr=UERdhES

BERETIARTANERE. ARt ER R £t
AR | SEEREEY-ABH

7% MUNSELL 7.5B 3.5/0.5

TEC0/05

TEB5 technical data

Type: Flame-proof three phase induction motors

Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.75-315kW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Exdb IIB T4 ;Exdb IIC T4

Protection classIPS5, IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5 , IMV1 or others

o Energy efficiency level: GB18613-2020 GB1/IES

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zonel or Zone2

Ambient temperature:-20-40°C

Relative humidity: Less than 90%RH(Non-condensation)

Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting
Painting: MUNSELL 7.5B 3.5/0.5

TEBD#AR&iE
MR LIHIRE =SS
HERRE: 380VELREREE
HEYRE: 50HZE;60HZ
TN 0.55-400kW
T{EhESTIRRIS1
HEES: 80M-355C
FIREL: Extb 11IC T135°C IP65
B & IP65
B 1C411
BEER: FR
HERRT: EBIEIATES F: LOFER FABIZ80K
253 IMB3 (KFPMIRES)
IM B35 (KFHIRZEHAEZ);
IM B5 (KFRIEZZ);
IMV1 (SZUIE FAE =25k ELfth
oHEHELR  GB18613-2020 GB3/IE3

ERRY

ERIRE{FR FEIRENEE + 10% LM SRERIRAN TR £ 5% AP BB ER.
i 10%LARS, BT £5%

BIRRIE:21RE22K

IETRE:-20-50°C

IERE ARG R I0% LA T (BFAERLE)
TSI EIR1000mIAT

fEEhAEkhES

BERe7 TR AR ENER . AR TR R IRIAT £t
AR | SEEREEY-ABH

% Munsell NS

TECO
TEBD technical data

Type: dust-ignition-proof three phase induction motors
Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.55-400kW

Duty: Continuous S1

Frame No.: 80M-355C

Explosion-proof class: Extb I11C T135°C IP65

Protection class:IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5 , IMv1 or others

« Energy efficiency level: GB18613-2020 GB3/IE3

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zone21 or Zone22

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)

Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting
Painting: Munsell N5

TEC0/06



TED4 B AR

MR LIRE=IBRSBA

HERB[E: 380VEREREE

e S0HZE;60HZ

TR 0.75-315KW

TR TARRIST

HUEES: 80M-355L

BIREL: Extb 111C T135°C IP65

BhiFE4R:IP65

#1041

BRER: FR

HEEIRTT: EBFRIATES.F: 1.0 FABIE 80K

LA IMB3 (KFHIERS)
IM B35 (KFHIRZESA
IM BS (KFRE=RE);
IMV1 Szt FAE= 2 sl H

oHYAIEL | GB18613-2020 GB2/IE4

=]

ERRY

ERIRS{ B RN + 10%LAM SRR AN TE £ 5% LAPY BRE R
10%LAP {8 AT +5%

EIRRE21RH2K

FREREE-20-50°C

FSREARRGREI0%LA T (B AERILE)

THIREEER1000mLAT

fEn=UEAHRS

HERETT A RTANERE. A ERS S AT £

REAR | REEREEY-AR

% Munsell NS

TECO/07

TED4 technical data

Type: dust-ignition-proof three phase induction motors
Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.75-315KW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Extb I11C T135°C IP65

Protection class:IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5 , IMv1 or others

© Energy efficiency level: GB18613-2020 GB2/IE4

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zone21 or Zone22

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)

Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting

Painting: Munsell N5

TEBY/TEBVff{iE3E3® TEBY/TEBV optional accessories table

PR BEZ BER= HER

o RN ARt
ERSR Plani Plan2 Plan3 Pland Plans

VEA
Plané Plan7

H2S mmeme s S GHEPTIO0AE o SMEPTI0 =%  LMEPTC =%
No. T-BOX BRPTCX +Heater +Heater
v
80~132 Ms (wPTC=3%) x v x v x x
160 M6 v x v X v X X
180 M6 N x N x v x v
200~225 M8 v x N v N x v
250~280 M10 v x v v v x v
315~355 M16 v v v v v v v

1.0nly one senario could be taken among I#1 to #6 according to the frame no.
255enario #7 could be combined with one of #1 to #6, according to the frame no.

BB ¢ L REES R —ERRA R,
2, 57
3.1n the Senario #1 of Fr#80~132,0nly PTC 3-phase connection could be realized,

P e T T100= PT100 3-ph tion of windi t applicabl

& FISHIFA3SS IR T -phase connection of winding is not applicable.

e e 4Optional T-bo i required when adding accessoris o Fr#315 and Fr3ss
SIS, (R Options are provided: extended shat, less noise,less vibration, and etc.

TEB4/TEB5 i {3453 TEB4 optional accessories table

2. = = Evae 2=
T 3 s R= 3 HEA FRE
B Plan2 Plan3 Plané
&S . . =
) GHEPTI00 A3 ;
s P 3 Heater T cater +Heater
80~132 Ms (pTc=x%) x v x v x x
160 M6 v x v x v x x
180 M6 v x v x v x N
200-225] M8 v x v v v * v
250 M10 v x v v v x v
280 M10 v v v v v v v
315~355 M16 v v v v v v v

1. Only one senario could be taken among #1 to #6 according to the frame no.
2! Senario #7 could be combined with one of #1 to #6, according to the frame no.
Fr#80- 1325 E—PPTCEXAIRI. HHEPTI 3.In the Senario #1 of Fr#80~132, only PTC 3-phase connection could be realized, PT100
# 3'phase connection of winding is not applicable.
4280~ HRBIEHTHE.
. Frigo 355&””“‘*:;% ?;Qf . 2. Optional T-box is required when adding accessories to Fr#280 to Fr#355
SIS, (R Options can be provided: extended shaft, low noise,low vibration, and etc

BEOA : 1. IRBIESHR—EAREASBET—,
. AR CRIEES TSRS R AP

R,

B

TESF, Rotors are dynamically balanced to severity grade A using a halfkey.
#Bid Table below contains the effective vibration values for unloaded motors.

#®Eh Vibration

IRaNER i
Vibretion grade Shaft height/mm

80<H<132

2475 REERER/BD TREEEER/DD RERER/BD
Mounting Velocity mms Velocity mms Velocity mms
HEE 16 22 28
Free suspension
Rl
Rigid mounting 3 8 23
TEC0/08



EEE%EHE Terminal box data

FEHS Frame BEANE = =
Terminal box type Outlet type Outer cable diameter
1Y (Rubber cable)
LA,
80~132 MS Single or Double L (Steel conduit): M3072
4R (Steel conduit): NPT 1
1L (Rubber cable)
BT
160~180 M6 Single or Double LR (Steel conduit): M36+2
5L (Steel conduit): NPT 1.25"
1EFBY(Rubber cable)
200-225 e BRI L (Steel conduit): MA8*2
ingle or Double B N
Singl s (Steel conduit): NPT 1.5
Q5L (Steel conduitl: NPT 2'
14 (Rubber cable)
BRIl
250~280 M10 Single or Double L (Steel conduit): M64*2
B4 (Steel conduit): NPT2.5"
184 (Rubber cable)
w7l L (Steel conduit): M64*2
315-355 M16 oo,
ouple 5L (Steel conduit): M63*1.5
METLE(Steel conduit): NPT 2.5"

iE - SRS
TEBY : 80~ ZSOMsﬂﬁﬁﬁlﬂihﬁj&;’t 315%[13SSITLIEgﬂJmMUE_LﬁEﬂﬁ%“

TEB4/TEBS : 80~25041&: HUEE SRR AE .
THEBFEFER:
TRERIFIRED , M ERGERNHOLH AT , FEEREHNSRENER SHO%LS
ERFFUR §E'ﬁ%ﬁ%§ﬁm—ﬂ'¥&?‘@?ﬁ (2% THE)
EMETERGER)
A
L (msErmE 4 P (B5BEFS)
v
AR ER{ER)

TEC0/09

TEBVZES7isER TEBV frequency conversion specification T E c o

oS 3~100Hz
BB E 3Hz~E5]
EIRISEE EYfi~100Hz

EL : 2RFNFERETASKWES , {E1)

SO RS~ 100HZ;
2HRINFATFASKWRY, BT EISTBE 9 E4T-60HZ;
E2 1 AHRIFEAT 200kWES B ISTHEE R~ 60Hz;

TEBY/TEB4ZE4{i%EE TEBY/TEB4 frequency conversion specification

21R45kWLL ELIR 412 200kWLEL E Above 2P-45kW & 4P-200kW

50Hz 60Hz

BIREERE - BIREERE
Decreasing torque Decreasing torque

EEZE
Constant Torque

EE5E
& Constant Torque
Constant Power

5~25Hz Decreasing torque ~ Decreasing torque

25~50Hz Constant Torque 30~60Hz Constant Torque
T B

50~100Hz Constant Power 60~100Hz Constant Power

TEBY/TEBV/TEB4 iRk B S Kiilig TEBY/TEBV/TEB4 Bearing type &lubrication

RS Bearing type

90 PRELE 620522C3 620522C3 - -
100 PRI 620622C3 620672C3
112 PRI 630622C3 630622C3
132 PR 63087ZC3 630672C3 B N
160 2PRELE 630922C3 630722C3 - ,
180 2PRLLE 6311C3 6310C3 70 70
200 2PRELE 631203 6212C3 80 80
s 2p 6312C3 6212C3 80 80
4PRLLE 6313C3 6213C3 80 80
0 2P 6313C3 6313C3 80 80
2PRILE 6315C3 6313C3 100 80
280 2p 6314C3 6314C3 80 80
4PRILE 6318C3 6316C3 130 110
i, 2P 6316C3 6314C3 110 110
2PRIAE 6320C3 6316C3 140 110
355 2P 6318C3 6318C3 130 130
4PRILE 6322C3 63223 220 220

TECO/10



TECO

TEBS iR BIS KB TEBS Bearing type &lubrication RSB Nameplate
i ELS Bearing type i@Amount of grease (g )
AEEANDE {HEHDE
80 2PRILE 620422C3 620422C3 - o
90 2PRILE 620522C3 620522C3 - - o Z% A = )f i F % #%%
100 PRILE 620622C3 620622C3 - - F‘:'l - ES
112 2PRILE 630622C3 630622C3 - - —
132 2PRILE 630872C3 630622C3 B B TEB4—13251—-2P 4 A AFMYXTX
160 PRELE 6309C3 6307C3 60 60 Ex 3 2 AE% 1328
180 2PRILE 6311C3 631003 70 70 ﬁii}l# 7.5 hp 5.5 kW[#%RK[0.86 [t #]90.9x%
200 2PRELE 6312C3 6212C3 80 80 [T 13 50 T F dlcont. (S|4 &| F
25 e e sme 5 & fAxgy 380 VIgags [ 1.0 8 M 20t 3
— e e = = AxEN 10. 1 A5G kB2/1E4 1P [ 55

20 4PRILE 6315C3 6313C3 100 80 [TLE] 2825 AL & —20~50 c i
250 » 63143 6314C3 80 80 [ 100 kg[ H4%4 PX20X022 i

4PRELE 6318C3 6316C3 130 110 P 63087272C3  6306ZZC3 3
s 2 63163 6314C3 110 110 EEEE Q/320217ACV64

4PRILE ;
-, N —

4PRILE 632203 632203 220 220 2 CJEx21. 0607

¢ ARIC BE [A) E.l #

TEBD/TED4%h 7B S % idi8 TEBD/TED4 Bearing type &lubrication

HLEE 15 Pole KBS Bearing type “3m@Amount of grease (g )
Frame size SHEEDE

80 2PRELE 620427 620372 -

90 2PRELE 620527 62042 - - &L (M

100 2PRELE 620622 62052 - - T ’ —

112 2PRUAE 630622 630522 - - T s GareTe E o= B+

132 2PRULE 630827 630627 - -

D REREEH A

160 2PRELE 630927 63072 - - The installation structure

180 2P 631172C3 631022C3 B B
4PRELE 63112 631022 B B 7

20 2 631222C3 621222C3 B B biagram
4PRLAE 631222 621277 - -

s 2 631222C3 621272C3 - - ‘”F%fn(?’s’lze 80-280 80-355 80-160 80-355 80-160
4PRELE 631277 621372 - -

250 2P 6313C3 6313C3 80 80
APRELE 6315 6313 100 80

250 2 6314C3 6314C3 80 80
4PRELE 6318C3 6316C3 130 110

315 2P 6316C3 6314C3 110 110
4PRELE 6320C3 6316C3 140 110

s 2» 6318C3 6318C3 130 130
4PRELE 6322C3 6322C3 220 220

TECO/11 TECO0/12



— TECO
gﬁiﬁgc;of certificate NO.: 4:\:'":'[*% Data Sheet

380V 50Hz
nes ) i st S =S
Tran || Expotomarootype e Dposonp FRIRELEEEL ( Frame-proof motor ) GB18613-2020 GB3 (IE3)
Sl cer . ce
a0 Exdb 1B T4 @ Exdb 1B T4 CIEX23.1257X Model : TEBY 2k
Exdb IIC T4 Exdb IIC T4 CJEx23.1262X
%0 Exdb I1B T4 % Exdb 1B T4 CJEx23.1258X
Exdb IICT4 Exdb ICT4 CEx231263X EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
00 Exdb 1B T4 00 Exdb 1B T4 CJEX23.1259X OUTPUT Approx
Exdb IIC T4 Exdb IIC T4 ClEx23.1264% FRAME FULL FULL  3/4 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND
12 Exdb 1B T4 12 Exdb 1B T4 CIEx23.1260X LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAD ROTOR UP DOWN
Exdb IIC T4 Exdb IIC T4 CJEx23.1265X
- Exdb 1B T4 - Exdb IIBT4 CIEx23.1261X %) (O I ) wFic kg-m  %FLT %FLT  %FLT
Exdb ICT4 Exdb IC T4 CIEx23.1266X 075 1 [2875 | som | 80.7 | 783 [ 751 [ 835 | 770 | 655 | 1.69 | 780 [0.254] 280 | 275 | 335 [0.006] 69 | 29
160 EdblIBTA 160 £rdblIB T4 230129 1 | 15 | 2670 | 80m | 827 | 83.0 | 813 | 850 | 785 | 665 | 238 | 800 | 0373| 300 | 295 | 350 [0007| €9 | 31
Exdb IC T4 Exdlb IC T4 CIEx23.0435
v | o Exdb BT N - Exdb 1B T4 B0 15 | 2 [2835| oo | 842 | 864 | 870 | 880 | 830 720 | 308 780 [o0516] 225 | 210 | 270 [o011| 69 [ 40
Exdb IC T4 Exdb I T4 CIEx23.0436 22 | 3 [ 2845 oou | 859 | 87.8 | 886 | 880 | 835 | 750 | 442 | 855 [ 0759 255 | 240 | 305 [0012] 69 [ 42
200 EdolIBTA 200 ExdblIB T4 23005 3 | 4 | 2855 100L] 87.1 [ 883 | 884 | 880 | 845 | 765 | 595 | 880 | 1022] 255 | 240 | 355 [0.025] 73 | 55
ExdbIC T4 Exdb IC T4 CJEx23.0437
. b 1B T . b 1B T CExzs0432 4 | 55 2005 [112m] 881 | o1 [ 889 [ 89.0 | 850 | 760 | 7.75 | 940 [1342] 305 | 245 | 330 [o0s2| 73 [ 72
Exdb I T4 Exdb IC T4 CIEx23.0438 55 | 75 | 2930 [ 1325 | 89.2 | 89.8 | 895 | 860 | 840 | 77.5 | 109 | 800 | 1.826] 205 | 205 | 340 [o075| 75 | 85
250 Exdb I8 T4 250 Exdb I8 T4 23,0433 7.5 | 10 [ 2920 [ 1325 | 901 | 90.9 [ 909 | 87.0 | 840 | 760 | 145 | 860 | 2503 255 | 185 | 200 [0075| 75 [ 3
ExdbIIC T4 Exdb IIC T4 CJEx23.0439
- b IB T . b8 T CEx230034 11 | 15 [2935 [160m | 912 | 920 [ 920 | 90.0 | 89.0 [ 835 | 204 | 775 [3647] 230 | 185 [ 285 [0183| 77 [ 127
Exdb IIC T4 Exdb IIC T4 CIEx23.0440 15 | 20 [2935 [160m | 919 | 920 [ 92.0 [ 89.0 | 855 [ 77.5 | 27.9 | 865 [4.973] 275 | 230 [ 330 [o20s| 77 [ 140
315 EdbllB TS 315 bdbllB T4 b2z 1594 185 | 25 | 2930 [ 160L | 924 | 930 | 93.0 [ 900 | 895 | 840 | 33.8 | 810 | 6.144] 245 | 200 [ 205 [0237] 77 [ 156
Exdb IIC T4 Exdb IIC T4 CJEx22.1596
s Exdlb 1B 14 . BxdbIBTa Cx22 1595 22 | 30 [ 2940 [180m][ 927 [ 927 [ 92.5 [ 87.0 [ 85.0 [ 770 [ 414 [ 760 [7.281] 225 [ 180 [ 275 [o283[ 78 [ 218
Exdb IIC T4 Exdb IIC T4 CIEx22.1597 30 | 40 [2950 [ 2001 | 933 | 935 [ 925 | 90.0 | 90.0 [ 865 | 543 | 775 [9.895] 200 | 145 [ 270 [os02| 79 [ 295
80 Exdb 1B T4 CEx210603 80 | EtbliCTI3SC CIEx24.0179X 37 | 50 | 2955 | 200L | 93.7 | 945 | 940 | 910 | 905 [ 87.0 | 659 | 815 [ 1218 195 | 145 | 280 [0753| 79 | 321
Exdb IC T4 CIEx210616 90 | extblicTIssC CIEx24.0180
" T Ce0608 100 | B mCTI3eC ot oTex 45 | 60 | 2960 [225M] 94.0 [ 940 [ ‘935 [ 91.0 [ 910 [ 880 [ 79.9 [ 810 [1479] 150 [ 140 [ 200 [1187] &1 | 365
Exdb I T4 ClEx210617 112 | exblicTissC Clexza.0182¢ 55 | 75 [ 2970 [250m | 943 | 945 [ 940 | 915 | 90.0 [ 865 | 96:8 | 800 [1802] 150 | 130 [ 315 [1544| 81 [ 496
100 Exdb 1B T4 CIEX210605 132 | ExtblICTI35"C CIEx24.0183X 75 | 100 | 2970 | 2805 | 947 | 946 | 936 | 90.0 | 89.8 | 876 | 134 | 800 | 24.61| 155 | 135 | 300 | 1.935| 83 596
ExdbIC T4 CJEx210618 160 Extb IIIC T135°C CJEx24.0184X
- b 5T 10606 680 [ 180 | ExbmCTII5C et 0Taex 90 | 125 | 2970 [ 280m [ 95.0 [ 95.0 | 940 [ 905 [ 900 | 825 [ 159 [ 830 | 2953[ 150 [ 135 | 285 [2463] 83 | 677
Exdb IC T4 CIEx210619 200 | ExtblCTI35"C CIEx24.0186% 110 | 150 | 2970 | 3155 | 95.2 [ 95.0 | 943 | 91.0 | 895 | 856 | 193 [ 834 | 36.09] 230 [ 200 | 280 [3.200 86 | 1018
132 Exdb 1B T4 CIEx210607 225 | ExtblICTI35°C CIEX24.0187X 132 | 175 | 2975 [315M [ 954 | 95.1 | 94.4 | 91.0 | 90.5 | 87.0 | 231 | 755 [ 4324 150 | 130 | 280 [4.800| 86 | 1074
ExdbIC T4 CJEx210620 250 Extb IIIC T135°C CJEx24.0188X
- b8 T CEx10608 280 | ExbIICTIa5C CEx2d 0189% 160 | 215 | 2975 | 315L | 956 | 95.5 | 945 | 91.0 | 905 | 87.0 | 279 [ 764 | 52.41] 160 | 140 | 270 [ 5200 86 | 1208
Exdb IIC T4 CIB210621 315 | ExblICTI35°C CIEx24.0190% 185 | 250 | 2975 | 315 | 95.7 | 955 | 945 | 910 | 890 | 850 | 323 | 840 | 60.60| 160 | 135 | 260 |6302| 86 | 1279
TeBa | 180 Exdb IBT4 CIEx210609 355 | ExthICTI3SC CIEx24.0191X 200 | 270 | 2975 | 315L | 95.8 | 956 | 946 | 91.0 | 905 | 88.0 | 349 | 735 [ 6551 160 | 140 | 260 [6.000| 86 | 1349
Dbl Gbeioez 0| Buense o1 isen 220 | 300 [ 2975 [ 355M | 95.8 | 956 | 946 | 91.0 | 905 | 880 | 383 | 730 | 72.06| 145 | 120 | 250 |6400| 87 | 1628
200 Exdb 11B T4 CJEx210610 90 Extb IICT135°C CJEX21.1866X - - - - = - = -
Exdb IIC T4 Ciex210623 100 | ebiicTizsc ClEx211867X 250 | 335 | 2075 [355M | 95.8 | 956 | 946 | 91.0 | 905 | 885 | 436 | 700 | 81.89| 170 | 115 | 240 [10.800] 87 | 1697
25 Exdb 1B T4 CIE210611 12 | EdblCTIA5°C CIEx21.1868X 280 | 375 [ 2975 | 355L | 95.8 | 95.6 | 94.6 | 91.0 | 905 | 885 | 488 | 850 | 91.72| 170 | 115 [ 240 |16.270| 87 | 1890
Exdb I T4 Clex210624 132 | eablicTissc CIBx21.1869%
- T Crtoes Teo T eaticTisec SreTRTT 315 | 420 | 2075 | 355L | 958 | 956 | 947 | 915 | 91.0 | 89.0 | 546 | 711 [ 103.2| 140 | 115 | 240 [14.000] 87 | 1978
% Exdb IC T4 ClEx210625 TeDa | 180 | EwblicTIsSC CBi 1871 355 | 475 [ 2075 [ 3551 | 958 | 95.5 | 946 | 920 | 9055 | 855 | 612 | 840 [ 1163 120 | 120 | 260 [19.970] 87 | 2047
280 Exdb 1B T4 CJEx210613 200 Extb IIIC T135°C CJEx21.1872X
Exdb ICT4 CIEx210626 225 ExtbIICTI35°C CIEx21.1873X NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
Exdb IIB T4 CJEx210614 250 Extb IIIC T135°C CJEx21.1874X.
315 i R
Exdb IC T4 CIExe10627 280 | ExtblICTI35C CJEx21.1875X 2.Tolerance according to GB755, IEC 60034-1.
- Exdb 1874 CBx210615 315 | ExtblicTI3sC G2t 1876X 3.Breakdown & Locked rotor torques are show as average expected voltages.
Exdb IIC T4 CIEx210628 355 [ BabiicTisc CEx21.1877X 4. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
. 5.Data subject to change without notice.
TECOSIRFFIRIAE

The international explosion-proof certification of TECO

TECO/13 TECO/14



15143 Data Sheet

FRIZELERZAN, ( Frame-proof motor )

380V 50Hz
GB18613-2020 GB3 (IE3)

Model : TEBY 4%
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT Approx
FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR oap ROTOR — UP GD? i
%) (%) (%) %) (%) (A %FLC  kg-m  %FLT  %FLT kg-m*
055 | 075 | 1430 [ 8om | 808 | 81.5 [ 79.5 [ 750 | 65 | 51.0 [ 138 [ 640 [ 0375] 300 [ 270 | 320 [0010] 57 [ 29
075 1 [ 1410 som | 825 | 830 | 810 [ 73.0 | 630 [ 490 | 189 [ 635 | 0518] 300 [ 270 | 320 [0012] 57 | 31
1.1 | 15 [ 1430 [ oou | 841 | 844 [ 832 | 750 | 67.0 | 53.0 | 265 [ 720 | 0.750] 255 | 205 | 200 [0019] 57 [ 40
15 | 2 [1435[ oo | 853 | 860 [ 847 | 77.5 | 685 [ 550 | 345 [ 790 [ 1.019] 200 [ 250 | 305 [0020[ 57 [ 43
22 | 3 [1460] 100L | 867 | 87.2 | 862 [ 775 | 705 [ 580 [ 497 | 805 [ 1.468] 220 | 185 [ 285 [0.044]| 61 54
3 | 4 |1450 1o0L | 877 | 883 | 88.1 | 80.0 | 740 [ 625 | 650 | 745 [ 2.016] 190 | 180 | 280 [o0.048| 61 56
4 | 55 [ 1440 [112m] 886 | 89.8 [ 875 [ 80.0 | 73.0 [ 605 [ 857 | 725 [2707] 245 | 235 [ 280 [0077] 62 | 72
55 | 7.5 | 1455 [ 1325 [ 89.6 | 904 [ 903 [ 850 | 805 [ 70.0 | 11.0 | 735 [ 3678] 245 | 200 | 300 [0132] 65 | 90
75 | 10 [ 1450 | 132m| 904 | 908 | 90.4 | 850 | 800 | 69.5 | 148 | 780 | 5.033] 270 | 225 | 330 [0.172| 65 | 97
11 | 15 | 1460 [ 160M [ 91.4 | 920 [ 915 [ 850 | 81.0 [ 71.0 [ 21.5 | 775 [ 7331] 230 | 185 [ 270 [ 0366 67 | 140
15 | 20 [ 1460 | 160L | 92.1 | 925 [ 925 [ 850 | 81.5 | 71.4 | 29.1 | 810 [ 9997 250 | 195 | 285 | 0460 67 | 157
185 | 25 [ 1475 [180m| 926 [ 94.0 | 93.0 | 850 [ 824 | 750 | 357 [ 790 | 12.20[ 215 [ 160 | 255 [0704| 70 [ 196
22 | 30 [ 1475 180L | 930 [ 935 [ 93.0 [ 850 [ 819 741 | 423 | 785 [ 1451] 190 | 145 | 245 [0789| 70 [ 220
30 | 40 [ 1470 | 2001 | 936 | 945 | 945 | 86.0 | 845 | 77.0 | 566 | 830 | 19.86| 250 | 205 | 280 [1.451| 72 [ 328
37 | 50 [ 1480 [225M| 93.9 [ 945 | 94.0 | 855 [ 820 730 | 700 [ 760 | 24.33] 210 | 175 | 300 [1.896 | 73 [ 357
45 | 60 | 1480 [225M | 942 | 945 [ 940 [ 850 | 80.0 | 704 | 854 | 735 [ 2958] 210 | 175 [ 200 [1979| 73 | 365
55 | 75 | 1485 [250M | 94.6 | 946 | 94.0 [ 87.5 | 845 | 77.0 [ 101 | 780 [ 36.04| 210 | 185 [ 265 3911 74 | 502
75 | 100 | 1480 | 2805 | 950 | 950 | 945 | 850 | 820 730 | 141 [ 770 | 49.38[ 160 [ 150 | 300 [5033 | 77 | 621
90 | 125 | 1480 | 280M | 95.2 | 952 | 94.7 | 85.0 | 81.0| 71.3 | 169 | 780 | 59.26| 175 | 165 | 300 [6.112| 77 | 702
110 | 150 | 1480 | 3155 | 954 | 952 | 948 [ 88.0 | 865 [ 80.5 | 199 | 780 | 7243| 210 | 180 | 270 | 7.600 | 82 | 1025
132 | 175 | 1485 [315M | 956 | 95.5 | 94.8 | 87.5 | 850 | 780 | 240 | 700 | 86.62| 180 | 170 | 230 [ 1040 | 82 | 1080
160 | 215 | 1482 | 3151 | 958 | 956 | 948 [ 88.0 | 860 | 81.0 | 288 | 780 [ 1052| 180 | 170 | 230 | 1160| 82 | 1210
185 | 250 | 1482 | 315 | 959 | 956 | 946 | 885 | 865 | 825 | 331 | 680 | 1216 130 | 105 | 230 [ 1407 | 82 | 1285
200 | 270 | 1485 | 315L | 96.0 | 956 | 95.2 [ 88.0 | 87.0 [ 845 | 360 | 780 [ 131.2] 180 | 170 | 230 | 1400| 82 | 1356
220 | 300 | 1485 [ 355M | 96.0 | 956 | 952 | 89.0 | 88.0 | 840 | 391 | 740 | 144.4| 140 | 115 | 230 | 1440| 82 | 1643
250 | 335 | 1485 [ 355M | 96.0 | 95.8 | 95.0 [ 89.0 | 88.0 | 845 | 445 | 690 | 164.1| 140 | 115 | 230 | 2720 82 | 1700
280 | 375 | 1485 | 355L | 96.0 | 958 | 950 | 89.5 | 88.0 | 845 | 495 | 735 | 1837 200 | 115 | 270 |3279| 82 | 1896
315 | 420 | 1485 | 355L | 96.0 | 96.0 | 954 [ 89.0 | 88.0 | 845 | 560 | 679 [ 2067 130 | 105 | 230 |3440| 82 |1975
355 | 475 | 1485 | 3551 | 960 | 958 | 953 | 89.0 | 87.5 | 81.0 | 631 | 780 | 2330 200 | 180 | 280 |3922| 82 | 2052
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2.Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
5.Data subject to change without notice.
TEC0/15

1F143E Data Sheet

FRIEELEREAM, ( Frame-proof motor )

TECO

380V 50Hz
GB18613-2020 GB3 (IE3)

Model : TEBY 61%
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT Approx
FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oap ROTOR  UP GD?  PRESSURE Weight
© %) %) %) %FLC  kg-m  %FLT  %FLT kgm "GR° kg
037 [ 05 | 905 | som | 735 | 740 | 710 [ 640 | 540 120 | 420 |0398] 230 | 200 | 250 [0.013] 54 | 33
055075 905 | 8om | 772 | 699 | 664 | 69.0 | 580 157 | 420 [0591] 210 | 195 | 225 [0.015| 54 | 39
075 | 1 | 935 | 9oL | 789 | 792 | 779 | 720 | 630 201 | 520 | 0782{ 190 | 170 | 250 [0.019] 54 | 42
1.1 | 15 | 930 [ oo [ 810 [ 812 [ 805 | 720 | 635 287 | 490 [ 1.151] 200 [ 185 [ 215 [o0.026| 54 | 45
15 | 2 | 950 [ 1o0L | 825 | 829 [ 815 | 725 | 650 381 | 500 [ 1536] 200 | 175 | 225 [0.058| 55 | 56
22| 3 [ 960 [112m] 843 | 843 | 822 | 67.0 | 59.0 592 | 525 [ 2230( 175 | 175 | 250 [o0.083]| 60 | 73
3 | 4 [ 970 | 1325 [ 856 | 861 | 851 [ 760 | 70.0 7.01 | 655 [3.009] 175 | 170 | 300 [0.137] 63 87
4 [ 55| 970 [132M] 868 | 872 | 863 | 77.0 | 700 9.09 | 670 | 4012| 180 | 175 | 310 [0.182] 63 | 95
55 | 75 | 970 [132M | 880 | 880 [ 862 | 795 | 725 119 | 780 | 5517] 210 | 205 | 300 [0216| 63 [ 103
75 | 10 [ 970 [160M | 89.1 [ 90.0 | 89.0 | 790 | 73.0 162 | 715 | 7.523( 235 | 210 | 280 0483 | 63 | 142
11 | 15 | 970 | 160L | 903 | 910 [ 905 | 780 | 720 | 60.5 [ 23.7 | 755 [ 11.03] 240 | 255 | 285 |0628| 63 | 159
15 | 20 [ 970 [ 180L | 912 [ 92.0 [ 92.0 | 820 | 78.0 [ 68.0 | 30.5 [ 690 [ 1505 215 [ 165 [ 230 {1337 67 | 226
185 | 25 | 975 | 200L [ 91.7 | 925 | 925 | 805 | 76.0 | 665 | 38.1 | 720 | 18.46| 220 | 185 | 240 | 1.829| 69 | 302
22 | 30 | 975 | 200L [ 922 | 93.0 | 93.5 [ 815 | 77.0 | 68.0 | 445 | 720 | 2195| 210 | 185 | 240 [2078| 69 | 331
30 | 40 | 980 |225M [ 929 [ 935 | 93.5 [ 835 | 80.0 | 765 | 588 | 600 | 20.79| 200 | 160 | 215 |3.023| 69 | 366
37 | 50 | 980 |250M [ 93.3 | 940 | 940 [ 850 | 81.5| 750 | 709 | 730 | 3674| 230 | 200 | 250 | 4.194| 71 | 497
45 | 60 | 985 | 2805 | 937 | 937 | 93.0 | 815 | 775 | 67.5 | 895 | 690 | 44.52| 185 | 175 | 285 [5530| 74 | 610
55 | 75 | 985 |280M [ 941 | 941 | 935 | 830 | 80.0 | 71.0 | 107 | 685 | 5441| 185 | 175 | 300 | 6733 | 74 | 695
75 | 100 | 985 | 3155 | 94.6 | 945 | 93.7 | 845 | 81.0 | 71.0 | 143 | 700 | 7420| 200 | 180 | 280 | 9.600| 77 | 1020
90 | 125 | 985 |315M [ 949 | 949 | 942 | 850 | 825 | 750 | 170 | 704 | 89.04| 200 | 180 | 250 | 1520| 77 | 1077
110 | 150 | 985 | 315L | 951 | 95.0 | 942 | 850 | 830 | 755 | 207 | 667 | 108.8] 200 | 180 | 250 [1840| 77 | 1210
132 | 175 | 985 | 3151 | 954 | 953 | 943 [ 850 | 825 | 750 | 247 | 760 | 130.6( 200 | 180 | 250 | 2040| 77 | 1282
160 | 215 | 985 |355M | 956 | 955 | 945 | 845 | 825 | 750 | 301 | 660 | 158.3| 140 | 115 | 230 [31.600] 81 | 1630
200 | 270 | 985 [355M | 95.8 | 95.5 | 94.6 | 850 | 83.0 | 77.5 | 373 | 650 [ 197.9| 150 | 125 | 240 [40.800| 81 | 1698
220 | 300 | 985 | 355L | 958 | 955 | 946 | 850 | 83.0 | 77.5 | 410 | 650 | 2177 150 | 125 | 255 [40.800| 81 | 1895
250 | 335 | 985 [ 355 | 95.8 | 956 | 94.8 | 855 | 83.5 | 780 | 464 | 660 | 2473 | 150 | 125 | 230 46000 81 | 1980
280 | 375 | 988 | 355L | 958 | 956 | 948 | 850 | 830 | 77.5 | 522 | 760 | 2762| 180 | 150 | 270 53380 81 | 2051
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

2. Tolerance according to GB 755, IEC 60034-1.
3.Breakdown & Locked rotor torques are show as average

5.Data subject to change without notice.

expected voltages
4. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)

TECO0/16



15143E Data Sheet S50V S0z

FRIRBYERENH ( Frame-proof motor ) GB18613-2020 GB3 (IE3)
Model : TEBY 8tk

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OuTPUT
FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND

LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAp ROTOR — UP GD*  PRESSURE

: NO-LOAD
(%) (%) (A %fc  kg-m  %FLT %FLT kg-m? NG}

0.18 | 0.25 | 705 | 8om | 58.7 | 585 | 51.0 | 48.0 | 40.0 [ 32.0 | 0.97 | 330 | 0.249| 250 | 200 | 280 [0013| 54 | 330
025|033 | 680 | 80M | 64.1 | 63.0 | 58.0 | 60.0 | 50.0 [ 39.0 | 0.99 | 300 [ 0.358| 200 | 170 | 200 | 0.014| 54 350
037 | 05 | 705 | 0L | 69.3 | 69.0 | 67.0 | 59.0 | 49.0 [ 38.0 | 1.37 [ 390 | 0511| 190 | 170 | 220 [0017| 54 | 41.0
0.55 [ 0.75| 705 | 90L | 73.0 | 71.5 | 689 | 63.5 | 53.0 | 42.5 | 1.80 | 400 [ 0.760| 170 | 150 [ 220 | 0.025| 54 45.0
075| 1 | 700 | 100L | 750 | 747 | 70.9 | 60.5 | 51.0 [ 39.0 | 251 | 430 | 1.044| 225 | 215 | 235 (0041 55 | 540
11 | 15 | 695 [100L | 77.7 | 788 | 768 | 66.0 | 57.0 [ 440 | 3.26 | 435 | 1.540| 200 | 190 | 210 [0059| 55 | 57.0
15 | 2 | 700 [112m] 79.7 | 802 | 79.1 | 69.5 | 61.0 | 48.0 | 411 | 465 | 2.085| 165 | 140 | 205 [0090| 60 | 73.0
22 | 3 | 705 [ 1325 | 819 | 822 | 79.8 | 69.0 | 60.0 | 465 | 592 | 555 [ 3.036| 230 | 205 | 265 [0.138| 61 | 88.0

3 4 | 715 [132M| 835 | 832 | 80.1 | 63.0 | 535 | 405 | 866 | 570 | 4.083| 280 | 250 | 325 |0.180| 61 96.0
4 | 55| 720 [160M | 84.8 | 847 | 825 | 70.5 | 62.0 | 485 | 102 | 590 [5406| 190 | 170 | 250 {0343 62 [ 130
55 | 75 | 720 |160M| 86.2 | 852 | 833 | 71.5 | 63.0 | 500 | 13.6 | 605 | 7.433| 200 | 185 | 275 [0.503 62 144
75 | 10 | 720 | 160L | 87.3 | 87.3 [ 858 | 71.0 | 645 | 51.0 | 184 | 595 [ 10.14| 225 | 215 | 295 [0670| 62 | 160
11 | 15 | 720 | 180L | 88.6 | 88.6 | 88.1 | 78.0 | 73.0 | 62.0 | 24.2 | 565 [ 14.87| 170 | 150 | 210 [1.273| 66 | 227

15 | 20 | 730 | 200L | 89.6 | 88.9 | 87.5 | 78.0 | 72.0 | 60.0 | 32.6 | 600 [ 19.99| 195 | 170 | 230 |2082| 68 | 330
185 | 25 | 735 [225M| 90.1 | 90.6 | 89.6 | 72.0 | 655 | 58.0 | 433 | 535 | 24.49] 210 | 185 | 235 [2675| 68 | 355
22 | 30 | 735 |225M| 906 | 90.6 | 90.6 | 745 | 69.0 | 63.0 | 49.5 | 510 [ 29.12| 210 | 170 | 215 [3.023| 68 | 364
30 | 40 | 735 |250M| 913 | 91.3 | 913 | 745 | 68.0 | 58.0 | 67.0 | 550 [ 39.71| 210 | 170 | 245 [4.565| 69 | 499
37 50 | 735 | 2805 | 918 | 923 | 91.3 | 78.0 | 734 | 63.2 | 785 | 575 | 4898| 135 | 130 | 230 | 6.277| 71 595
45 | 60 | 735 [280M| 92.2 | 927 | 92.2 | 76.0 | 71.5 | 61.0 | 97.6 | 585 | 59.57| 140 | 130 | 220 [7.726| 71 675
55 75 | 735 | 3155 | 92,5 | 925 | 91.8 | 80.5 | 75.1 | 64.1 | 1122| 620 [ 72.85| 140 | 130 [ 220 [9.200( 76 1021
75 | 100 | 738 |315M| 93.1 | 93.1 | 925 | 79.0 | 74.8 | 63.0 | 154.9| 550 | 98.93| 160 | 150 | 225 | 10.80| 76 | 1078
90 | 125 | 738 | 315L | 934 | 934 | 928 | 795 | 755 | 65.0 | 184.2| 590 | 118.7| 170 | 160 | 240 | 2560| 76 1078
110 | 150 | 738 | 315L | 93.7 | 93.8 | 934 | 79.5 | 760 | 655 | 224.4| 650 | 145.1] 160 | 150 | 230 [2880| 76 | 1285
132 | 175 | 740 [355M | 94.0 | 93.8 | 934 | 840 | 79.0 | 69.0 | 254 | 620 | 1738) 100 | 90 | 230 [3923| 79 | 1632
160 | 215 | 735 [355M [ 943 | 942 | 93.2 | 840 | 80.0 | 70.0 | 307 | 680 [ 2121 110 | 90 | 240 |4615| 79 | 1700
185 | 250 | 745 | 355L | 94.4 | 942 | 93.2 | 82.0 | 77.0 | 69.0 | 363 | 640 [ 242.0| 180 | 90 | 200 [51.60| 79 | 1897

200 | 270 | 745 | 355L | 946 | 944 | 934 | 830 | 79.0 | 700 | 387 | 640 | 261.6] 180 | 90 | 200 [6540| 79 | 1983
220 | 300 | 745 | 355L | 94.6 | 944 | 934 | 83.0 | 79.0 | 700 | 426 | 600 | 287.8| 180 | 90 | 200 | 65.40| 79 | 2050

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4.Noise: sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
5.Data subject to change without notice.

TECO0/17

TECO
JMIZEl Outline TEBY

INERZERTE L& 1 B3 (IM1001)

Output (kW) FRAME
2P 4P 6P 8p SZE

07510551037 018 80M | 125 [ 345 161 | 175 7 | 100 | 137 | 50 | 80 326 295
11 075 0.55]| 0.25

10 —— 10 ——

1511110751037 90L | 140 180 | 202 [187.5| 169 [ 100 | 125 | 186 | 56 | 90 350 381
22 | 15| 11055

40

3 ﬂIOL}L 160 200 | 216 P& 140 | 211 | 63 | 100 | 12 | 375 12 | 419

11

SHAFT EXTENSION GG EXPORTWIRE ~ THE RANGE of

FRAVE  rG. DRIVE END OPPOSITE SIZEof CABLE outer DIAMETER

SZE NO. D Gl FGA DRIVE END GLANDBODY Of INLET CABLE

8M| 1 19 | 40 | 32 6 [155|215( M6X16 | 6204ZZC3 | 6204ZZC3

rubber
sheath cable
0L 24 | 50 | 40 20 | 27 | M8x19 | 62052zC3 | 620522C3 | o m30x2 213~022
2 8 or NPT 1"
1001 28 | 60 | 50 24 | 31 | M10x22 | 620522C3 | 620622C3

Note : 1. Tolerance of Shaft End Diameter D : j6 .
2. Tolerance of shaft center height H : +0,-0.5.

TECO0/18



TECO TECO
SMIZEE] Outline TEBY SMEZE] Outline TEBY

I RZERTE 2=t ;B3 (IM 1001) I REERTE 2375t - B3 (IM 1001 )
FIG.3 FIG.4 FIGS FIG.6
Dimensions in mm Dimensions in mm

Output (kW) FRAME Output (kW) FRAVE
2P 4P 6P 8P  SIZE

SIZE

4 22 112m
. 140
221 55| 3 | 22 [132s b 190 486
75 187.5| 169 12
216 | 57 | 263 | 273 89 [132| 16 | 436 —
— | s 5"_5 3 [132m 140 | 178 | 230 521
1 4 Lieom - 256 634
i e B S 254 | 60 |300 | 317 | 209 | 202 | * | 210 108 | 160 | 18 | 487 [ 145
185] 15 | 11 | 7.5 |160L 210 | 254 | 300 663
BEARING EXPORTWIRE  THE RANGE of T EXTENSI BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE  SiZE of CABLE outer DIAMETER DRIVE END OPPOSITE  SIZEOfCABLE  outer DIAVETER
GA & G
DRIVEEND GLANDBODY  of INLET CABLE DRIVE END GLANDBODY o INLET CABLE
M10X22 | 630622C3 | 630622C3 |  rubber
s sheath cable| (0 o) . rubber sheath
— 38 | 80| 70 | 10 | 33 | 41 | m12x28 | 6308zzC3 | 630672C3 | OFM30x2 28 14 |a25| 51.5| miexss | e311c3 | 6310C3 cable 013-028
132M or NPT 1 o] s 110 | 100 or MB62
—q or NPT 1.25"
4 rubber
oM 42 | 110|100 | 12 | 37 | 45 | M16x36 |630922C3 | 630722C3 |sheath cablel g3 g
o M362 ~ 200L 55 16 | 49 | 59 [ meoxaz | 6312c3 | 6212¢3 | ppersheatn
T60L or NPT 1251 cable
55) | (110) | (200) | 16 | 49) | (59) (6312¢3) | (6212¢3) or Mig2 019~037
Note : 1. Tolerance of shaft end diameter D: 1) F#112M:j6. 2) F#1325~160L : k6. 225M 6 | 6o [ 140 | 125 | 18 | 53 | 64 | M2OX42 | “g313c3 6213C3 WN::leﬁ
or

2. Tolerance of shaft center height H: +0,-0.5.

Note : 1. Tolerance of shaft end diameter D : 1) F#180 : k6. 2) F#200L~225M : m6.
2.Tolerance of shaft center height H: +0,-0.5.

TECO0/19 TEC0/20



JMIZEE] Outline

IMERBERTE

TECO

TEBY

22477, B3 (IM 1001)

Dimensions in mm

SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER
£D G GA
DRIVE END GLAND BODY of INLET CABLE
(60) 3 | ) 631303) | (©313¢3)
250M 65 181 55 | 69 | M2OX42 | 63153 | 6313C3 | rubbershean
S 7 0| 125 024040
280S (65) 18) | 58) | (69 (6314C3) | (6314C3) ;’N';?;é
Heov 75 20 | 675|795 6318C3 | 6316C3 -
3155 M20X40 rubber sheath
] ©5) | 140)| 125 | ) | s8) | 69) (6316¢3) | (6314C3) catle
8 |8 | 170|160 | 22 | 71 | 85 6320C3 o e 038-058
315M| or >
or NPT 2.5"

Note : 1.Tolerance of Shaft End Diameter D : m6 .
2Tolerance of shaft center height H : 1)For #250,+0,-0.5;2)For #280,315,+0,-1.

3. No. in() is for 2P.

TECO/21

9MZE Outline

IMERBERITE

TECO

TEBY

227 0 B3 (IM 1001)

FIG.9

Dimensions in mm

IAFT EXTENS.

BEARING
DRIVE END OPPOSITE

(6316C3) | (6314C3)

DRIVE END

EXPORT WIRE
SIZE of CABLE

GLAND BODY

Oof INLET CABLE

THE RANGE of

outer DIAVETER

©5) a9 | 8 | 69
3LL 8 | g 2 | 71 | &5 | MEOX0 | “e320c3 | 63163
rubber sheath
3s5m | 560 Shasasa| ow-o%
5 | @) |67.5]79.5)| (eoxao) | 6317¢3) | 6317¢3) | Nprae
95 25 | 86 | 100 | Meaxs | 6322c3 | 6322C3
3551
Note : 1.Tolerance of Shaft End Diameter D : m6 .
2Tolerance of shaft center height H : 1)For #250,+0,-0.52)For #280,315,+0,-1.
3. No. in() is for 2P.
TEC0/22



SMIZEE] Outline TE(T:Eg

INERELERTE L4753 1 B5 (IM 3001)

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
M 4 S

IAFT EXTENS BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER
DRIVE END ~ GLAND BODY Of INLET CABLE

8OM| 1 19 | 40 32 6 | 155 215 M6X16 6204ZZC3 | 6204ZZC3

rubber sheath
90L 24 | 50 40 20 27 M8X19 6205ZZC3 | 6205ZZC3 cable 013~022

100L 28 | 60 50 24 31 M10X22 6206ZZC3 | 6206ZZC3

Note : 1.Tolerance of Shaft End Diameter D : j6.
2.Tolerance of N :j6 .
3.Fr#80~132 : When installing the flange,the mounting bolt must be threaded in from the customer side.

TECO/23

JMIZEE] Outline TE(T:Eg

INERZERTE 22875, - B5 (IM 3001)

FIG.3 FIG.4

Dimensions in mm

Output (kW) FRAVE FLANGE DIMENSION
55
55| 3| 22135 486
7.5 15| 4 187.5| 169
: 16 | 265 [ 230 | 300 273 | 304
— 75— 3 [132m 521
55
11 4
11 | 7.5 — 160M 634
15 5.5 15 | 300 | 250 [ 350 [185| 5 |[317 | 327 | 209 | 202
185 15 | 11 | 7.5 | 160L 668

BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER

DRIVE END GLANDBODY ~ of INLET CABLE

112M) 28 60 | so | 8 | 24| 31| moxa2 | 6306zzC3 | 63062zC3
— rubber sheath
1325 cable
3 013-022
38| 8 | 70 | 10| 33| 41| m2x28 | 6308zzc3 | 6306zzC3 | O MBOX2 or
132M NPT 1’
160M| rubber sheath
4 |42 |10 100 [ 12| 37| a5 | muexas | e309zzc3 | e307zzc3 | Gbe 013028
160L or NPT 1.25"

Note : 1. Tolerance of shaft end diameter D : 1) F#112 M : j6. 2) F#132S~160L : k6.

2. Tolerance of N: 6.

TECO0/24



SMIZEE] Outline TE?;.;?

INERELERTE 4753 1 B5 (IM 3001)

FIG.5 FIG.6

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
6P SIZE M N P S
180M
22 — — — 15 | 300 [ 250 | 350 355 | 362 | 209 202
710
— 22 15 11 | 180L
30 18.5 18.5 5
— 30 15 | 200L | 17 | 350 | 300 | 400 400 | 410 805
37 22
256 235
— | ar | — [ues ©11)
225M | 20 | 400 | 350 | 450 448 | 427
45 45 30 22 841

BEARING EXPORTWIRE ~ THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER

DRIVE END GLANDBODY  of INLET CABLE

rubber sheath
48 14 | 425|515 M16X36 6311C3 6310C3 213~228

or NPT 1.25"

200L 55 16 49 59 6312C3 6212C3 ""bbe’;hsa"‘
cable

110)| (100) | (16) | (49) | (59) | M20X42 | (s312c3) | (6212C3) or M4gx2 219~037
18 | 53 | 64

140 | 125 6313C3 6213C3 erNpT 1.8t

225M| 6 (gg)
or NPT 2"

Note : 1. Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : mé6.
2. Tolerance of N:j6.
3. No.in( ) is for 2P.

TECO/25

JMIZEE] Outline

IMERBERTE

280M

G

(83)
58

IAFT EXTENSION

GA

M20X42

TECO

TEBY

2477, - B5 (IM 3001)

FIG.6

Dimensions in mm

BEARING
DRIVE END OPPOSITE
DRIVE END

(6313C3) | (6313C3)
6315C3 | 6313C3

(58)
67.5

(69)
79.5

M20X40

(6314C3) | (6314C3)
6318C3 | 6316C3

EXPORT WIRE
SIZE of CABLE

GLAND BODY

rubber sheath
cable
or M64X2
or NPT 2.5

THE RANGE of
outer DIAMETER

of INLET CABLE.

@24~@40

Note : 1. Tolerance of Shaft End Diameter D : m6.

2. Tolerance of N:j6.
3. No.in () is for 2P.

TECO0/26



4MEZE Outline TE%E 4MZE] Outline TE%E

IMEREERTE L% 1 B35 (IM 2001) IMEREZERTE L%E75 1 B35 (IM 2001)

FIG.3 FIG.4
FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

Dimensions in mm SiZE y L}

Output (kW) FRAME FLANGE DIMENSION 4 | 4 [22[15]112m| 15 |215[ 180|250 190 | 45 [ 235 | 236 180 | 70 [ 112
M N P S 5.5 f | 140
— 55| 3 | 221328 190
75 145 4 187.5| 169
16 | 265 | 230 [ 300 216 57 | 263|273 89 | 132
7
— | 75— 3 [132m 140 | 178 | 230
55
1 4
— 11 7.5 |— 160M i 210 | 256
15 55 15 | 300|250 350|18.5| 5 | 254 60 | 300 | 317 | 209 | 202 108 | 160
185 15 | 11| 7.5 | 160L 210 | 254 | 300

EXPORTWIRE  THE RANGE of

SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of

SIZEOfCABLE  outer DIAMETER
DRIVE END OPPOSITE SIZE of CABLE  outer DIAMETER DRIVE END OFFOSIE - o
GA

DRIVE END GLANDBODY  of INLET CABLE

DRIVE END GLAND BODY ~ of INLET CABLE

12mf 3 [ 13 | 400 456 | 28 [ 60 [ 50 [ 8 [ 24| 3

1 |Miox2| 630622C3 | 63062ZC3 | rubber
sheath
soM | 1 326 295( 19| 40| 32 | 6 [155( 21,5 [M6X16| 62042ZC3 | 620422C3 1328 12 | 488 cable of oH3-222
10— 10 rubber 16 | 436 38 | 80| 70| 10 | 33| 41 |mi2xes| 630822C3 | 630622C3 | M3ox2 or
132M 521 "
90L 350 381 24 | 50 [ 40 20 [ 27 [M8X19| 62052zC3 | 620522C3 |  sheath ©13~022 NPT
cable
2
8 or M30X2 1eom| 4 6 rubber
— orNPT 1
100L 12 [375| 12 [419] 28 [ 60 | 50 24| 31 [mioxe2| 62062zC3 | 620622C3 sheath cable
— 18 | 487 [ 14.5 | ——] 42 | 10| 100| 12 | 37 | 45 |mi6x3s| 630922C3 | 63072ZC3 | or Masx2 213-028
orNPT1.25"
160L 668

Note : 1. Tolerance of Shaft End Diameter D : j6 .
2. Tolerance of shaft center height H : +0,-0.5.
3. Tolerance of N :
4Fr#80~132 : When ms(alhng the flange,the mounting bolt must be threaded in from the customer side.

Note : 1. Tolerance of Shaft End Diameter D : 1) F#112 M : j6. 2) F#132S~160L : k6.
2. Tolerance of N :
3.Tolerance of shah cemer height H : +0,-0.5.

TECO/27 TECO0/28



5MIZE Outline TECO

INERZHERTE ZaE75R, - B35 (IM 2001)

FIG.5 FIG.6

Dimensions in mm

Output (kW) FRAVE FLANGE DIMENSION
8P SIZE M N P S
180M|
2| —|—|— 15 | 300 | 250 | 350 279 | 65 | 330 | 355 | 209 [ 202 121 | 180

— | 22| 15 [ 11 [180L

30 185 185 5
30— 15 [200L| 17 | 50 | 300 [ 400 318 | 70 | 378 | 400 305 | 365 | 133 | 200
37 22
256 | 235
— a7 | — s
225M| 20 | 400 | 350 | 450 356 | 75 | 431 | 448 286 | 311 | 375 | 140 | 225
SHAFT EXTENSION BEARI XPORTWIRE  THE RANGE of
FIG OPPOSITE SIZEOCABLE  outer DIAVETER
DRIVE END
NO. DRIVE END GLAND BODY of INLE’ \BLE
180M —
20 | 542 | 145 48 14 | 425 | 51.5\miex3s| 6311C3 | 6310C3 013-028
— 710
rubber
180L] 5 110 | 100 sheath cab
or M36x2
200L 24 | 610 805 | 5 16 | 49 | 59 |m2oxz| 6312C3 | 6212C3 [or NPT 1.25°
185 or NPT 2" 019~ 037
®11| (55) | (10| (100)| (16) | (49) | (59) (631203) | (6212C3)
225M( 6 | 26 ) 652 841 | 60 [ 140 | 125 [ 18 | 53 | 64 |"*7*?| e313c3 | 621303

Note : 1. Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : m6.
2. Tolerance of N:j6.
3. No.in () is for 2P.

TEC0/29

JMIZEE] Outline

TE

Cco

TEBY

INERZERTE ZaE75s - B35 (IM 2001)

FIG.7 FIG.8

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
SIZE M N P s
55 | 55 | a7 [ 30 [ — [250m 406 | 85 | 480 [ 498 349 | 425 [ 168
75 75 45 37 — |280S| 22 | 500 | 450 | 550 | 18.5 5 320 | 310 | 368 | 465
457 | 110 | 560 [ 542 190
9 | 90 | 55 [ 45 [ — [280m 419 | 516
110 | 110 75 55 45 | 3158 620 406 | 550
25 | 600|550 | 660 | 24 | 6 [ 508 | 115 | 615 —] 370 | 380 216
132 | 132 920 75 55 |315M 630 457 | 610
BEARING EXPORT WIRE THE RANGE of
OPPOSITE  SIZE of GABLE outer DIAMETER
DRIVE END
DRIVE END GLAND BODY of INLET CABLE
250M 250 | 30 | 740 921 | &) 18 [ G 1 O hupoxap| E19CH | EIH | pver
— sheath cable
7 24 140 | 125 @24~240
2808 260 | 35 | 780 990 | (65) (18) | (58) | (69) (6314C3) | (6314C3) °'N";_5(‘2"25W
280M 1050 75 20 | 67.5 795 6318C3 | 6316C3 | OF 8
3158 898 e M20X40) sne:«l’hb:;ble
(65) |(140)[ (125) | (18) | (58) | (69) (6316C3) | (6314C3) -
8 315 35 2 80 [ 170 | 160 22 il 85 6320C3 6316C3 or M6&2 038-058
13 (1253), or M63x1.5
315M 9 1283 or NPT 25"
Note : 1. Tolerance of Shaft End Diameter D : m6.
2. Tolerance of N :1)F#250M~280M : j6
3. Tolerance of N :2) F#3155~315M : js6.
4.No.In( )is for 2P.
5.Tolerance of shaft center height H : 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.
TECO0/30



9MZE Outline TE‘T:EE

INERZERTE 2475 : B35 (IM 2001 )

FIG.8 FIG.9

Dimensions in mm

FLANGE DIMENSION
8P M N P s

AC AD AG

SHAFT EXTENSION BEARING Xi THE RANG

OPPOSITE SIZE of CABLE outer DIAMETER
ED G DRIVE END

DRIVE " G| AND BODY  of INLET CABLE
END

(1353) (6316C3) | (6314C3)
1383 6320C3 | 6316C3
rubber
sheath cable

355M 28 | (a0 Bl orM64x2 | 038-58
— o | 3s5| 45 [1028 — O] (20) |(67.5){ (79. (6317C3) | (6317C3) | or M63x1.5
95 25 | 86 | 100 | M2axas| 63223 | 6322C3 | or NPT 25"

(1538)

3551 1568

Note : 1. Tolerance of Shaft End Diameter D : m6 .
2. No.In( )is for 2P.
3. Tolerance of N : js6.
4. Tolerance of shaft center height H: +0,-1.

TECO0/31

SMEZE Outline TE‘T:EE

INERTERTE L&A 1 V1 (IM 3011)

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAVE FLANGE DIMENSION
M N P s

SHAFT EXTENSI BEARING EXPORT WIRE THE RANGE of
DRIVEEND OPPOSITE = SIZEofCABLE  outer DIAMETER

DRIVEEND GLANDBODY  of INLET CABLE

80M 1 19 40 32 6 155 | 21.5 M6X16 6204ZZC3 | 6204ZZC3

rubber sheath
9oL 24 50 40 20 27 M8X19 6205ZZC3 | 6205ZZC3 cable @13~@22
or M30x2

— 2 8 or NPT 1"

100L 28 60 50 24 3

M10X22 6206ZZC3 | 6206ZZC3

Note : 1. Tolerance of Shaft End Diameter D : j6.
2. Tolerance of N j6.
3.Fr#80~132 : When installing the flange,the mounting bolt must be threaded in from the customer side.

TEC0/32



HMIZE Outline TECO YMIZE Outline TECO

TEBY
IMERBERTE L&A V1 (IM 3011) IMERTERTE L% 0 V1 (IM 3011)

FIG.3 FIG.4 FIG.5 FIG.6

. . . Dimensions in mm
Dimensions in mm

Output (kW) FRAVE FLANGE DIMENSION
Output (kW) FRAME FLANGE DIMENSION
P size M N P s
M N P
— |185] — 732
180M
2| —| — 15 | 300 [ 250 | 350 355 | 362 | 209 | 202
770
— | 22| 15 | 11 | 180
30 185 185 5
—— 30 —— 15 [ 200 | 17 [ 350 | 300 | 400 400 | 410 875
37 22
256 | 235
— |7 | — |85 ©71)
225M | 20 | 400 | 350 | 450 448 | 427 o1
45 | 45 | 30 | 22 9
SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
DRIVE END OPPOSITE SIZEofCABLE  outer DIAMETER
BEARING SFORTWIRE THERANGE of =0 S DRIVE END GLAND BODY f INLET CABLE
o
DRIVEEND OPPOSITE = SIZEofCABLE  outer DIAMETER e i
ED H
DRIVE END  GLAND BODY of INLET CABLE oo 48 14 | 425 515| M16X36 6311C3 6310C3 orc’:‘;‘:xz 213~028
112M 28 | 60 | 50 [ 8 | 24 | 31 [ wm1i0x22 | 63062zC3 | 63062ZC3 —— 5 —— 110 | 100 or NPT 1.25"
bber sheath
e o 200L 55 16 | 49 | 59 631203 | 6212c3 [fubber sheath
1325 3 13~022 cable
38 | 80 | 70 | 10 | 33 | 41 | mi2x2s | 6308zzC3 | 6306zzC3 | M30X2 or M20X42 or M48x2 919~037
NPT 1 sosm| 6 | 89| (110)] (100) | (16) | (49) | (59) (6312C3) | (6212C3) | or NPT 15"
oM 60 | 140 [ 125 | 18 [ 53 | 64 63133 | 6213C3 | orNPT2"
160m rubber sheath
cable or Note : 1.Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : m6.
4 | a2 | 110|100 12 | 37 | 45 | mi6xss | 630022C3 | 63072zC3 | (00O 13~028 2 Tolerance of N - 6.
160L NPT 1.25" 3. No.in () is for 2P.

Note : 1.Tolerance of Shaft End Diameter D : 1) F#112 M : j6.2) F#1325~160L : k6.
2. Tolerance of N:j6.

TECO/33 TECO0/34



HMZE Outline TECO SMIZE] Outline TECO

TEBY TEBY
INERTERTE ZHA 0 V1 (IM 3011) IMEREZERTE R%H 0 V1 (IM 3011)

FIG.6 FIG.7 FIG.7
Dimensions in mm Dimensions in mm
Output (kW) o FLANGE DIMENSION
LIS M N P s

Output (kW) o FLANGE DIMENSION

SIZE

4P 8P M N

BEARING EXPORT WIRE ~ THE RANGE of BEARING EXPORT WIRE THE RANGE of

DRIVE END OPPOSITE = SIZEofCABLE  outer DIAMETER DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER

DRIVEEND GLANDBODY  of INLET CABLE

DRIVE END GLAND BODY of INLET CABLE | I
(6316C3) | (6314C3)

(85) (18) | (58) | (69)
(53) | (64) (6313C3) | (6313C3) 3150 M20X40
250M pe 18 | g | o | Meoxaz | CHEC 031303 | rubber sheath 80 22 | 71| 85 6320C3 8316C3 | o enth
] = cable ] — cable
6 140 | 125 ©24~040
2808 (65) (18) | (58) | (69) (6314C3) | (6314C3) or M64x2 355M| 7 (1‘;8’ qgg) or M64x2 238~058
280M s 20 [675] 795 6318C3 | 6316C3 | orNPT25" | (75) (20) |(67.5)[(79.5)| (M20x40) | (6317¢3) | (6317¢3) | orMe3x15
9% 25 | 86 | 100 | M24x4s | 6322C3 6322C3 | OrNPT25"
355
3158 M20X40 rubber sheath
g
;| ©) [(140)| (125)[ (18) | (58) | (69) (6316C3) | (6314C3) w";"sixz 538-058 Note : 1.Tolerance of Shaft End Diameter D: m6.
80 | 170 | 160 [ 22 | 71 | 85 6320C3 6316C3 2. Tolerance of N :js6.
or MB3X1.5 )
3. No.In( ) is for 2P.
315M or NPT 2.5"

Note : 1.Tolerance of Shaft End Diameter D: m6.
2. Tolerance of N : 1) F#250M~280M : j6
3. Tolerance of N :2)F#3155~315M : js6.
4. No.In( )is for 2P.

TECO/35 TECO0/36



13143% Data Sheet R

FRIZELEREN ( Frame-proof motor ) GB18613-2020 GB2 ( IE4)
Model : TEB4 21%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE

ouTPUT
FRAME FULL 3/4 1/2 FULL  3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND

LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAD ROTOR  UP ?  POWER

% % % %) %) %) %FC  kgm  %FLT %FLT N

075 1 [2880 | som [ 7835 840 [ 832 [ 815 | 750 [ 65.0 | 1.67 [ 845 [0253] 345 [ 310 [ 360 [0007[ 78 [ 347

1.1 1.5 | 2880 | 80M | 852 | 86.0 | 84.7 | 815 | 765 | 655 | 241 | 900 | 0.372| 360 | 325 | 380 |0.010| 78 39.6

TECO
$5143 Data Sheet 350V 5042

PRIZEUERENH ( Frame-proof motor ) GB18613-2020 GB2 ( IE4)
Model : TEB4 4tk

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT

FULL FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0AD ROTOR UP DOWN * POWER
pm %) %) % R %) %) %FIC  kg-m %FLT SGFLT  %FLT a°
0.75| 1 [1435| 8om | 857 | 86.2 | 853 | 73.5 | 655 | 520 | 1.81 [ 755 [ 0.509| 380 | 345 [ 395 |0.017| 66 [1387

15 | 2 |2885| 9oL | 865 | 87.4 | 87.0 | 86.0 | 81.0 | 69.8 | 3.06 | 950 | 0.506| 310 | 280 | 360 [0014| 78 | 485

11 | 1.5 | 1445| 90L | 87.2 | 87.7 | 86.7 | 77.0 | 69.0 | 55.0 | 249 | 870 | 0.741| 330 | 245 [ 355 [0.021 66 473

22 3 | 2885 90L | 88.0 | 882 | 87.8 | 86.0 | 80.5 | 69.3 | 442 | 950 | 0.742| 365 | 330 [ 375 | 0016 78 50.2

15 | 2 [1445| 9oL | 882 | 88.8 | 88.1 | 80.5 | 73.0 | 61.0 | 3.21 | 885 [ 1.010| 330 | 245 | 340 {0029 66 | 530

3 4 | 2885 | 100L | 89.1 | 88.8 | 850 | 87.0 | 820 | 720 | 5.88 | 990 [ 1.012| 360 | 325 | 365 [0028| 82 | 703

2.2 3 | 1460 | 100L | 89.5 | 90.0 | 89.6 | 80.5 | 75.0 | 64.5 | 464 | 935 | 1.466| 325 | 200 | 385 | 0.076| 70 77.1

4 | 55 | 2895 [112M| 90.0 | 902 | 90.1 | 89.0 | 87.0 | 80.5 | 7.59 | 990 [ 1.344| 360 | 330 | 390 [0056| 83 | 880

3 4 | 1465 | 100L [ 90.4 | 90.2 | 89.1 | 80.5 | 73.5 | 61.0 | 6.26 | 945 [ 1.992| 330 | 310 | 350 {0089 | 70 [ 823

55 | 7.5 | 2925 [ 1325 | 90.9 | 91.3 | 90.8 | 86.0 | 81.5 | 71.5 | 107 | 990 [ 1.830| 275 | 215 | 365 [0.079| 85 1000

4 | 55 [ 1465 [112m| 91.1 | 914 | 90.6 | 815 | 71.5 | 720 | 819 | 965 [2657| 355 | 280 | 380 [0117| 72 | 966

75 | 10 | 2925 | 1325 | 91.7 [ 91.2 | 90.8 | 86.0 | 855 | 81.0 | 14.4 | 905 [2.495| 260 | 225 | 340 [0.085| 85 |103.0

55 | 7.5 [ 1465 | 1325 | 91.9 | 91.9 | 91.0 | 83.0 | 77.0 | 660 | 11.0 | 985 [3.653| 390 | 300 | 395 [0.192| 75 115

11 | 15 | 2950 | 160M | 926 | 92.6 | 916 | 89.0 | 86.0 | 795 | 203 | 950 | 3.628| 240 | 195 | 330 | 0.192| 87 154

75 | 10 | 1465 [132m | 92.6 | 92.6 | 92.4 | 83.5 | 785 | 67.5 | 147 | 925 [4.981| 350 | 255 | 350 0222 75 124

15 | 20 | 2950 | 160M | 933 | 92.9 | 929 | 89.0 | 86.0 | 79.0 | 27.4 | 980 | 4.947| 265 | 215 | 355 |0.218| 87 160

11 | 15 [ 1470 |160M | 933 | 92.7 | 927 | 840 | 80.0 | 70.0 | 21.3 | 860 | 7.281| 265 | 215 | 295 | 0.407| 77 162

18.5| 25 | 2950 | 160L | 93.7 | 934 | 929 | 88.0 | 845 | 765 | 341 | 930 | 6.102| 270 | 215 | 350 [0.250| 87 176

15 | 20 | 1470 | 160L | 93.9 [ 93.9 [ 934 | 850 | 820 | 735 | 286 | 780 [ 9.929| 235 | 190 | 260 | 0.506| 77 182

22 | 30 | 2950 | 180M | 94.0 | 93.1 | 926 | 90.0 | 87.5 | 80.0 | 39.5 [ 950 [ 7.256| 290 | 230 | 350 [0330| 88 | 254

18.5| 25 | 1480 | 180M | 94.2 | 939 | 934 | 850 | 820 | 74.0 | 351 | 840 | 12.16| 240 | 205 [ 290 |0.928 80 254

30 | 40 | 2960 | 200L | 945 | 94.5 | 94.0 | 93.0 | 925 | 91.0 | 51.9 | 780 [9.861| 155 | 135 | 265 [ 1.074| 90 | 352

22 | 30 | 1480 [ 180L | 945 | 938 | 92.8 | 85.0 | 82.0 [ 740 | 41.6 | 875 | 14.46| 265 | 220 | 305 [1.005| 80 | 281

37 | 50 | 2965 | 200L | 94.8 | 950 | 945 | 930 | 925 | 89.5 | 63.8 | 880 [ 12.14| 180 | 155 | 295 [1.187| 90 | 364

30 | 40 | 1480 | 200L | 94.9 | 94.4 | 93.9 | 850 | 81.0 | 73.0 | 56.5 | 780 [ 19.72| 220 | 185 | 275 [1.649| 83 | 379

45 | 60 | 2965 [225M| 95.0 | 949 | 94.4 | 92.0 | 915 | 885 | 782 | 745 | 14.77| 140 | 125 | 270 [1.345] 92 | 433

37 | 50 | 1480 [225M| 95.2 | 949 | 944 | 88.0 | 85.0 [ 775 | 67.1 | 795 | 2433| 210 | 185 | 265 [3.186| 84 | 428

55 | 75 | 2970 |250M | 953 | 949 | 939 | 90.0 | 885 | 840 | 974 | 890 | 1802 155 | 140 | 330 |2111| 92 576

45 | 60 | 1480 [225M| 95.4 | 94.8 | 943 | 88.0 | 85.0 | 78.0 | 81.4 | 780 | 29.58| 210 | 185 | 260 [3.760| 84 | 465

75 | 100 | 2975 | 2805 | 95.6 | 953 | 943 | 90.0 | 88.0 | 820 | 132 | 820 [ 24.57| 140 | 120 | 280 [3.600| 94 | 814

55 | 75 | 1480 |250M | 957 | 959 | 954 | 87.0 | 840 | 76.0 | 100 | 885 [36.16| 185 | 170 | 320 {5393 | 85 | 608

90 | 125 | 2975 [280M| 958 | 956 | 949 | 90.0 | 88.0 [ 82.0 | 159 | 820 [29.48| 140 [ 120 [ 280 |4.000 | 94 879

75 | 100 | 1488 | 2805 | 96.0 | 95.8 | 95.0 | 87.5 | 84.0 | 75.0 | 136 | 800 [49.12| 160 | 140 | 260 [8.000| 88 | 938

110 | 150 | 2975 | 3155 [ 96.0 | 95.7 | 94.7 | 90.0 | 88.0 | 825 | 193 | 800 | 36.03| 140 | 120 | 250 [5.200| 98 | 1474

90 | 125 | 1488 |280M | 96.1 | 958 | 95.0 | 87.5 | 84.0 | 750 | 163 | 800 |5894| 160 | 140 | 260 |9.200 | 88 1014

132 | 175 | 2975 [ 315M | 96.2 | 96.0 | 951 | 90.5 | 89.5 | 850 | 230 | 800 | 43.24| 140 | 120 | 250 |6.000| 98 1534

110 | 150 | 1488 | 3155 | 96.3 | 96.2 | 95.5 | 89.0 | 86.5 | 79.0 | 195 | 850 | 72.04]| 160 | 140 | 280 [17.600| 94 | 1514

160 | 215 | 2975 | 315L | 96.3 | 96.1 | 953 | 90.5 | 89.5 | 860 | 279 | 800 | 52.41| 140 | 120 | 250 [7.600| 98 | 1697

132 | 175 | 1488 [315M | 964 | 963 | 958 | 88.0 | 850 | 77.0 | 236 | 850 | 8645| 160 | 140 | 280 [19.600| 94 1622

200 | 270 | 2975 | 315L | 96.5 | 96.4 | 95.8 | 90.5 | 89.5 | 87.0 | 348 | 800 | 65.51| 140 [ 120 | 250 | 8400 98 1861

160 | 215 | 1488 | 315L | 96.6 | 96.4 | 95.7 | 88.0 | 85.0 | 77.0 | 286 | 760 | 104.8]| 200 | 180 | 260 [22.80| 94 | 1762

250 | 335 [ 2975 | 355M | 965 | 964 | 95.8 | 90.0 | 89.0 | 85.0 | 437 | 800 | 81.89| 130 | 115 | 230 | 13.60| 100 | 1947

200 | 270 | 1488 | 315L | 96.7 | 96.6 | 96.0 | 88.0 | 84.5 | 76.5 | 357 | 760 | 131.0| 200 | 180 | 260 | 2520 | 94 1919

315 | 420 | 2975 | 355L | 96.5 | 964 | 958 | 90.0 | 89.0 | 855 | 551 | 800 [ 103.2) 130 | 115 | 230 [ 1560 | 100 | 2264

250 | 335 | 1488 |355M | 967 | 96.6 | 96.0 | 90.0 | 885 | 835 | 436 | 780 | 163.7| 150 | 130 | 260 |3560| 95 | 2135

315 | 420 | 1488 | 355L | 96.7 | 96.6 | 96.2 | 90.0 | 885 | 84.0 | 550 | 780 | 206.3| 150 | 130 | 260 |39.60| 95 | 2423

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise : sound power level at no -load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.

TECO/37

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise :sound power level at no -load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.

TECO0/38



45143 Data Sheet 380V 50Hz

FRIRELERHA, ( Frame-proof motor ) GB18613-2020 GB2 ( IE4)
Model : TEB4 6%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT

FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND

LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAD ROTOR  UP ? POWER
NO-LOAD
) %) wrc  kgm  %FLT %FLT ¥

075| 1 | 950 | 9oL | 827 | 824 | 81.0 | 680 | 58.0 | 450 | 203 | 625 [ 0.768| 250 | 215 | 300 |0.027| 63 | 50.7

1.1 15 | 955 | 90L | 845 | 845 | 830 | 695 | 60.5| 475 | 285 | 630 | 1.121| 260 | 250 | 335 [0.037| 63 58.3

15 | 2 | 960 [ 100L | 859 | 862 | 85.2 | 70.0 | 625 | 50.0 | 3.79 | 685 | 1.520| 240 | 185 | 295 [0.065| 64 | 751

22 3 970 [112M| 874 | 87.3 | 858 | 66.0 | 585 | 460 | 579 | 705 | 2.207| 260 | 220 | 330 | 0.093 70 87.7

3 4 | 970 [ 1325 | 886 | 88.8 | 87.7 | 755 | 67.0 | 540 | 6.81 | 755 [3.009| 230 | 190 | 330 [0.154| 73 98

4 | 55| 970 [132m| 89.5 | 90.2 | 89.8 | 77.0 | 71.0 | 720 | 882 | 695 [4.012| 190 | 180 | 280 |0.206[ 73 109

55 | 7.5 | 970 [132m| 90.5 | 89.6 | 884 | 740 | 66.0 | 530 | 125 | 790 [5517| 270 | 255 | 355 [0223| 73 113

75 | 10 | 975 [160m | 91.3 | 915 | 91.0 | 77.0 | 71.0 | 585 | 162 | 780 [ 7.485| 285 | 250 | 285 [ 0503 | 73 158

11 | 15 | 970 | 160L | 923 | 92.0 | 920 | 80.0 | 745 | 635 | 226 | 800 | 11.03| 300 | 260 | 290 | 0.700| 73 189

15 | 20 | 980 | 180L | 92.9 | 93.0 | 935 | 840 | 800 | 71.0 | 29.2 | 800 [ 14.89| 275 | 230 | 290 |1.782| 77 | 296

18.5| 25 | 980 | 200L | 934 | 940 | 93.0 | 865 | 840 | 740 | 348 | 645 | 18.37| 200 | 165 | 230 [2.791 80 377

22 | 30 | 980 | 200L | 937 | 93.8 | 928 | 855 | 820 | 740 | 41.7 | 695 [ 21.84| 220 | 180 | 245 [3.023| 80 [ 412

30 | 40 | 980 |225M | 94.2 | 94.4 | 94.4 | 850 | 825 | 75.0 | 56.9 | 725 [ 29.79| 225 | 190 | 245 [4559| 80 | 448

37 | 50 | 985 |250M| 945 | 949 | 949 | 850 | 815 73.0 | 70.0 | 740 | 3655[ 175 | 165 | 275 | 6.011| 82 595

45 | 60 | 988 | 2805 | 94.8 | 948 | 94.2 | 85.0 | 82.0 | 74.0 | 84.9 | 720 | 44.38| 180 | 160 | 250 [10.80| 85 | 905

55 | 75 | 988 |280M | 95.1 | 951 | 948 | 855 | 820 | 740 | 103 | 720 | 54.25| 180 | 160 | 250 | 12.80| 85 | 1000

75 | 100 | 990 | 3155 | 954 | 954 | 945 | 855 | 825 | 745 [ 139.7| 680 | 73.82| 140 | 120 | 250 [2320| 89 | 1502

90 | 125 | 990 [315M| 956 | 955 | 94.8 | 855 | 81.5 | 73.0 | 167 [ 700 [ 88.59| 140 [ 120 [ 250 | 26.00| 89 1518

110 | 150 | 990 | 315L | 958 | 95.8 | 953 | 85.5 | 82.5 | 740 | 204 | 720 | 108.3| 140 | 120 | 240 [3040| 89 | 1619

132 | 175 | 990 | 315L | 96.0 | 96.0 | 953 | 855 | 825 | 750 | 244 | 720 | 129.9| 140 | 120 | 240 |3440| 89 1741

160 | 215 | 990 [355M | 96.2 | 96.0 | 953 | 85.0 | 81.5 | 725 | 297 | 720 | 157.5]| 140 | 120 | 250 [3640| 94 | 1907

200 | 270 | 990 |355M| 96.3 | 96.2 | 95.6 | 85.0 | 81.5 | 725 | 371 | 720 | 196.9| 140 [ 120 [ 250 [44.00| 94 2294

250 | 335 | 990 | 355L | 96.5 | 96.4 | 958 | 85.5 | 820 | 73.0 | 460 | 750 | 246.1] 160 | 140 | 250 |5320| 94 | 2372

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise : sound power level at no -load, dB(A), Tolerance + 3 dB(A)
6. Data subject to change without notice.

TEC0/39

JMEZE Outline TECT:Eg

IMERTERTE L&A 0 B3 (IM 1001)

FIG.1 FIG.2

Dimensions in mm

Output (kW)

BEARING EXPORTWIRE ~ THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE  outer DIAMETER

DRIVE END GLAND BODY  of INLET CABLE

80M 1 19 40| 32 6 165 | 21.5 M6X16 6204ZZC3 | 62042ZC3
rubber
901 24 | 50| 40 20 | 27 | wmex1o | 620522¢3 | 6205223 [SheAN CABle O g5 gy
M30x2 o
2 8 NPT 1"

100L 28 | 60| 50 24 3 M10X22 | 6206ZZC3 | 6206ZZC3

Note : 1.Tolerance of Shaft End Diameter D : j6 .
2. Tolerance of shaft center height H : +0,-0.5.

TECO0/40



. TECO . TECO
9”1:2 Outline TEB4 9"’*3 Outline TEB4

INERZERTE 275 - B3 (IM 1001) IMERZERTE e 0 B3 (IM 1001)

FIG.3 FIG.4 FIG.5 FIG.6
Dimensions in mm Dimensions in mm
Output (kW) FRAME Output (kW) FRAVE
size
2 18.5 — | 180m w [ 241] 353 733
279 65 | 330 [ 355|209 202 121| 180 | 20 | 532| 145
— 22 15 [ 1800 241|279 393 773
30 18.5
30 200 | 318 70 | 378 [ 448 s | 305| 400 [133] 200 | 24 | 622 843
37 22
— 75 |—— 132m 140 | 178 290 570 256 | 235 18.5
55 — 37 — (831)
225M | 356 | 75 | 431 | 498 286 | 311| 375 [149| 225 | 28 | 672
1
—— 11 | 75 |160m @ [210] 301 644
15 254 | 60 | 300 | 317 | 209 | 202 108 160 | 18|487| 145 SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
185 | 15 | 11 | 1600 210 | 254] 348 691 DRIVE END OPPOSITE  SIZEof GABLE  outer DIAMETER

G GA

FT EXTENSION BEARING EXPORT WIRE THE RANGE of DRIVE END GLAND BODY  of INLET CABLE

DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER 180M rubber sheath
DRIVE END ~GLANDBODY  of INLET CABLE 48 14 | 425 515 [ m16x3s | 6311C3 | 6310C3 cable 013-028
o - 180L | 5 110 [ 100 or M36x2
112M | 3 [ 28 [ 60| 50 | & |24 | 31 | mtoxe2 | 630622C3 | 630622C3 |rubber sheath or NPT 1.25
1328 Mcaub‘; o 013-022 200L 55 16 | 49 | 59 | mM20x42 | 63123 | 621203 | rubbersheath
— 38|80 | 70 | 10|33 41 M12X28 630872C3 630672C3 30% or cable
1324 NPT 1 o | 6 | 69 |(110)] (100) [ (18)] 49) | 69) | ooy | 6312€3) | (621203 | o482 ©19-037
4 ubber sheath 60 |140| 125 [ 18 | 53 | 64 6313C3 | 6213C3 °érN'f;T z?
1o 42 | 110] 100 [ 12 | 37| 45 27 727 cable 013-028
M16X36 630022C3 |  630722C3 or M36x2 ~ Note : 1.Tolerance of shaft end diameter D : 1) F#180 : k6. 2) F#200L~225M : m6.
T60L or NPT 1.25" 2. Tolerance of shaft center height H : +0,-0.5.
3.No.in () is for 2P.

Note : 1.Tolerance of shaft end diameter D : 1) F#112M:j6.  2) F#132S~160L : k6.
2. Tolerance of shaft center height H: +0,-0.5.

TECO0/41 TECO0/42



TECO
JMIZEE] Outline TEB4

IMERLERTE %75 B3 (IM1001)

FIG.7 FIG.8

Dimensions in mm

Output (kW)
4P
75 75 45 | 2808 320| 310 [368| 546 24 | 1161
457 | 85 [ 535 | 630 19| 280 | 35810
% %0 55 | 280M 419| 586 1201
(1354)
110 110 75 | 3158 406| 710 oo
508 | 115 [ 615 | 686 | 370 | 380 216| 315 |35 [958 28
(1454)
132 132 % |315M 457|810 T
SHAFT EXTENSI BEARING EXPORTWIRE  THE RANGE of
FRAME FIG DRIVEEND OPPOSITE  SIZEOfCABLE  outer DIAMETER
)
DRIVE END GLAND BODY of INLET CABLE
(60) (53)] (64) (6313c3) | (6313C3)
250M p 18 | G| Go | Meoxaz | CT2CT 3130 rubh:;;;\ealh
Mo 7 [ 140 125 ©24~040
2808 (65) (18) | (58) | (69) (6314C3) | (6314C3) or Maax2
2s0m | 75 20 |67.5|79.5 6318C3 6316C3 orNPT 2.5
3158 M20X40 rubber sheath
cable
(65)| (140)[ (125)| (18) | (58) ] (69) (6316C3) | (6314C3) -
8 |'s0| 170 | 160 | 22 | 71| 85 6320C3 6316C3 ;’M’g?;’fs 038-058
315M or NPT 2.5"

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of shaft center height H : 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.
3. No.in () is for 2P.

TEC0/43

YMIZE Outline TECO

IR RERTE %475, : B3 (IM 1001)

FIG.9

Dimensions in mm

Output (kW)

BEARING EXPORT WIRE ~ THE RANGE of
DRIVE END OPPOSITE SIZEof CABLE outer DIAMETER

SIZE . DRIVE END GLAND BODY  of INLET CABLE
(65) (18) | (58) | (69) (6316C3) | (6314C3)
315 | 8 | g 22 | 71 | 85 | M2OX40 | e3a0cs 6316C3
rubber sheath
cable or
355M q;’g) qgg) M64x2 or | ©38~@58
e (20) [(67.5)[(79.5)| (M20xa0) | (6317C3) | (6317C3) [ M63x1.5 or
9% 25 | 86 | 100 | M2axa8 | 6322C3 6322C3 NPT 25"
355L

Note : 1.Tolerance of Shaft End Diameter D : m6 .
2.Tolerance of shaft center height H: +0,-1.
3. No.in () is for 2P.

TEC0/44



. TECO " . TECO
9"”2 Outline TEB4 9"”‘5 Outline TEB4

SN R IR TE 2457530« B5 (IM 3001) INERZBRIE 473 1 B5 (IM 3001)

FIG.1 FIG.2 FIG.3 FIG.4

Dimensions in mm
Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
Output (kW) FRAME FLANGE DIMENSION
iz
4P 6P 3
4 4 22 | 112m] 15 [ 215 180 | 250 240 | 288 501
55
——o 55 3 |132s 540
90L 202 | 260 [187.5( 169 | 435 75 145 |4 1875 | 169
22 15 14 16 | 265 | 230 | 300 273|295
4
22 — 75 |——o 132m 570
3 —— 15 |100L| 16 [ 215 | 180 | 250 | 14.5| 4 | 216 | 275 503 55
11
SHAFT EXTENSI BEARING EXPORTWIRE  THE RANGE of —— 11 | 75 |160m 644
15 15| 300|250 350 | 185 [5| 317 |327| 209 |202
DRIVEEND OPPOSITE ~SIZEOICABLE  outer DIAMETER
ED 18.5 15 1" 160L 691

DRIVE END GLANDBODY ~ of INLET CABLE

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of

som| 1 | 19 | 40 | 32 | 6 |155|215| Mexie | 6204zzc3 | 620422C3 DRIVEEND ~OPPOSITE  SIZEOfCABLE outer DIAVETER
ED
rubber sheath . DRIVE END ‘GLAND BODY of INLET CABLE
0L 24 | 50 | 40 20 | 27 | wmex19 | 62052zC3 | 620522C3 w“f\z’;xz 13~022 112M 28 [ 60| 50 | 8 [ 24 | 31| mtoxe2 | 630622C3 | 630622C3 | rubber sheath
— 2 8 or NPT 1" 1328 | 3 N“‘ab'i o13~022
— 38| 80| 70 |10 33| 41| mi2xes | e30szzca | e3oezzca | or M30x2 or
100L 28 | 60 | 50 24 | 31 | miox22 | 6206zzC3 | 620622C3 132M NPT 1"
rubber sheath
Note : 1.Tolerance of Shaft End Diameter D : j6. 160M cable
2 Tolerance of N - j6. 4 |42 [110] 100 [ 12| 37 | 45 | miexse | e30szzc3 | e3o7zzcs o e 013-028
160L or NPT 1.25"

Note : 1.Tolerance of shaft end diameter D:1)F#112M:j6.  2) F#1325~160L: k6.
2. Tolerance of N:j6.

TEC0/45 TECO0/46



TECO " . TECO
9"’1:2 Outline TEB4 9"’*} Outline TEB4

MR ZERTE 23753 ¢ BS (IM 3001 ) INEREZERTE 23753« BS (IM 3001 )

FIG.5 FIG.6

Dimensions in mm Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FLANGE DIMENSION

BEARING EXPORT WIRE THE RANGE of
BEARING EXPORT WIRE THE RANGE of DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
G
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER DRIVE END  GLAND BODY of INLET CABLE
DRIVE END  GLAND BODY of INLET CABLE (53) M20X42 (6313C3) (6313C3)
—— — 58 6315C3 | 63133
180M rubber sheath rubber sheath
cable
48 14| 425 [ 515 | m1ex3s | 63113 6310C3 ©13-028 cable
©24~040
180L | 5 110 | 100 e (58) vooxao | €314C3) | (6314c3) | or Meaxa
675 | 795 6318C3 | 6316C3 | orNPT25"
200L 55 16| 49 | s9 6312C3 6212C3 "‘""e’:lhe"‘“
cable
(85) [(110)] (100) [(16)] (a9) | (59) | M20X42 | (6312¢3) | (6212C3) | of M48x2 219~037
225M 16 | oo (a0 | 125 | 18| 53 | 64 631303 6213C3 | orNPT1.8" Note : 1.Tolerance of Shaft End Diameter D : m6.
orNPT 2 2. Tolerance of N:j6.

Note : 1.Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : mé6. 3. No.in () is for 2P.
2. Tolerance of N:j6.
3. No.in ( ) is for 2.

TECO0/47 TEC0/48



TECO
SMZE] Outline TEB4

INEREZERTE Z2E75E - B35 (IM 2001)

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME. FLANGE DIMENSION

SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of

DRIVEEND OPPOSITE  SIZE of CABLE  outer DIAMETER

DRIVEEND ~ GLAND BODY  of INLET CABLE

som | 1 326 330| 19 [ 40 [ 32| 6 | 155215 |mexte| 620azzC3 | 6204z2C3
10— 10 b
0L 350 435 24 | 50 | 40 20 | 27 |m8x19| 62052zC3 | 620522C3 shealh cable 013~022
or M30x2
2 8 or NPT 1
100L 12 |a7s| 12 |503| 28 [ 60 | s0 24 | 31 |mioxez| 6206223 | 620622C3

Note : 1.Tolerance of Shaft End Diameter D : j6 .
2. Tolerance of shaft center height H : +0,-0.5.
3. Tolerance of N:j6.

TEC0/49

JMZE] Outline TE?J.Z

INERZERTE L4753 1 B35 (IM 2001)

FIG.3 FIG.4

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
M N P
4 4 22 [ 112w 15 [ 215 180] 250 190| 45 |235( 240 277 70 [ 112
55 s 140
—— ss 3 | 1328 260
75 145 4 1875 | 169
16 | 265 [ 230 | 300 216| 57 |263|273 89 | 132
4
- 75 132M 140 178 | 290
55
1
—— 11 | 75 |160m i 210 301
15 15 (300|250 350 | 18.5 | 5 |254| 60 | 300|317 | 209 | 202 108 | 160
185 | 15 11 [ 1600 210 254 | 348

SHAFT EXTENSI! BEARING EXPORT WIRE THE RANGE of

OPPOSITE  SIZE of CABLE outer DIAMETER
DRIVE END

DRIVEEND  GLAND BODY of INLET CABLE

112m | 3 | 13 [400 501| 28 | 60 [ 50 [ 8 |[24] 31 |mioxez| 630622C3 | 630622C3

T
rubber
1328 12 540 sheath cable or 213~022
— 16 | 436 —— 38 [ 80| 70 [ 10 [33| 41 |m12xes| 630822C3 | 630622C3 | m3ox2 or NPTH"
132M 570
160M | 4 644 rubber
sheath cable or
— 1 1 M16X36| 72 ~
18 [ 487 145 42 110|100 12 |37 45 63097203 | 630722C3 | ot LY 013028
160L 691 125"

Note : 1.Tolerance of Shaft End Diameter D : 1) F#112 M : j6.2) F#1325~160L : k6.
2. Tolerance of N:j6.
3. Tolerance of shaft center height H: +0,-0.5.

TECO0/50



SMEZEl Outline TECo 9MiZEl Outline TECO

SN EIERTE L%, 1 B35 (IM 2001 ) INERLERTE L5 - B35 (IM 2001)

FIG.5 FIG.6 FIG.7 FIG.8

Dimensions in mm Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAVE FLANGE DIMENSION

size

55 55 37 |250M 406 | 85 | 480|542 349 | 435 | 168

75 75 45 |280s| 22 | 500 | 450 | 550 | 185| 5 320 | 310 [ 368 | 546
457 [ 85 | 535 630 190
90 90 55 | 280M 419 | 586
110 110 75 |3158 406 | 710
25 | 600 | 550 [ 660 | 24 | 6 | 508 | 115 [ 615|686 [ 370 | 380 216
SHAFT EXTENSION RING EXPORTWIRE  THE RANGE of 132 132 %0 [315M 487 | 810
D G DRIvEEND OPFOSITE  SIZE Of CABLE - outor DIMETER SHAF BEARING EXPORTWIRE THE RANGE of
END EENDEE? | TSRS OPPOSITE  SIZE of GABLE outer DIAMETER
DRIVE END
180M 1 rubber sheath cable DRIVE END GLAND BODY of INLET CABLE
20 |532| 145 48 14 | 425 | 515 [mrexas| e311ca | eatoca or M36x2 013-028 o) | TERATR Teue | @ues | ]
©0) ) | 64 313C3) | (6313C3)
I— 773 NPT 1.25" 250M 250 | 30 [ 750 931 18 mzoxa2
T80l | 5 110 | 100 o — & L g315cs | Genecs rubber
' 2808 1161 sheath cable
=17 20 |1 140 | 125 024~840
200 24 | 622 843 | 55 16 | 49 | 59 |m20x42] 6312C3 | 6212C3 | rubber sheath cable 280 | 35 | 810 (65) (18) | (58) | (69) (6314C3) [ (6314C3) | or M64x2
75 20 | 675|795 6318C3 | 6316C3 | or NPT 25"
185 or Magx2 o19- 037 280M 1201
@31 55) [ (110)| (100)| (16) | (49) | (59) (6312C3) | (6212¢3) or NPT 1.5
NPT 2"
225M |6 26 | 672 61| 60 | 140 | 125 | 18 [ 53 | 64 |"*%*| ‘e3tacs | e213c3 o (1354) M20X40
3155 o rubber
i 65) [ (140)| (125)| (18) | (58) | (69 6316C3) | (6314cq) |sSheathcable
Note : 1.Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : m6. F—1 & | 315 35 | 958 | 28 [ (65)|(140)| (125)] (18) [ (58) | (69) ( )|« ) | or Medx2 | 238~058
N 80 [170| 160 | 22 [ 71 [ 85 6320C3 | 6316C3
2.Tolerance of N:j6. (1454) or M63x1.5
3. No.in () is for 2P. 315M 1484 or NPT 2.5"

Note : 1.Tolerance of Shaft End Diameter D : mé6.
2. Tolerance of N:1)F#250M~280M : j6
3. Tolerance of N : 2) F#3155~315M : js6.
4. No. In( ) is for 2P.
5. Tolerance of shaft center height H : 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.

TECO/51 TECO0/52



- . TEC " . TEC
9”:':5 Outline TEB°4 9I\H$ Outline ng

INERZERTE L4735, 1 B35 (IM 2001 ) IMER LR E 2 0 V1 (IM 3011)

FIG.9 FIG.1 FIG.2

Dimensions in mm

Dimensions in mm

FRAME

Output (kW) FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
A AA AB AC AD AG B BB C
size N

P s

4P

E M N

SHAFT EXTENSION BEARING THE RANGE of

SHAFT EXTENS BEARING EXPORTWIRE  THE RANGE of
= DRIVE END CrosiTE CABLE||outa DIAMETER, FRAVE FIG. DRIVE END OPPOSITE SIZEofCABLE  outer DIAMETER
Y of INLET chBLE D ED
END - - siZE  NO. DRIVE END GLANDBODY  of INLET CABLE
(1450)| (65) 8) | 58) | (69) (6316C3) | (6314C3)
s15L| 8 [ 315 35 | 958 M20X40
B A 02003 | 81 | uver goM| 1 [ 19| 40 | 32 | 6 [155]|215| M6X16 | 62042ZC3 | 62042ZC3
sheath cable
3550 28 |20 Qeor] G orMedx2 | ©38~058 rubber
(75) (20) [(67.5)|(79. (6317C3) | (6317C3) | or MB3x1.5 sheath cable ~
— o | 385 | 45 | 1025 — e 25 | as | o0 | Voaxes | 32203 | 632203 | or NPT 25+ 90L 24 | 50 | 40 20 | 27 MBX19 | 620522C3 | 62052zC3 [~ S0 213~022
355L Rad 1 2 8 or NPT 1"
100L 28 | 60 | 50 24 | 31 | M10X22 | 62062ZC3 | 62062ZC3
Note : 1.Tolerance of Shaft End Diameter D :m6 .
2.No.In( )is for 2P.

3. Tolerance of N : js

6. Note : 1.Tolerance of Shaft End Diameter D : j6.
4. Tolerance of shaft center height H : +0,-1.

2. Tolerance of N: j6.

TECO/53 TECO0/54



TECO
SMEZE Outline TEB4

SR RERTE

FIG.3 FIG.4

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
4P sl M N
4 4 22 112M | 15 [ 215| 180 | 250 240 288 541
55
——— 55 3 1328 585
75 145 |4 1875 | 169
16 | 265 | 230 | 300 273 295
4
— 75 132M 620
55
"
1" 75 |[160M 694
15 151300 | 250 [ 350 | 18.5 | 5 317 327 209 202
18.5 15 1" 160L 741

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of

DRIVEEND OPPOSITE SIZE of CABLE outer DIAMETER

A 1 V1 (IM 3011)

DRIVE END ‘GLAND BODY of INLET CABLE
112M 28| 60 [ 50 | 8 [ 24| 31| Mi0x22 | 63062ZC3 | 63062ZC3
rubber sheath
1325 | 3 cable or M30x2 013~022
38 80 | 70 [10] 33| 41| Mi2x28 | 6308zzC3 | 630622C3 or NPT 1"
132M
160M rubber sheath
4 | 42 |110| 100 | 12| 37 | 45 | M16x36 | 6300zzC3 | 63072ZC3 | cable or M36x2 213~028
Moo | or NPT 1.25"

Note : 1 Tolerance of Shaft End Diameter D : 1) F#112 M : j6.2) F#1325~160L : k6.
2. Tolerance of N:j6.

TECO/55

SMZE Outline TECO

INERZERTE LB 0 V1 (IM 3011)

FIG.5

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
2 185 — [ 18om 793
15 | 300 | 250 | 350 355|362 209 | 202
— 22 15 | 180L 833
30 18.5
30 200 | 17 | 350 | 300 [400| 185 | 5 |a48 422 913
37 22
256 | 235
37 — (891)
225M | 20 | 400 | 350 | 450 498 | 447 921
45 45 30
FT EXTENSI BEARING EXPORTWIRE  THE RANGE of
DRIVEEND OPPOSITE SIZEOfCABLE outer DIAMETER
G
DRIVE END GLAND BODY of INLET CABLE
180M rubber sheath
48 14 | 425 [ 515 | m16x3s | 6311C3 6310C3 cabe 13~028
180L or M36x2
5 110 | 100 or NPT 1.25"
2001 55 16| 49 | 59 6312C3 | 621203 ’”“be’;"ea"‘
cable
M20X42 or M4gx2 o19-037
sosm | s | 69 [(110)] (100) [ (t6)[ 49) | (9) (6312C3) | (6212C3) | or NPT 1.5
60 | 140 | 125 [ 18| 53 | 64 6313C3 | 6213C3 | orNPT2"

>

Note : 1.Tolerance of Shaft End Diameter D : 1) F#180 : k6. 2) F#200L~225M : m6.
2. Tolerance of N:j6.
3. No.in ( ) is for 2P.

TECO0/56



HMIZE Outline TECO HMIZE Outline TECO

SN R EEERTE 24750 1 V1 (IM 3011) MR EERTE %A 1 V1 (IM 3011)

Dimensions in mm Dimensions in mm
Output (kW) T FLANGE DIMENSION Output (kW) FLANGE DIMENSION
4p Si2E N P S M N P s
185 185 132 [31sL| 25 | 600 | 550 | 660 686 | 643 (o
200 200 —
220 220 160 2| 6 370 | 380
355M (20
250 250 200
30 | 740 | 680 | 800 750 | 670
280 280 220
3551 aro
315 315 250
BEARING EXPORTWIRE  THE RANGE of
SHAFT EXTENS| BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE ~SIZEOfCABLE outer DIAMETER
DRIVEEND OPPOSITE ~SIZEOfCABLE outer DIAVETER
DRIVEEND GLANDBODY  ofINLET CABLE ED ]
| S SER S S S S S S S S S | DRIVE END  GLAND BODY of INLET CABLE
(6313C3) | (6313C3)
M20X42
6315C3 | 6313C3 r“”":;:];‘“‘“ 150 (1) | 58) | ©9) | yooxao | ©316C3) | (73148)
[Zsos| 6 [ .| 40| 125 024~040 2 | 71| 8 6320C3 | 73168
©5) 8) | =8 | (69) (6314C3) | (6314C3) | or Meax2 rubber sheath
7 20 | 675| 7 1 1 or NPT 25"
2600 5 0 | 675|795 6318C3 | 6316C3 a0y 125) cable
3ssm| 7 Bl Mo or MB4x2 238~058
3158 M20X40 rubber sheath (75) (20) | (67.5)[(79.5)[ (M20X40) | (6317C3) (7317B) or M63X1.5
@ | 40| 25| 19y | 8| 60 estecs) | sm cable 95 25 | 86 | 100 | Moaxas | e322c3 | 73228 | orNPT 25"
7| s |70 | 160 | 22 | 71 | 85 03 | 73iee | O MOHE 036-058 3o6L
315M or NPT 25" -
Note : 1.Tolerance of Shaft End Diameter D: m6.
6.

2. Tolerance of N 3
Note : 1.Tolerance of Shaft End Diameter D: m6. 3. No.In( )is for 2P.
2. Tolerance of N :1)F#250M~280M : j6
3. Tolerance of N :2)F#3155~315M : js6.
3. No.In( )is for 2P.

TECO/57 TECO0/58



12143E Data Sheet S50V S0z

FRIZELERAMN ( Frame-proof motor ) GB18613-2020 GB1 (IE5)
Model : TEB5 24%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
ouTPUT Approx
FULL FRAME FULL 3/4 1/2 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL BREAK SOUND
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD: PRESSURE Weight
) © ) (A FIC  kg-m LT kg-m? Kg

)
Lo Te20 | 750 Lovo | 159 | sz0 Loasa | o asn | 320 Loooa| o9 | 205

15| 2 [2890| 9oL | 889|889 | 881 |860 | 81.0 | 705 | 298 | 950 |0.506 | 300 | 250 | 330 |0014| 69 360
22| 3 |2895| 90L [90.2| 90.9 | 90.8 865 | 820 | 725 | 428 | 950 |0741| 300 |250 | 330 |0.022| 69 | 435
3 | 4 |2905| 100L|91.1| 915 | 909 |865 | 820 | 725 | 578 | 960 |1.006 | 300 | 250 | 330 |0036| 72 560
4 | 55 | 2910 [ 112M| 91.8 [ 926 | 929 (87.0 | 835 | 765 | 7.61 | 970 |1.340 | 300 | 250 | 330 |0076| 73 80.0
55| 7.5 | 2935 | 1325 | 92.6 | 929 | 920 [87.0 | 835 | 745 | 104 | 990 |1.826 | 275 |215| 330 |0.079| 75 95.0
75| 10 | 2945 1325|933 938 | 93.7 |88.0 | 845 | 765 | 139 960 |2482 | 260 |210| 330 (0121 75 108.0
11| 15 | 2955 | 160M| 94.0 | 943 | 940 {900 | 87.0 | 79.5 | 19.8 | 930 |3.628 | 250 |200| 300 |0.283| 77 172
15 | 20 | 2960 [ 160M| 945 [ 948 | 948 |90.0 | 87.0 | 81.0 | 268 950 |4938 | 280 |225| 310 [0340 77 187
185| 25 | 2955 | 160L|94.9 | 951 | 949 |90.0 | 87.0 | 785 | 329 | 970 |6.101| 290 | 240| 320 |0396| 77 202
22 | 30 | 2970 [ 180M| 95.1 [ 954 | 952 |90.5 | 885 | 83.0 | 388 980 |7.218 | 300 | 180 | 330 |0723 77 274
30 | 40 | 2975 | 200L | 955 953 | 947 {920 | 91.0 | 87.0 | 51.9 | 950 |9.827 | 210 | 180 | 330 |1414| 79 357
37 | 50 | 2980 | 200L | 958 [ 954 | 948 |920 | 895 | 835 | 638 960 | 1210 | 230 | 160 | 330 |1.527 79 370
45 | 60 [ 2975|225M|96.0| 957 | 951 |920 | 90.0 | 855 | 77.4 | 950 |1474 | 220 | 130 | 330 |1883| 81 467

NO-LOAD
dB(A)

55 | 75 | 2975 [ 250M| 96.2 [ 96.1 | 956 |90.0 | 88.0 | 83.0 | 965 930 | 1802 | 215 |120| 330 |2639 81 538

75 | 100 | 2975 | 280 | 96.5 | 96.1 | 95.2 |90.0 | 87.0 | 79.5 | 131 850 | 2457 | 140 | 120 | 330 |4000| 82 820

90 | 125 | 2975 | 280M| 96.6 | 963 | 956 |90.5 | 880 | 81.0 | 156 820 |29.48 140 | 120 | 300 |4.400 82 890

110 | 150 | 2980 | 3155 | 96.8 [ 96.6 | 959 [90.0 | 88.0 | 825 | 192 | 900 |3597 | 140 | 120| 260 |6.000| 86 | 1300

132 | 175 | 2980 [ 315M| 969  96.8 | 96.2 |91.0 | 895 | 850 | 227 900 |43.17 140 | 120 | 260 |7.200 86 1460

160 | 215 | 2980 | 3150 97.0 [ 969 | 964 [91.5 | 90.0 | 86.0 | 274 | 900 |5232| 150 | 125| 260 |8.000| 86 | 1600

200 | 270 [ 2980 | 315L[97.2| 97.1 | 96.6 |91.5 | 90.0 | 86.0 | 342 950 | 65.40 160 | 130 | 260 |9.600 86 1750

250 | 335 | 2980 | 355M| 97.2| 97.1 | 96.8 {91.0 | 895 | 850 | 429 | 800 [81.75| 130 | 115| 230 [1520| 87 | 2000

315 | 420 [ 2980 | 355L[97.2| 97.1 | 96.8 |91.0 | 89.5 | 850 | 541 850 |103.0 150 | 130 | 250 |18.80 87 2400

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014,
2.Tolerance according to GB 755, IEC 60034-1
3. Breakdown & Locked rotor torques are show as average expected voltages
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5.Noise :sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice:

TECO/59

1F143E Data Sheet

FRIEELEREAM, ( Frame-proof motor )
Model : TEB5

EFFICIENCY POWER FACTOR CURRENT
OuTPUT
FULL FRAME FULL 3/4 1/2 FULL 3/4 2/4 FULL LOCKED
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR
pm

075| 1 | 1440 | 80M | 882|882 | 864 |71.0 | 615 | 495 | 182 | 930

TECO

380V 50Hz
GB18613-2020 GB1 (IE5)
AR

TORQUE ROTOR  NOISE
FULL LOCKED PULL BREAK SOUND

LOAD ROTOR DOWN GD? PRESSURE
NO-LOAD
dB(A)

%FLT %FLT  kg-m?

0.508 300 | 250 | 350 |0.023 57 220

11| 15 | 1455 | 80M | 895 | 89.8 | 887 |77.0 | 69.5 | 560 | 243 | 930

0737 | 300 | 250 | 350 [0031| 57 | 410

15| 2 |1455| 9oL | 90.4 | 903 | 896 |77.0 | 69.5 | 565 | 3.27 | 910

1.005| 300 |250| 350 |0.039| 57 445

22| 3 |1470| 90L 914|910 | 898 (775 | 705 | 575 | 472 | 910

1458 | 300 |250| 350 |0.074| 60 57.5

3| 4 |1470| 100L| 921|919 | 910 |775 | 71.0 | 590 | 639 | 910

1989 | 300 |250| 350 |0.089| 60 630

4 | 55 | 1470 [ 112M| 928 | 922 | 908 (785 | 71.0 | 580 | 834 | 920

2652 | 300 | 250 | 350 [0.155| 62 900

55| 7.5 | 1470 | 1325 | 934 | 931 | 923 [800 | 740 | 620 | 11.2 | 955

3646 | 300 |250| 350 |0.222| 65 1

75| 10 | 1475 1325|940 | 935 | 925 |80.0 | 730 | 615 | 152 980

4955 | 280 | 245| 350 |0.252 65 127

11| 15 | 1480 | 160M| 94.6 | 949 | 946 820 | 795 | 70.0 | 21.5 | 870

7243 | 280 |225| 285 |0.773| 67 191

15 | 20 | 1485 [ 160M| 95.1 | 95.0 | 94.2 | 820 | 77.0 | 66.0 | 29.2 890

9.843 | 300 | 265| 320 |0.928 67 21

185| 25 | 1480 | 160L| 953 | 952 | 94.8 |850 | 805 | 71.0 | 347 | 890

1218 | 300 | 265| 360 |1.451| 69 261

22 | 30 | 1480 [ 180M| 955| 955 | 95.1 |850 | 805 | 715 | 41.2 890

1449 | 325 |265| 360 |1.766| 69 289

30 | 40 | 1485 | 200L | 959 | 958 | 953 |85.0 | 81.0 | 71.5 | 559 | 860

19.69 | 280 |215| 300 |2556| 72 389

37 | 50 | 1485 200L|96.1| 959 | 953 |87.0 | 83.0 | 740 | 67.2 850

2428 | 255 | 210| 285 | 4490 73 472

45 | 60 | 1485 | 225M| 963 | 96.3 | 96.0 |87.0 | 835 | 750 | 816 | 850

2953 | 290 | 235| 320 |5214| 73 512

55 | 75 | 1485 250M| 96.5 | 963 | 958 |87.0 | 825 | 735 | 100 850

3609 270 | 180 | 320 |6.651 74 587

75 | 100 | 1488 | 280S | 96.7 | 965 | 96.0 | 865 | 820 | 720 | 136 | 750

4912/ 160 | 140 | 280 |8000| 77 880

90 | 125 | 1488 [ 280M| 969 | 96.7 | 96.2 |86.2 | 820 | 720 | 164 750

5894 [ 160 | 140 | 280 [9.200| 77 960

110 | 150 | 1490 | 3155 | 97.0 | 96.9 | 964 |87.0 | 830 | 740 | 198 | 780

7194 180 | 150 | 280 [17.600| 82 | 1460

132 | 175 | 1490 [ 315M| 97.1 | 97.0 | 96.6 |87.5 | 838 | 748 | 236 780

86.33 180 | 150 | 280 |[19.600| 82 1650

160 | 215 | 1488 | 315L|97.2| 97.1 | 96.7 |884 | 850 | 77.0 | 283 | 780

1048 | 200 |170| 280 |2520| 82 | 1820

200 | 270 | 1488 [ 315L| 97.4 | 97.3 | 97.0 |87.8 | 840 | 750 | 355 800

1310 200 | 170 | 280 |27.20| 82 1950

250 | 335 | 1490 [ 355M| 97.4 | 97.4 | 97.0 |90.5 | 89.0 | 840 | 431 780

1635| 150 | 130 | 260 |3560| 82 | 2400

315 | 420 | 1490 [ 355L| 974 | 974 | 970 | 905 | 89.0 | 83.0 | 543 780

206.0 160 | 140 | 280 |4280| 82 2650

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B,
2.Tolerance according to GB 755, IEC 60034-1
3. Breakdown & Locked rotor torques are show as average expected voltages
4.Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5.Noise :sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.

|EC 60034-2-1:2014,

TEC0/60



13143E Data Sheet S50V S0z

FRIZELERAMN ( Frame-proof motor ) GB18613-2020 GB1 (IE5)
Model : TEB5 61%

EFFICIENC POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT Approx
FULL FRAME FULL 3/4 1/2 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL BREAK SOUND

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? PRESSURE Weight
K 2 NOLOAD

4 | 55 | 970 [132M| 914 91.7 | 913 | 720| 640 | 51.0 | 924 | 890 |4019| 200 | 190| 310 0217 | 62 108

55| 7.5 | 975 | 132M| 92.2| 922| 91.4 | 730 645 | 50.5 | 124 | 890 |5.497 | 280 |245| 360 |0.280| 62 122

75| 10 | 975 [160M| 929 921 | 906 | 77.0| 695 | 56.5 | 159 830 |7.496 | 280 | 260 | 300 |1.401 62 199

11| 15 | 985 | 160L [ 93.7| 935| 928 | 775| 705 | 57.5 | 230 | 830 |10.88| 280 |270 | 300 |1.592| 62 213

15 | 20 | 985 [ 180L| 943 943 | 937 | 795| 730 | 60.0 | 304 830 | 1484 | 290 |225| 310 |2244| 66 282

185| 25 | 990 | 200L|94.6 | 947 | 93.8 | 81.0| 750 | 63.0 | 367 | 830 |1821| 300 |235| 310 |3.256| 69 362

22 | 30 | 990 | 200L| 949 948 | 941 | 83.0| 780 | 67.0 | 424 800 |21.66 | 290 |210| 310 |3489 69 374

30 | 40 | 990 | 225M| 953 | 953 | 949 | 835 | 785 | 680 | 57.3 | 800 |29.53 | 270 |225| 305 |5288| 69 458

37 | 50 | 985 [250M| 956 956 | 952 | 83.5| 785 | 67.5 | 704 800 |36.61 180 | 170 | 305 |7.454| 71 525

45 | 60 | 990 | 2805|958 | 956 | 949 | 83.2| 780 | 675 | 858 | 800 |44.29 | 180 | 150 | 300 |11.20| 74 860

55 | 75 990 | 280M| 96.0 | 958 | 95.2 | 842 | 79.5 | 70.0 | 103 800 |54.14 | 180 | 150 | 300 |13.60 74 940

75 | 100 | 992 | 3155|963 | 96.2 | 958 | 850 | 81.0 | 720 | 139.2 | 750 |73.68| 140 | 120 | 260 |24.40| 77 | 1460

90 | 125 | 992 | 315M|96.5| 96.3 | 96.0 | 850 | 81.5 | 725 | 167 750 |88.41 140 | 120 | 260 |28.80 7 1200

110 | 150 | 990 | 3150|966 | 965 | 96.0 | 850 | 80.0 | 71.0 | 204 | 780 |1083 | 160 | 145| 260 |3320| 77 | 1650

132 | 175 | 990 | 315L| 968 | 967 | 96.2 | 855| 815 | 725 | 242 800 |129.9 170 | 150 | 260 | 41.60 7 1730

160 | 215 | 992 [355M| 969 968 | 963 | 850 | 81.0 | 715 | 295 | 770 |157.2| 140 | 120 | 250 |4040| 81 1950

200 | 270 [ 992 | 355M|[97.0| 97.0 | 96.5 | 850 | 81.5 | 725 | 369 770 | 196.5 140 | 120 | 250 |47.60 81 2150

250 | 335 | 992 | 355L|97.0| 97.0 | 967 | 86.0 | 83.0 | 750 | 455 | 740 [2456| 140 | 120 | 250 |54.80| 81 2400

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-12014,
2.Tolerance according to GB 755, IEC 60034-1
3. Breakdown & Locked rotor torques are show as average expected voltages
4.Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5.Noise :sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice:

TECO0/61

JMIZEE] Outline

IMERBERITE

Cable Dimension AC
ac

||
—

Cab

TECO

TEB5

227 0 B3 (IM 1001)

le Dimension
AG

Output (kW) FRAME

2P 4P 6P 8P SIZE

FIG.2

Dimensions in mm

EXTENSION BEARING EXPORT WIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAMETER
ED DRIVE END
DRIVE END GLAND BODY of INLET CABLE
80M 0/19 | 40 |32 ] 6 |1ss]ais | moxe |eaoazzcs | eoazzcs|
/1 rubber
0L 65| 24 | 50 | a0 20 |27 | mexi9 | 62057C3 | 620572C3 [sheathcable | gy 00
100L 503 8 620622C3 | 62067zC3 | °F M30x2
28| 60 |50 2 |31 | Mo or NPT1
112m| 2 | 566 630622C3 | 6306223
Note: 1.Tolerance of Shaft End Diameter D: j6.
2.Tolerance of shaft center height H: +0,-0.5.
TEC0/62



4MZE Outline TEB5

INERZERTE ZaE75R, 0 B3 (IM 1001)

Cable Dimension

Cable Dimension
AG

FIG.7 FIG.8

Dimensions in mm

Output (kW) e
4P 6P sz
55| 3 | 22| 1325 22 | 128 | m | 140 | 290
75
” 216 | 57 | 263 | 273 | 1875 169 89 | 132 |16 | 427 12
i 3 |1zam 22 | 126 | 140 | 178 | 326
s
T 5 =] 160M =
15 55 254 | 60 | 300 355 | 200 [202 | 8| 80| % | 210 | 45| 108 | 160 |18 | 512 | 145
185] 15 | 11|75 | 160L 18 136 | 210 | 254
EXTENSION BEARING EXPORT WIRE ~ THE RANGE of
ED DRIVE END OPPOSITE SIZE of CABLE  outer DIAMETER
DRIVE END GLANDBODY  of INLET CABLE
1325 570 rubber
—— 3 38| 8 |70 [ 10| 33|41 | mi2xes 630822C3 630622C3 [sheathcable | g13-09p
or M30x2
132M| 606 o NPT
160M rubber sheath
—— 4 [773]| 42 [ 110 | 100 [ 12 | 37 | 45 | mI6X36 6309C3 6307C3 | o, TRk, 213~028
160L .
or NPT 1.25°

Note: 1. Tolerance of shaft end diameter D: k6.
2.Tolerance of shaft center height H: +0,-0.5.

TEC0/63

YMIZE] Outline TE?EBOS

INERZERTE 227 0 B3 (IM 1001)

Gable Dimension
Cable Dimension

HOLES

AB
®
3 6]
g5
u
DH

FIG5 FIG.6

Dimensions in mm

Output (kW) PE

4 6P g SIZE

22 |185 — | 180m 2 |61 m | 2a1
279 | 65 | 330 | 400 | 209 | 202 424 | 121| 180 20 | 557 [ 145
— |22 15| 11| 1800 22 | 123 | 241 | 279
30 185
=3 0 15 | 00| 318 70 | 378 | s 30 [ 145 | #m | 305 | 480 | 133 | 200 24 | 622
256 | 235 185
— |37 185
225M | 356 | 75 | 431 498 32 [ 132 | 286 | 311 | 475 | 149 | 225 28 | 672
BEAR EXPORT WIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END
DRIVE END GLAND BODY of INLET CABLE
180M rubber sheath
— 819 | 48 14 |425]515 | m16x36 6311C3 6310C3 v 013~028
180L| 5 .
180 110 | 110 OrNPT 125
200L 923 | 55 16 | 49 | 59 M20X42 6312C3 6212C3 mbbce;bslr;eam
or Mé&2 ©19~037
osml 6 [©31)](59)| 1100|100 (16) | @9) [(59) |\ oo (631203) | (6212C3) | T
961| 60 | 140 [125| 18 | 53 | 64 6313C3 6213C3 | ornera

Note: 1. Tolerance of shaft end diameter D: 1) F#180: k6.
2.Tolerance of shaft center height H: +0,-0.5.
3.No.in( ) isfor2P.

2) F#200L~225M : m6.

TECO/64



4MZE Outline TEB5

INERZERTE ZaE75R, 0 B3 (IM 1001)

Cable Dimension

Cable Dimension
AG

FIG.7 FIG.8

Dimensions in mm

Output (kW)
4P 6P 8P
s5 | 55| 37 [ 30 [250m| 406 | 85 | 480 | 542 38 | 122 | 122|509 | 168 | 250 | 30 |750
75 | 75| 45 | 37 | 2805 41 | 137 | 137 546
457 | 85 | 535 | 630 | 320 | 310 19 | 280 | 35 |810| 24
90 | 90| 55 | 45 |280M 41 | 126 | 126 | 586
110 [110] 75 | 55 | 3155 63 | 241 | 406 | 710
s08 | 115 | 615 370 | 380 216 | 315 | 35 [9s8| 28

SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of

OPPOSITE  SIZE of CABLE  outer DIAVETER
ED DRIVE END

DRIVE END GLANDBODY ~ of INLET CABLE

(60) ©3) | 64 ©313C3) | (6313C3)
0M] | 1005] 65 18 Sg [ g9 | M20X42 | ‘3iscs | e35G bber
— sheath cable
© M30x2
2805| 7| et | T | 140 1125 8 | 8 | 69 ©314C3) | (6314C3) | o NPT T 013~022
280M| 1201 20 | 675|795 6318C3 | 6316C3
M20X40
318 R bber sheath
g | 1384 (65) [ (140) | (125 (18) | (58) | (69) (6316C3) | (6314C3) [rubbershea
asa)] 80 | 170 [ 160| 22 | 71 | & 6320C3 | 6326C3 | or M3t 013-028
315M 1484 or NPT 1.25"

Note: 1. Tolerance of Shaft End Diameter D: mé.
2.Tolerance of shaft center height H: 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.
3. No.in( ) isfor 2P,

TECO/65

YMIZE] Outline TE?EBOS

INERZERTE 227 0 B3 (IM 1001)

A
Gable Dimension

FIG.9

Dimensions in mm

Output (kW)
FRAME
SIZE A AA  AB

SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of

OPPOSITE  SIZE of CABLE  outer DIAVETER
E ED F DRIVE END
DRIVE END GLANDBODY  of INLET CABLE

(1454) (65) 181 68 | 69 (6316C3) | (6314C3)
315L| 8 |1a84| 80 2 |57 | G | Meowao | G503 | Grecs [ruobersheatn

1570 or 642 .
b 9 (‘600) ) (1‘;8) (68755) @0 |67 | o5 M20X40) | 63173 | (@317C3) | orMexts 038~058
I3ss|  [620] 95 25 | 86 | 100 | M2axas | 6322C3 or
3550 1&0

Note: 1. Tolerance of Shaft End Diameter D: m6.
2. Tolerance of shaft center height H: +0,-1.
3. No.in( ) is for 2P.

TEC0/66



JMEZEE] Outline

IMERTERIE

TEBS

22375 - B5 (1M 3001)

FIG.1
Dimensions in mm
Output (kW) FLANGE DIMENSION
ap M N P
0.75 - - 0.18
80M 175 246 380
1.1 10.75 - 0.25
12 165 [ 130 200 12 35
15| 1.1 [ 075037
90L 202 260 | 1875 | 169 465
22 | 15| 1.1 055
22 0.75
3 — 15 (—— T00L 16 215 | 180 250 145 4 216 275 503
SHAFT BEARING EXPORT WIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAMETER
ED DRIVE END
DRIVE END GLANDBODY of INLET CABLE
80M 19 40 32 6 215 | 215 [ M6X16 | 6204ZZC3 620422C3 rubber
sheath cable
9oL | 1 | 24| 50 | 40 27 | 27 | mexio| e205zzc3 | 6205223 or M3 | 213022
8 or NPT1"
100L 28 60 50 31 31 M10X22| 6206ZZC3 62062ZC3
Note: 1. Tolerance of Shaft End Diameter D: j6.

2. Tolerance of N: j6.

TECO/67

9MZE Outline

IMERBERITE

Output (kW)

6P

FIG.2

FLANGE DIMENSION

N

3

S

TECO

TEB5

22475 - B5 (1M 3001)

Ac

Dab e

Dimension

FIG.3

Dimensions in mm

4 |22 | 22|15 |12m| 15 | 215 | 180 | 250 240 | 288 566
5.5
= 55| 3 | 22|13 570
75 1875 | 169
265 | 230 | 300 |[145| 4 | 273 295

- 132M| 16 606
1

160M
15 300 | 250 | 350 [185| 5 | 355 352 | 209 | 202 | 773
185 | 15 1 7.5 | 160L

HAFT EXTENS! BEARING EXPORTWIRE  THE RANGE of
OPPOSITE  SIZE of CABLE  outer DIAMETER
DRIVE END
DRIVE END GLANDBODY  of INLET CABLE
Miox22| 63062zC3 | 6306223
rubber
1325 | 2 sheath cable
| 80| 70 [ 10 | 33 | 41 |wmi2xes| e308zzc3 630622C3 orM30:2 013~022
132M or NPTT*
bber
160M .
3 | 42| 1of100 | 12 | 37 | 45 |miexs6| 6309c3 Go7c3 | Sheaheatle | 013-028
160L or NPT 125"

Note: 1. Tolerance of Shaft End Diameter D: 1) F#112M: j6.

2.Tolerance of N:

j6.

2) F#1325~160L: k6.

TEC0/68



JMEZEE] Outline

IMERTERIE

Guble Dimrasion

FIG4

TEBS

22375 - B5 (1M 3001)

FIG.5

Dimensions in mm

Output (kW) FLANGE DIMENSION
4P M N P S
22 | 185 | — — [180M
16 300 | 250 350 400 | 377 209 202 819
— 22 15 11 | 180L
30 185
— 30 15 | 200L| 17 350 | 300 400 185 5 448 | 422 923
37 22
256 235
— | 37| — |85 ©31)
225M| 20 400 | 350 450 498 | 447 961
45 45 30 | 22

BEARING EXPORT WIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAVETER
@ DRIVE END
DRIVE END GLANDBODY of INLET CABLE
180M
] 48 425 | 515 |M16x36| 6311C3 63103 |rubber sheath
110 | 1 013~028
L — o | 16 or M36x2
200 55 49 | so |m2oxaz| e312c3 6212c3 | OTNPT1.25
rubber sheath
(55)[(110)[(100)| (16) | (49) | (59) | \pooxan| (6312€3) | (6212¢3) | cable
25M| 5 or M4g2 | ©19~237
60 140 | 125 | 18 | 53 | 64 6313C3 6213¢3 | S pTis
or NPT 2"

Note: 1. Tolerance of Shaft End Diameter D: 1) F#180: k6.

2. Tolerance of N: j6.
3. No.in( ) isfor 2P.

2) F#200L~225M : m6.

4. Fr#225 : When installing the flange,the mounting bolt must be threaded in from the customer side.

TEC0/69

9MZE Outline

IMERBERITE

FIG.6

TECO

TEB5

22475 - B5 (1M 3001)

Dimensions in mm

320 310

1005

1161

1201

Output (kW) FLANGE DIMENSION
» e M N P s
55 | 55 | 37 | 30 |250m 542 | 500
75 | 75 | 45 | 37 |280s| 22 | 500 | 450 | 550 |[185| 5 | 630 | 530
90 | 90 | 55 | 45 |280M
FT EXTENSION BEARING
OPPOSITE
DRIVE END
DRIVE END
250M (60) 18 | 53) | 64 | mooxaz2| (6313C3) (6313C3)
65 58 | 69 6315C3 63133
205 6 [ |140 | 125
) 8 | 8 | 69 (6314C3) (6314C3)
75 20 | 675 | 795 |M20X40]  6318C3 6316C3
280M

EXPORT WIRE

SIZE of CABLE

GLAND BODY

rubber sheath
able
or M64x2
orNPT 25"

THE RANGE of
outer DIAVETER

Oof INLET CABLE

D24~340

Note: 1. Tolerance of Shaft End Diameter D: m6.

2. Tolerance of N: j6.
3. No.in( ) isfor2P.

TECO0/70



i . . TEC
SMHEE Outline $MiZEE Outline CO

IMERTERIE %73 B35 (1M 2001) IMERBERITE %73 B35 (1M 2001)

able Dimension
AG AD Cable Dimension Cable Dimension

AG
gl
LA
T
Ja)
T E
ozl B Eee— 9
'
o | —(
T 3 Elq|| B1 | ‘
N HOLES B
BB
T £
4
[o fen
FIG.1 FIG.2 FIG.3

Dimensions in mm Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
A AC AD AG X Y A AC AD AG
SIZE LA M N P 5 SIZE LA M N P S]
075 | - | - |08 4 22 | 1.5[112M ] 15 [215[180 250 250|250 | 250 | 250| 18 (184 342| 70
80M 125 345| 161 175 13 (109 #& [100|222 | 50 4 8118
1.1 [0.75] - [0.25 5.5
12 |1165(130(200 12 | 3.5 F—— 55| 3 |22] 1325 22 128 #& |140| 290
15 [1.1]075(037 75
] 90L 140 180 |202 (1875|169 11 | 148|100 (125|284 | 56 265230 300|14.5| 4 |216| 57 263 | 273|1875|169 89
22 |15 0.55 4
40 — |75 ? 3 [132M| 16 22 |126|140(178 326
22 0.75
3 |—4 1.5 —— 100L | 16 |215|180 (250 [14.5| 4 |160 200 |216 18 | 137 #% |140 (295 | 63
3 1.1 11 4
1| 75 — 160M 18 [180| # [210
SHAFT EXTENSION BEARING s e o 15 55 300|250 350/18.5| 5 |254| 60 300 |355|209(202 408 108
OPPOSITE  SIZE GfCABLE  outer DIAWETER 185 [15] 11 | 75 160L 18 [136]210 254
ED F DRIVE END

DRIVE END  GLANDBODY ~ of INLET CABLE SHAFT EXTENSION BEARING

XPORTWIRE  THE RANGE of

80M 80 3% 380[ 19 [ 40|32 | 6 [155| 215| Mext6 |620azzc|620azzcy| G| @ R R R
- 1 10 10 | rubber DRIVE END  GLANDBODY ~ Of INLET CABLE
LI L ) 350 465| 24 | 50 | 40 20 | 27 | Mex19 |620522C3| 620522C3| or M3z | 213792
— 8 or NPT1* 112M 12| 13| 400 56628 | 60 | 50| 8 | 24| 31 [mioxe |es06zzcs|e306zzcy |
100L 100 | 12 | 375 | 12 |503| 28 | 60 | 50 24 | 31 | Mi0x22 | 6206223 620622C3| e
1325 | 2 12 [570 oMo | 913~022
132 | 16 | 427 — 38| 80| 70 | 10 | 33| 41 |wn2xes |630872C3| 630622C3| % wprr-
Note: 1.Tolerance of Shaft End Diameter D: j6. 132M 606
2.Tolerance of shaft center height H: +0,-0.5.
3.Tolerance of N: j6 16oM sheath cable
- 'J — 3 [160 | 18 | 512 |145|773| 42 | 110]100| 12 | 37 | 45 |M16X36 | 6309C3 | 6307C3 ["<h | 513-008
160L or NPT 1.257|
Note: 1.Tolerance of Shaft End Diameter D: 1) F#112M: j6. 2) F#132S~160L : k6.
2.Tolerance of N: j6. 3. Tolerance of shaft center height H: +0,-0.5.

TECO/71 TEC0/72



MZE Outline TEBS
M REERTE 24754 - B35 (IM 2001)

Cable Dimension

cable pimension

ac

FIG4 FIG.5

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
AC AD AG X
LAM N P S
16 {300 | 250{350 279 65 | 330 [400|209|202 124|121
22| 15 | 11 180L 22 [123]241]279
30 185
12 130 [ 2115 17 {350 |300{400 185 5 [318| 70 | 378 |a4s 30 |145| s |305 |a80 | 133
37 22 2001
= 256 | 235
- — 11851 om | 20 [400]| 350|450 356| 75 | 431|408 32 (132286311 [475 | 149

XTENSION BEARING

EXPORTWIRE  THE RANGE of

OPPOSITE  SIZE of CABLE  outer DIAMETER

GA

PRIVEEND pRIVEEND cuanosooy  ofINET CABLE

rubber

180M sheath cable
180 | 20 | 557 |145|819| 48 |110|110| 14 | 425|515 | M1exa6 | 6311C3 | 631003 | ormsee | @13-028

180L 4 or NPT 125"

200L 200 24 | 622 923 55 16| 49 | 5o [ m20xa2| 631263 | 6212C3 | ruber

et el

185

was2 | @19~ 037

31| 55)|a10|110] (16)| 49| (59) (63123) | ©21203)| Jmro.

25m| 5 1225 | 28 | 672 91| 60 (140|125 | 18 | 53 | 64 | MPP42| 63133 | 6213C3 | Tynpro:

Note: 1.Tolerance of Shaft End Diameter D: 1) F#180: k6. 2) F#200L~225M : m6.

2.Tolerance of N: j6.
3. No.in( ) isfor2P.
4.Fr#225 : When installing the flange, the mounting bolt must be threaded in from the customer side.

TECO0/73

YMIZE] Outline TE?EBOS

IMERBERITE %73 B35 (1M 2001)

A Csble Dimension

FIG.6 FIG.7

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
SZE LA M N P S
55 |55 37 | 30 |250m 406| 85 | 480 542 38 | 122|349 509| 168
75 | 75| 45 | 37 | 280S | 22 |500|450(550 [18.5| 5 320(310| 41137368 546
457
90 90 | 55 [ 45 | 280M 57) 85 535 630 411126(419] 586 190
110 |110] 75 | 55 | 3155 63 | 241[406| 710
25 600550 660 | 24 508|115 | 615 [686(370 380 216
XTENSION BEARING EXPORT WIRE  THE RANGE of
OPPOSITE  SIZE of CABLE  outer DIAMETER
@ G CLEES) DRIVE END GLANDBODY o INLET CABLE
(60) (53)| (64) (63133) |(6313C3)
250M 250 | 250| 250 1005 ‘¢ 18 |G | Go | Maoxaz| 3D NI ] ber
— 145 145 125
2805 | 6 | 550 | 280 280 1161 |65) 18)|s8) | (69) (6314C3) (6314C3)| T2 |@24~040
s 20 |675|79.5 6318C3 | 6316C3
280M 1201 M20X40
3155 a2 (6316C3) [(6314C3) gt
7 1384 |(65)|(140)|(125)| (18) | (58) | (69) sheath cablg gy38.. 58
— 315 | 315|315 |185— g0 |170 | 160| 22 | 71| 85 6320C3 | 6316C3 | or Mede
315M (1454) orME3x15
1484 or NPT25°|
Note: 1 Tolerance of Shaft End Diameter D: mé6. 2)Fr#3155~315M;js6.

2.Tolerance of N: 1)Fr#250M~280M:j6.
3.Tolerance of shaft center height H: 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.
4. No.In( )is for 2P.

TECO/74



4MZE Outline TEB5

IMERTERIE L% B35 (1M 2001)

AG
CableDimension

AC

Dimensions in mm
Output (kW) FLANGE DIMENSION

M N P S]

160 |160( 110 | 90

185|185 132 [ 110 315L | 25 |600|550| 660 s08| 115 | 615|686 63 |239]508(810| 216
200 [200) — | —
220 [220 160 | 132 a6 30|30

355M 68 | 72 [ 560700
250 [250] 200 | 160

30 | 740|680 800 610[ 150 | 750 (750 254

280 [280| 220 | 185

355L 68 | 72 [630[ 770

315 [315] 250 | 200

XTENSION BEARING [ ——
OPPOSITE  SIZE ofCABLE outer DIAMETER
© G DRIVE END) DRIVE END  GLANDBODY  of INLET CABLE
315 | 7 | 315 | 35 | 958 (1454)| (65 8)| 59| (69) | M20x40 | (6316C3) | (6314C3)
1484 | 8o 2|7 8 6320C3 | 6316C3 |  rubber
sheath cable]
355M (1570) (140)((125) orM642 | @38~058
1600 | (75)| 170 | 160 | (20) |(67.5)((79.5) | (M20X40)| (6317C3) | (6317C3) | orMe3x15
8 [ 355 [ 45 | 1025 5 25 | 86 | 100 | M24X48 | 6322C3 | 6322C3 | orNPT25"
(1620)
355L Tec0

Note: 1. Tolerance of Shaft End Diameter D: m6.
2. No. In( ) is for 2P.
3.Tolerance of N: js6.
4.Tolerance of shaft center height H: +0,-1.

TECO0/75

YMIZE] Outline TE?EBOS

IMERBERITE L& V1(IM3011)

Qable Dimeneaion
AC

i —
] T 7 0

i \[ N
D
== I - 2
e || d=

— T =

®
L
FIG.1

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
SIZE N P

90L 202 260 | 187.5| 169 500

BEARING EXPORTWIRE ~ THE RANGE of
OPPOSITE  SIZE of CABLE  outer DIAVETER
DRIVE END
DRIVE END  GLANDBODY  of INLET CABLE
80M 19 |40 | 32 | 6 | 155 215 |Mexie | e204zzc3 | 6204723 rubber
oL | 1 [ 24 |50 | a0 20 | 27 | mexio | 6a0szzc3 | ea0szzc3 | sheathcable
—— 8 or M30x2 | 913~022
1000 28 | 60 | 50 24 | 31 |mioxe2| 6206723 | 6206223 | or NPT1®

Note: 1. Tolerance of Shaft End Diameter D: j6.
2.Tolerance of N: j6

TECO0/76



JMEZEE] Outline

IMERTERIE

TEBS

2R VI (IM3011)

Ceble Dimensian

FIG.2 FIG.2
Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
M N P s
4 4 22 | 15 |112M | 15 215 180 250 240 | 288 601
1> | 55 2122 |132s 605
75 3
T 1875 | 169 ——
L 3 |13m| 16 | 265 | 230 | 300 |14s5| 4 | 273 | 295 6
75 | 55
n 1" 75 4
160M
15 175 [ 55]55 300 | 250 | 350 |185| 5 355 | 352 | 209 | 202 | 813
185 15 11 7.5 | 160L
HAFT EXTENS BEARING EXPORTWIRE ~ THE RANGE of
OPPOSITE SIZE of CABLE  outer DIAMETER
ED DRIVE END
DRIVE END GLANDBODY  of INLET CABLE
112M 28 | 60 | 50 | 8 | 24 | 31 |M10X22| 63062ZC3 | 63062ZC3 rubber
1325 | 2 sheath cable
1 38 | 80| 70 [ 10 [ 33 | 41 |MI12X28| 6308ZZC3 | 6306ZZC3 or M30x2 013~022
132M or NPT1"
rubber
160M 3 sheath cable
H 4 [ 10| 100 | 12 | 37 | 45 |miex36| 6309C3 6307C3 or M36x2 013~028

or NPT 1.25"

Note: 1. Tolerance of Shaft End Diameter D: 1) F#112M: j6.
2.Tolerance of N: j6

TECO/77

2) F#132S~160L: k6.

9MZE Outline

IMERBERITE

TECO

TEB5

AR 0 V1 (IM3011)

FIG4 FIG.5
Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
SIZE N P S
22 | 185 — — | 180M
16 | 300 | 250 | 350 400 | 377 | 209 | 202 | 864
— | 22| 15| 11 | 180
30 185
—— 30 —— 15 |200L [ 17 | 350 | 300 | 400 |185| 5 | 448 | 422 %68
37 22
256 | 235
— || —|18s
225M | 20 | 400 | 350 | 450 498 | 447 ©76)
45 [45 [ 30| 22 1006
HAFT EXTENS! BEARING EXPORTWIRE ~ THE RANGE of
OPPOSITE SIZE of CABLE  outer DIAMETER
ED DRIVE END
DRIVE END  GLANDBODY  of INLET CABLE
180M rubber
sheath cable
tsoL| 4 | 4 |10 [ 10 | 14 [425 | 515 |miexss| 6311C3 6310C3 or M3ex2 | @13-028
or NPT 1.25"
bb:
2000 55 16 | 49 | 5o |meoxa2| e3tac3 621263 | sposth cable
or Max. 219~ 037
25m| 5 | 69 [10| 100 | 16) | 49) | 59 |\ooxan| (©312C3) (6212C3) | orNPT15"
60 140 125 18 53 64 6313C3 6213C3 or NPT 2!
Note: 1. Tolerance of Shaft End Diameter D: 1)F#180 M: j6. 2) F#200L~225M : mé6.

2.Tolerance of N: j6.

TECO0/78



i . . TEC
SMHEE Outline $MiZEE Outline CO

IMERTERIE Z&AR VI (IM3011) IMERTERTE L&A VI (IM3011)

xa Cible Dimeastion

FIG.6 FIG.7 FIG.8

Dimensions in mm

Dimensions in mm

Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION
M N P s 4 P
55 | ss | 37| 30 250M 542 | 500
75 | 75 | a5 | 37 2805 | 22 | 500 | 450 | s50| 185 | 5 320 | 310
630 | 530
90 | o0 | 55 45 280M 1301
110 | 110 | 75 | 55 3155 adsh
25 [ 600 | 550 | 660 | 24 | 6 | 686 | 643 | 370 | 380
132 | 132 | 90 | 75 315M
HAFTEXTENSION BEARING EXPORTWIRE ~ THE RANGE of HAFTEXTENSION BEARING EXPORT WIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAMETER OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END ED @ DRIVE END
DRIVE END GLANDBODY of INLET CABLE DRIVE END GLANDBODY  of INLET CABLE
©0) 18 | 63| @ (6313C3) (6313C3) 63 a8 | 8| 69 (6316C3) 73148)
250M 65 5g | g0 | MeOxa2 6315C3 6313C3 rubber 315L 80 2 | 71| & | MOX40 63203 73168
— — sheath cable Boa-040 — — rubber
2805| 6 | (65 | 140 |125 | (18) | 5®) | (69) (6314C3) @ucy | e 355M| 8 (140 (125) e | o5
— e 2% |68 | 705 ey 31y : 170 | 160 | @0 | @75 795) | (veoxao) | (@317c3) @3178) oS
280M — 5) 25 | 86 | 100 | M24xas 6322C3 73228 o 2
M20X40 ubber 95 orNPT 2.5
3155 &16cd (G319) | sheath cable 3550
1 7 |69 |aao|azs| a8 |8 | ©9 or Medx2 | ©38-058
315M 80 [170 |160 | 22 | 71 | 85 (6316C3) (7314C3) or M63X1.5
6320C3 7326C3 or NPT 2.5" Note: 1.Tolerance of Shaft End Diameter D: m6.

2.Tolerance of N: js6.

Note: 1.Tolerance of Shaft End Diameter D: m6. :
3. No.In( ) is for 2P.

2.Tolerance of N: 1)Fr#250M~280M:j6. 2)Fr#3155~315M:js6.3.
No. In( ) is for 2P.

TECO0/79 TEC0/80



1Z143E Data Sheet

15143 Data Sheet

380V 50Hz 380V 50Hz
FRIRELEBZN, ( Frame-proof motor ) GB18613-2020 GB3 (IE3) FRIRELERENL ( Frame-proof motor ) GB18613-2020 GB3 (IE3)
Model : TEBD 24% Model : TEBD 445
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE ] EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
SUTFET FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND OUPUT L rraMe FULL 34 1/2 FULL  3/4 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND
LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0ap ROTOR UP  DOWN RESSURE LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0AD ROTOR DOWN  GD*
® % % wrlc kgm %FT %FT %7 kom NORRAD kg pm ® W % %flc kg-m  %FLT %rT kgme NOERC
075 1 [2875 | som | 807 | 783 [ 751 [ 835 | 77.0 [ 655 | 1.69 | 780 [0.254] 280 | 275 [ 335 [0006] 69 [ 185 055 075 | 1430 | 8om | 80.8 | 81.5 [ 795 [ 750 | 65 [ 51.0 [ 138 [ 640 [0375] 300 [ 270 | 320 [0010] 57 [ 155
11| 15 [ 2870 som | 827 [ 830 [ 813 | 850 | 785 [ 665 | 238 [ 800 [0373] 300 [ 295 [ 350 [0007[ 69 [ 200 075] 1 1410 som | 825 | 818 [ 797 [ 735 | 640 [ 500 | 188 [ 640 [0518] 315 [ 290 | 335 [0013[ 57 [ 185
15 | 2 | 2850 [ 05 | 842 | 854 [ 858 | 905 | 87.0 | 780 | 299 | 800 | 0.512] 220 | 210 | 280 [0.012] 69 | 265 11| 1.5 [ 1430 | 90s | 841 | 844 [ 832 | 795 | 715 [ 575 | 250 | 720 [0748] 255 [ 205 | 200 [0019] 57 [ 265
22 | 3 [ 2860 90u | 859 | 867 | 868 | 895 | 850 | 755 | 435 | 850 [0748] 245 | 235 | 315 [0014[ 69 | 200 15 [ 2 [1435 ] oou | 853 [ 841 [ 822 [ 750 | 655 | 515 | 356 | 760 [ 1.017] 300 [ 235 [ 335 [0.023[ 57 [ 280
3 [ 4 [28ss[ 100 87.1 | 883 [ 884 [ 90.0 | 865 [ 785 | 5.81 [ 880 [ 1022 255 [ 240 [ 355 0025 73 [ 410 22 | 3 1460 ] 100l | 867 | 87.2 [ 862 | 77.5 | 705 [ 58.0 | 497 [ 805 [1469] 220 [ 185 | 285 [0044[ 61 [ 430
4 | 55 [2875 [112m] 88.1 | 890 | 889 [ 910 | 87.5 | 80.0 | 7.58 | 950 [ 1354] 270 | 250 [ 360 [0.046] 73 | 510 3 | 4 [1450 [ 100 | 877 [ 883 [ 881 [ 81.0 [ 75.0 [ 635 | 642 | 745 [2016] 190 [ 180 | 280 [0048| 61 [ 450
55| 75 [ 2930 ] 1325 | 89.2 | 89.8 | 895 | 86.0 | 840 [ 77.5 | 109 [ 800 [ 1826] 205 [ 205 [ 340 [0075[ 75 [ 705 4 | 55 [ 1445 [112m] 886 | 884 | 879 [ 820 | 765 | 655 | 837 | 715 [ 2693| 245 | 205 [ 280 0083 62 [ 540
7.5 | 10 [ 2920 1325 | 90.1 [ 909 [ 908 | 87.0 | 845 [ 77.5 | 14.5 [ 725 [2499] 195 [ 195 [ 315 [0081[ 75 [ 725 55 | 7.5 | 1455 | 1325 | 89.6 | 904 | 903 | 850 | 805 [ 70.0 | 11.0 [ 735 [ 3678 245 [ 200 | 300 [0132] 65 [ 715
11 | 15 [2935 [160m | 912 [ 920 [ 920 | 90.0 [ 89.0 [ 835 | 204 | 775 [3647] 230 | 185 [ 285 [0183| 77 [ 127 75 [ 10 | 1450 [132m ] 904 | 90.8 | 904 | 850 | 800 | 695 | 148 ] 780 [ 5033 270 | 225 [ 330 [0172] 65 | 825
15 | 20 [2935 [160M[ 91.9 [ 92.0 | 920 [ 890 [ 855 | 77.5 [ 27.9 | 865 | 4.973[ 275 | 230 | 330 [0205| 77 | 127 11 | 15 | 1460 [160m[ 91.4 | 920 | 915 [ 850 | 81.0 | 71.0 [ 21.5 | 775 [ 7:331] 230 | 185 [ 270 0366 67 | 127
185 | 25 | 2930 [ 160L [ 92.4 | 930 [ 930 [ 900 | 895 [ 840 [ 338 [ 810 [ 6.144] 245 [ 200 | 205 [0237] 77 | 137 15 | 20 | 1460 [ 160L | 921 | 925 [ 925 | 850 | 815 [ 714 | 29.1 | 810 [9.997] 250 | 195 | 285 [0a460| 67 [ 146
22 | 30 [2940 [180m[ 927 [ 927 | 925 [ 87.0 [ 85.0 | 77.0 [ 414 | 760 | 7.281[ 225 | 180 | 275 [0283| 78 | 175 185 | 25 [ 1475 [180M| 926 [ 94.0 [ 93.0 | 850 | 824 [ 750 | 357 [ 790 [1220] 215 [ 160 | 255 [0704| 70 [ 190
30 | 40 [2950 | 200L [ 933 [ 935 | 925 [ 900 [ 90.0 | 86.5 [ 543 | 775 | 9.895] 200 | 145 | 270 [0602| 79 | 258 22 | 30 [ 1475 [ 1801 | 930 [ 935 [ 930 [ 850 [ 819 [ 741 | 423 [ 785 [1451] 190 [ 145 | 245 [o789| 70 [ 201
37 | 50 [ 2955 | 2001 | 93.7 [ 945 | 940 | 910 [ 905 | 87.0 | 659 | 815 | 12.18[ 195 | 145 | 280 [0753| 79 | 293 30 | 40 | 1470 [ 200L | 936 | 945 [ 945 | 86.0 | 845 | 77.0 | 566 | 830 [1986] 250 | 205 | 280 [1.451[ 72 | 278
45 | 60 | 2960 [225M| 940 [ 94.0 [ 935 [ 91.0 | 910 | 880 | 79.9 [ 810 [ 1479] 150 | 140 | 200 [1.187] 81 [ 319 37 | 50 | 1480 | 2255 [ 93.9 | 945 | 94.0 [ 855 | 820 | 73.0 [ 700 | 760 [24.33] 210 | 175 [ 300 [1896] 73 | 333
55 | 75 [ 2970 [250m| 943 [ 945 | 940 [ 915 [ 900 | 865 | 968 | 800 | 18.02[ 150 | 130 | 315 [1544]| 81 | 437 45 | 60 | 1480 [225M| 942 [ 945 [ 940 | 850 | 800 | 704 | 854 | 735 [20958| 210 | 175 | 290 [1.979| 73 [ 339
75 | 100 | 2970 | 2805 | 94.7 | 94.6 | 93.6 [ 90.0 [ 89.8 | 87.6 | 134 | 800 | 24.61[ 155 | 135 | 300 [1.935| 83 | 543 55 | 75 | 1485 [250M | 94.6 | 946 | 94.0 [ 875 | 845 | 77.0 [ 101 | 780 | 36.04[ 210 | 185 [ 265 [3911] 74 | 452
90 | 125 | 2970 [280M| 95.0 | 950 [ 940 | 905 | 90.0 | 825 | 159 | 830 [2953] 150 | 135 | 285 [2463| 83 | 606 75 | 100 | 1480 [ 2805 | 950 [ 950 [ 945 | 850 [ 820 [ 730 | 141 | 770 [4938] 160 | 150 | 300 [5033[ 77 | 582
110 | 150 | 2070 | 3155 | 952 | 950 | 943 | 91.0 | 895 [ 856 | 193 | 834 [36.09] 230 | 200 | 280 [3.200| 86 | 799 90 | 125 | 1480 [280M | 952 | 95.2 [ 947 | 85.0 | 81.0 [ 713 | 169 | 780 [59.26] 175 | 165 | 300 [6.112| 77 | 650
132 | 175 | 2975 [315M | 954 | 951 | 944 | 91.0 | 905 [ 87.0 | 231 | 755 [4324| 150 | 130 | 280 |4800| 86 | 842 110 | 150 | 1480 | 3155 | 954 | 952 | 948 | 88.0 | 865 | 805 | 199 | 780 [7243| 210 | 180 | 270 |7.600 | 82 | 902
160 | 215 | 2975 [ 315L | 956 | 95.5 | 945 | 91.0 | 905 [ 87.0 | 279 | 764 [ 5241] 160 | 140 | 270 |5200| 86 | 921 132 | 175 | 1485 [315M | 956 | 955 | 948 | 87.5 | 85.0 [ 78.0 | 240 | 700 | 86.62| 180 | 170 | 230 [1040| 82 | 929
200 | 270 [ 2075 [ 315L | 958 | 956 | 946 | 91.0 | 905 | 880 | 349 | 735 [6551| 160 | 140 | 260 [6000| 86 | 1186 160 | 215 | 1482 | 315 | 95.8 | 956 | 948 | 880 | 860 | 81.0 | 288 | 780 | 1052| 180 | 170 | 230 |11.60| 82 | 1065
250 | 335 | 2975 | 355M | 958 | 955 | 94.6 | 905 | 89.0 | 840 | 438 | 780 | 81.89| 140 | 115 | 260 [8.800| 87 | 1385 200 | 270 | 1485 | 315L | 96.0 | 956 | 952 | 880 | 87.0 | 845 | 360 | 780 | 131.2| 180 | 170 | 230 [14.00| 82 | 1225
315 | 420 | 2075 | 355L | 95.8 | 955 | 948 | 91.0 | 89.0 [ 84.0 | 549 | 780 [ 1032 140 | 115 | 260 |1040| 87 | 1535 250 | 335 | 1485 | 355M | 96.0 | 958 | 953 [ 87.0 | 84.5 | 77.5 | 455 | 740 | 164.1| 180 | 170 | 230 [27.60| 82 | 1535
355 | 475 | 2075 | 355C | 958 | 955 | 946 | 91.0 | 905 | 855 | 619 | 840 [ 1163 120 | 120 | 260 | 16.00| 87 | 2200 315 | 420 | 1487 | 355L | 96.0 | 958 | 953 | 87.0 | 845 | 77.5 | 573 | 740 | 2064 180 | 170 | 260 [31.20| 82 | 1735
400 | 540 | 2975 | 355C | 95.8 | 955 | 94.6 | 920 | 91.0 | 87.5 | 690 | 850 | 131.0[ 120 | 120 | 260 |20.80| 87 | 2550 355 | 475 | 1485 | 355¢ | 96.0 | 958 | 953 [ 89.0 | 87.5 | 81.0 | 631 | 780 | 233.0| 200 | 180 | 280 [35.60| 82 | 2350
400 | 540 | 1487 | 355C | 960 | 958 | 953 | 895 | 88.0 | 83.0 | 707 | 780 | 2621 200 | 180 | 260 [4280| 82 | 2630

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014. NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2.Tolerance according to GB 755, IEC 60034-1. 2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages. 3.Breakdown & Locked rotor torques are show as average expected voltages.
4.Efficiency, power factor, speed and torque are the same for other voltages. 4.Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage. Current values vary inversely with voltage.
5. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A) 5. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice. 6.Data subject to change without notice.

TECO/81 TECO0/82



%143 Data Sheet

FRIRBUEBENH ( Frame-proof motor )
Model : TEBD

380V 50Hz
GB18613-2020 GB3 (IE3)
6%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT L rraMe FULL 34 1/2 FULL  3/4 1/2 FULL LOCKED FULL LOCKED PULL SOUND
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAD ROTOR  UP GD*  PRESSURE
rpm @ % % %A kgm  FLT  %FLT kg-m* NGB kg
055 075 [ 905 | 8om | 77.2 | 69.9 | 664 | 69.0 | 58.0 [ 445 | 157 [ 420 [0591] 210 [ 195 [ 225 [0015[ 54 [ 175
075] 1 [ 935 | o0s | 789 | 806 [ 794 [ 71.0 | 625 [ 490 | 203 [ 470 [0780| 205 [ 190 [ 225 [0022] 54 [ 280
11 [ 15 | 930 [ oo | 810 | 81.2 [ 805 | 720 | 635 | 500 | 287 | 490 | 1.151] 200 | 185 | 215 [0026| 54 | 310
15| 2 | 950 | 1oou | 825 | 829 [ 815 | 725 | 650 [ 520 | 381 [ 500 [ 1536] 200 [ 175 [ 225 [00s8[ 55 [ 430
22| 3 | 960 [112m] 843 | 843 [ 822 | 67.0 | 59.0 [ 470 | 592 [ 525 [2230] 175 [ 175 [ 250 [0083[ 60 [ 535
3 | 4 | 970 [1325 | 856 | 86.1 [ 851 [ 760 | 700 | 57.5 [ 7.01 | 655 [3.009] 175 | 170 | 300 [0.137] 63 | 715
4 | 55 [ 970 [132m] 868 | 872 | 863 [ 770 | 700 | 575 | 9.09 | 670 [ 4012] 180 | 175 [ 310 [0.182] 63 | 860
55| 7.5 | 970 [132m| 880 [ 88.0 [ 862 | 79.5 | 725 [ 60.0 | 11.9 [ 780 [ 5517 210 [ 205 [ 300 [0216] 63 [ 870
75 | 10 | 970 |160M | 89.1 | 900 | 890 | 79.0 | 73.0 [ 61.0 [ 162 | 715 [ 7523| 235 | 210 | 280 [0483| 63 | 132
11 | 15 [ 970 | 1601 [ 903 [ 910 | 905 [ 780 [ 720 605 [ 237 | 755 | 11.03[ 205 | 255 | 285 [o0628| 63 | 146
15 | 20 | 970 | 180L | 91.2 | 920 | 920 [ 820 | 780 | 680 | 305 | 690 | 1505] 215 | 165 | 230 [1337| 67 | 201
185 25 | 975 [ 200 | 917 | 925 [ 925 | 805 | 76.0 | 665 | 38.1 | 720 [ 1846] 220 | 185 | 240 [1.829| 69 |[ 263
22 | 30 [ 975 [ 200L [ 922 [ 93.0 | 935 [ 815 [ 77.0 | 680 [ 445 | 720 [ 21.95] 210 | 185 | 240 [2078] 69 | 283
30 | 40 | 980 [225M[ 929 [ 935 | 935 [ 835 [ 80.0 | 765 | 588 | 600 | 29.79[ 200 | 160 | 215 [3.023| 69 | 364
37 | 50 [ 980 [250m[ 933 [ 94.0 | 940 [ 850 [ 815 750 [ 709 | 730 [ 3674] 230 | 200 | 250 [4194] 71 | 432
45 | 60 | 985 2805 | 937 | 93.7 [ 930 | 815 | 775 | 675 | 895 | 690 [4452| 185 | 175 | 285 [5530| 74 | 524
55 | 75 | 985 [280M| 94.1 [ 941 | 935 [ 830 [ 80.0 | 71.0 [ 107 | 685 | 54.41[ 185 | 175 | 300 [6733| 74 | s83
75 | 100 | 985 [ 3155 | 946 | 945 [ 937 | 845 | 81.0 [ 71.0 | 143 | 700 [ 7420| 200 | 180 | 280 [9.600| 77 | 837
90 | 125 | 985 [315M| 949 | 949 | 94.2 [ 850 | 825 | 750 | 170 | 704 | 89.04| 200 | 180 | 250 [1520| 77 | 896
110 | 150 | 985 | 315L | 951 | 950 | 942 | 850 | 83.0 [ 755 | 207 | 667 [108:8| 200 | 180 | 250 | 1840| 77 [ 1030
132 | 175 | 985 | 315L | 954 | 953 | 943 | 85.0 | 825 [ 75.0 | 247 | 760 [ 130.6] 200 | 180 | 250 |2040| 77 | 1215
160 | 215 | 988 [355M | 956 | 954 | 946 | 850 | 81.0 [ 70.0 | 299 | 760 [ 157.8| 160 | 140 | 260 |3160| 81 | 1424
200 | 270 | 988 |355M | 958 | 956 | 94.8 | 850 | 81.0 | 69.0 | 373 | 760 | 197.3| 180 | 160 | 270 [39.20| 81 | 1674
250 | 335 | 988 | 355L | 958 | 956 | 94.8 | 85.0 | 80.5 | 68.0 | 466 | 760 | 246.6| 180 | 160 | 270 | 4640 81 | 2100
315 | 420 | 990 | 355C | 958 | 958 | 954 | 87.0 | 850 | 780 | 574 | 720 [310.1] 180 | 160 | 270 |5720| 81 | 2450
355 | 475 | 990 | 355C | 95.8 | 958 | 954 | 87.0 | 85.0 | 74.0 | 647 | 720 [349.4] 180 | 160 | 270 | 6480 | 81 | 2800
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

2. Tolerance according to GB 755, IEC 60034-1.
3.Breakdown & Locked rotor torques are show as average expected voltages.
4.Efficiency, power factor, speed and torque are the same for other voltages.

Current values vary inversely with voltage.

5. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.

TECO/83

15143 Data Sheet

380V 50Hz
FRIRELEREN ( Frame-proof motor ) GB18613-2020 GB3 (IE3)
Model : TEBD 8tk
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUPUT L rraMe FULL 34 1/2 FULL  3/4 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0AD ROTOR DOWN  GD*  PRESSURE
om %) G % % % % %fic kg-m  %FLT wrT kg-mt NGERr®
018 025] 705 | som | 587 | 585 | 51.0 [ 480 | 40.0 [ 320 | 097 [ 330 [0.249] 250 | 200 | 280 [0.013] 54 [ 170
025]033] 680 | som | 64.1 | 630 [ 580 [ 60.0 | 50.0 [ 390 | 099 [ 300 [0358 200 [ 170 | 200 [0014[ 54 [ 190
037] 05 | 705 | 90s | 693 | 69.0 [ 670 | 59.0 | 49.0 [ 380 | 137 [ 390 [0511] 190 [ 170 | 220 [0017[ 54 [ 210
055] 075] 705 | oo | 730 | 715 [ 689 [ 635 | 530 [ 425 | 1.80 [ 400 [0760 170 [ 150 | 220 [0025[ 54 [ 246
075| 1 | 700 [ 1o0L | 750 [ 747 [ 709 [ 60.5 | 51.0 [ 39.0 | 251 [ 430 [ 1044 225 [ 215 | 235 [o041[ 55 [ 310
11| 15 | 695 | 100L | 77.7 | 788 | 768 | 66.0 | 57.0 [ 44.0 | 3.26 | 435 [1.540] 200 [ 190 | 210 [0059[ 55 | 380
15 | 2 | 700 [112m| 797 | 802 [ 791 | 69.5 | 61.0 [ 480 | 411 [ 465 [2085| 165 [ 140 | 205 [0090[ 60 [ 500
22 | 3 [ 705 [1325] 819 | 822 [ 79.8 [ 69.0 | 600 | 465 [ 592 | 555 [ 3.036] 230 | 205 [ 265 [0.138| 61 | 620
3 | 4 [ 715 [132m] 835 | 832 [ 801 | 630 | 535 [ 405 | 866 | 570 [4083| 280 | 250 | 325 [0.180[ 61 | 680
4 | 55| 720 | 160m [ 84.8 | 847 | 825 [ 705 | 620 | 485 | 10.2 | 590 [5406| 190 [ 170 | 250 [0343[ 62 [ 106
55| 75| 720 |160M | 862 | 852 | 833 | 71.5 | 630 | 50.0 | 136 | 605 [ 7433| 200 | 185 | 275 [0503| 62 | 125
75 | 10 [ 720 [ 1600 | 87.3 | 873 [ 858 [ 710 | 645 | 51.0 | 184 | 595 | 10.14[ 225 | 215 [ 295 [0670] 62 | 144
11 | 15 | 720 [ 180L | 886 | 886 | 881 [ 780 | 73.0 | 620 [ 242 | 565 | 14.87] 170 | 150 [ 210 [1273] 66 | 187
15 | 20 | 730 |200L | 89.6 | 889 | 87.5 | 780 | 720 | 60.0 | 326 | 600 | 19.99( 195 | 170 [ 230 [2082]| 68 | 266
185 25 [ 735 [ 2255 | 901 [ 90.6 | 89.6 | 72.0 | 655 | 580 | 433 | 535 | 2449] 210 | 185 | 235 [2675| 68 [ 300
22 | 30 | 735 [225M | 906 | 90.6 [ 90.6 | 745 | 69.0 | 630 | 495 [ 510 [2912] 210 | 170 | 215 [3.023| 68 [ 340
30 | 40 | 735 [250m| 91.3 | 913 | 913 [ 745 | 68.0 | 580 | 67.0 | 550 | 39.71[ 210 | 170 | 245 [4565| 69 | 419
37 | 50 | 735 [ 2805 | 918 [ 923 [91.3 | 780 [ 734 | 632 | 785 | 575 [4898] 135 | 130 | 230 [6277| 71 | 526
45 | 60 | 735 [280M| 922 | 92.7 [ 922 | 76.0 | 715 | 610 | 97.6 | 585 [59.57| 140 | 130 | 220 [7.726 | 71 | 597
55 | 75 | 735 | 3155 | 925 | 925 | 91.8 | 805 | 751 | 641 | 112.2| 620 | 72.85| 140 | 130 | 220 [9200| 76 | 711
75 | 100 | 738 [315M| 931 | 93.1 [ 925 | 79.0 | 748 | 630 | 1549 550 [9893] 160 | 150 | 225 [1080| 76 | 850
90 | 125 | 738 | 315 | 93.4 | 934 | 928 | 795 | 755 | 650 | 1842| 590 |118.72] 170 | 160 | 240 |2560| 76 | 1026
110 | 150 | 738 | 315L | 937 | 938 | 934 | 79.5 | 76.0 | 655 | 2244| 650 [145.10| 160 | 150 | 230 | 2880 | 76 | 1056
132 | 175 | 738 [355M | 94.0 | 93.9 | 93.0 | 80.0 | 763 | 66.2 | 266.7| 650 [174.12] 135 | 120 | 240 |3400| 79 | 1455
160 | 215 | 738 [355M | 943 | 943 | 935 | 80.5 | 77.4 | 685 | 3202| 640 [211.06| 130 | 120 | 200 |4080| 79 | 1565
200 | 270 | 738 | 355L | 94.6 | 945 | 93.8 | 81.0 | 780 | 69.0 | 396.6| 650 |263.82 130 | 120 | 230 [51.60| 79 | 1675
250 | 335 | 738 | 355C | 946 | 949 | 945 | 820 | 780 | 67.0 | 489.7| 750 |320.78| 180 | 160 | 280 [7240| 79 | 2580
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)
6.Data subject to change without notice.
TECO/84



JMEZE Outline TE(T:Eg

IMERBERTE L4751 B3 (IM 1001)

Dimensions in mm

Output (kW) FRAME FIG.
SIZE  NO.
80M | 1 | 125|345 161|177| 163 [125| 675|100 46 | 46 | 137 | 535 [ 40 [50| 80 [ 10| 1235
11 | 075 | 055 | 0.25
15 | 1.1 [075) 037 [ 90s 140 | 40 [180[197| 173 | 125| 67.5 | 100| 67.5 [ 67.5 | 161 | 69.5 | 40| 56 [ 90 | 10 [ 133.5
22| 15| 11 [055] 9oL 140 | 40 [180[197| 173 | 125| 67.5 | 125| 60.5 | 605 | 171 | 74.5| 40| 56 [ 90 | 10 [ 133.5
3 | 2215|075 2
[ e 100L 160 40 [200[219| 188 | 147| 78.5 | 140| 66.5 | 665 | 181 | 72.5 | 50| 63 [ 100 | 12 [ 147
4| a4 [22] 15| 112m 190 | 45 [235[235( 200.5| 147 78.5 | 140| 655 | 655 [ 186 | 75 | 50| 70 [ 112 13 [ 159.5
SHAFT EXTENSIO! BEARING
DRIVE END
EF EG
80M 10 [ 203 |115] 40 | m20x1.5 [ 19 | 40 | 32 16 155 | 21.5 | M6 | 6204zZ | 620322
908 10 | 3445 |115] 40 | m20x1.5 [ 24| 50| 40 | 5 [ 19| 8 | 20 | 27 | m8 | 62052z | 620422
90L 10 | 3545 | 115| 40 | m20x1.5 [ 24 | 50 | 40 | 5 [ 19 | 8 | 20 | 27 [ m8 | 62052z | 62042z
100L 12 | 392 |125| 50 | M2sx1.5 [28 | 60| so | 5 [ 22 | 8 | 24 | 31 [mi0f 62062z | 620522
112M 12 [ 413 |125| 50 | M25x1.5 [ 28 | 60| 50 | 5 [ 22 | 8 | 24 | 31 [mi0| 63062z | 630522

Note : 1.Tolerance of Shaft End Diameter D : j6 .
2.Tolerance of shaft center height H : +0,-0.5,

TECO/85

SMIZEE] Outline TE%.?,

IMERBERTE %733 1 B3 (IM 1001)

Dimensions in mm

Output (kW) FRAME  FIG.

835 | 222 | 84 | 50 | 89

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
EB EF EG
125 | 50 | M25x1.5 630822
[ 132w [ 12 494125 50 mzsxis [as [0 [ 70 [ s {28 [ 10 [aa | a1 | mi2| ea0szz [ea06zz]

Note : 1. Tolerance of shaft end diameter D : k6.
2. Tolerance of shaft center high H: +0,-0.5.

TECO0/86



HMIZE Outline TECO

IMNERRERTE L% 1 B3 (IM 1001)

Dimensions in mm

Output (W) FRAME
AA AB AC AD
160M 25460 | 300|317 | 270 [ 193 915 | 210 | — | 57 | 57 | 250| 105 |89 108160 18 | 2115
15 [ — [ ~ |55 4
185( 15 [ 11 [75] 1600 254| 60 300 (317|270 | 193 [ 91.5 [ 254 [ 210 [ 97 | 97 |204| 127 | 89| 108 160 18 [ 2115
22 |185] ~ | | 18om | [279] 65 ]330]354]296 | 193] 015 | 241 | ~ | 65 | 65 292 1205 | 89| 121]180] 20 | 2375
— [ 22 ] 15 [ 11| 1800 279 65 [ 330 [ 354 | 206 | 193 [ 91.5 [ 279 | 241 [ 115 115] 330 130.5 | 89| 121 [ 180 [ 20 [ 2375

BEARING

FRAME - DRIVE END| OPPOSITE

SIZE DRIVE END

160M | 14.5 [ 606 | 193 | 60 | m32x1.5 | 42 [ 110 [ 100 36 [ 12 | 37 | 45 [m16| 63092z | 63072z

160L. 145 [ 650 | 193 | 60 | M32x15 | 42 | 110 [ 100 36 [ 12 | a7 | 45 [m16| 63092z | 630722

180M | 145 [ 671 193] 70| m32x1.5 | 48 | 110 [ 100 36 [ 14 | 425 | 515 [ M16 | (63112203 | (63102ZC3)

alala|a

180L 145 [ 709 | 193] 70 | m32x15 | 48 | 110 [ 100 36 [ 14 | 425 515 [m16| 63112z | 631022

Note : 1. Tolerance of shaft end diameter D : y42 : k6.
2.Tolerance of shaft center high H: +0,-0.5.
3. Bearing No. In( ) is for 2P.

TECO/87

TECO
9MIZEE] Outline TEBD

MR EERTE L5 0 B3 (IM1001)

Dimensions in mm

Output (kW) FRAME
SIZE

— | 37| — | 185 | 2255c 356 | 75 [ 431|449 [ 355 | 231 | 1105 | 286 [ — | 98.5 | 985 [371] 106] 143 |149[225] 28 | 285

w | = | = | = | zzwn | ® [6] 75 |40t | as0] 5o [201| 1105 |a11| 286] 110 | 10 |v6| 06| 1ess | a0 | 225 | 28| 265

— | 45 | 30 | 22 | 225mC 356 | 75 [ 431|449 [ 355 | 231 | 1105 | 311 [ 286 | 110 | 110 [396| 106| 1555 | 149 225| 28 | 285

55| — | — | — | 250mMA 406 | 85 | 480 [ 499 | 307 [ 255 | 1225 [ 349 | — [ 112.5 | 112.5 | 425 [ 119 1745 | 168 | 250 | 30 | 318.5

s [ 57 | w0 | zsowo | | [@00| o5 |aso|aso |57 | 255 | 1225 | aas| — | 1125 | 1125 | 425| 119] 17as | 168 | 250] 30 | s165

ENSION EARING

DRIVE END OPPOSITE
DRIVE END
(621222C3)

(631222C3)
2000 [185] 770 | 231| 80 | Msox.15 | 55 | 110[100| 5 |42 [ 16 | 49 | 59 | m20

631222 621222
2255C | 185| 815 | 231[ 90 [ msoxt.5 | 60 [140[125] 7.5 [ a2 | 18 | 53 | 64 | m20 | (631222C3) | (621222C3)
225MA [ 185 810 [231] 90 [ msox15 [ 55 [110{100( 5 |42 [ 16 | 49 [ 59| m20 | 631322 621322

225Mc [ 18.5( 840 [231] 90 [ msox15 [ 6o [140[125[ 75 a2 | 18 | 53 [ 64 | m20

250MA | 24 | 9195 [ 255| 105 | me3x1.5 [ 60 | 140{125[ 75| 42 | 18 | 53 [ 64 | M20 | e313C3 6313C3

250MC | 24 | 9195 [ 255|105 me3x15 [ 65 | 140{125[ 75| 42 [ 18 | 58 [ 69 | m20 6315 6313

Note : 1.Tolerance of shaft end diameter D : mé.
2. Tolerance of shaft center high H: +0, -0.5.
3. Bearing No. In( ) is for 2P.

TECO0/88



YMIZE Outline TEco

IR ZERTE 22753 B3 (IM 1001)

Dimensions in mm

Output (kW)  FRAME

SIZE

75| - | -~ | - | 280SA | 457 | 110 [ 560 | 546 | 433 [ 255 | 122.5 | 368 [ 110 | 110 | 455 | 47.5 | 119 | 190 | 280 | 35 [ 354.5
- | 75| 45| 37 | 280SB | 457 | 110 | 560 | 546 | 433 | 255 [ 122.5 | 368 | 110 | 110 [ 455 | 47.5 [ 119 | 190 | 280 | 35 | 354.5
90 [ - | ——| - | 280MA | 457 | 110 | 560 | 546 | 433 | 255 [ 122.5 [ 419 | 115 115| 505 | 48 | 119 | 190 | 280 | 35 | 354.5
-~ |90 55| 45| 280MB | 457 [ 110 [ 560 | 546 | 433 | 255 | 122.5 | 419 | 115 [ 115 | 505 | 48 | 119 | 190 | 280 | 35 | 354.5
SHAFT EXTENSION BEARING

DRIVE END OPPOSITE

EF
DRIVE END

280SA | 24 1038.5 255140 | M63X1.5 [ 65 | 140| 125 | 75| 40 [ 18 | 58 69 | M20| 6314C3 6314C3
280SB 24| 10385 | 255|140 | M63X1.5 | 75 [ 140| 125 | 7.5 [ 40 | 20 | 67.5 [ 79.5 [ M20 | 6318C3 | 6316C3
280MA | 24| 10885 | 255|140 M63X1.5 | 65 [ 140| 125 | 7.5 40 | 18 | 58 | 69 |M20| 6314C3 | 6314C3
280MB | 24 1088.5 255140 | M63X1.5 | 75 [ 140| 125 | 7.5| 40 | 20 | 67.5 | 79.5 [ M20| 6318C3 6316C3

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F:h9

TEC0/89

JMIZEE] Outline TE‘T:E?,

INERZIERTE 275, B3 (IM 1001 )

Dimensions in mm

Output (kW)

216|315 35

216|315 35
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
EB EF
DRIVE END

6316C3 | 6314C3
a1558 | 28 [ 11925 | 322 [180[ meax1s [ 8o [170] 160] 5 [ 40 [ 22 | 71 [ @5 [ m20] eseocs | eatecs |

Note : 1. Tolerance of Shaft End Diameter D : mé6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F:h9

TEC0/90



SMiZE] Outline TECO

IMER IR TE L& 1 B3 (IM1001)

Dimensions in mm
Output (kW) FRAME
P 6P SIZE

AG AS B BA BA

163 | 457 | 230 | 230 140 | 216 | 315 45 [ 420

315MB | 508 163 | 457 | 230 | 230 140 | 216 | 315 45 [ 420

SHAFT EXTENSION BEARING

DRIVE END OPPOSITE
EF EG
DRIVE END

M63X1.5
[ s1sws 28] 1276] 322 [1s0] weaxis | s0

6316C3 6314C3
[170] 160 s [ 40 [ 22| 71] 85 [ mao] e3z0cs | eatecs |

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F:h9

TECO0/91

SMIZE Outline TE%%

INERZERTE L& 1 B3 (IM1001)

Dimensions in mm

Output (kW) FRAME
SIZE

A AD AG AS B BA BA

163 | 508 [ 230 | 230

163 [ 508 | 230 | 230

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
E EB EF EG F G

DRIVE END

315LA 6316C3 | 6314C3

N

315LB 8 | 1376| 322 |1ao| M53x|.5| 80 |170| 1EU| 5 | 40 | 22 | 7 | 85 |M20| 6320C3 | 6316C3 |

Note : 1.Tolerance of Shaft End Diameter D : mé6
2.Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F:h9

TEC0/92



TECO
SMIZE Outline TEBD

INERTERTE L& 1 B5 (IM1001)

in
iE —

Dimensions in mm

Output (kW)

2P

SHAFT EXTENSION BEARING

DRIVEEND OPPOSITE|
EB EF EG F G
DRIVE END

6318C3 | 6318C3
| “3ssme [ 4so[ 28] 1717 [a72] 200 wraxa | o5 [170[160] 5 [ 48] 25 [ 86 | 100 [maa] es2acs | eazecs |

Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

TEC0/93

9MZE Outline TE%%

INERZERTE L% 1 B5 (IM 1001)

Dimensions in mm

Output (kW) FRAME
A AA AB AC

2P 4P SIZE

610 | 150 | 750 | 682
610 | 150 | 750 | 682

SHAFT EXTENSION BEARING

OPPOSITE
EB EF EG F G DB DRIVE END
[

z 6318C3 | 6318C3
[ asste [4s0] 28 | 1717 [ 72 280 wmr2x2 [ 95 [170] 160 s [4s[ 25 | 86 | 100 [ m24] es22c3 | 632203 |

Note : 1.Tolerance of Shaft End Diameter D : mé6
2. Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F:h9

TEC0/94



TECO . . TECO
SMEZE Outline TEBD 4MZE Outline TEBD

INERZERTE Z%75 1 B3 (IM1001) IMERBERTE L% 0 B5 (IM 3001)

FE

o Dimensions in mm

Output (kW) FRAME FIG. FLANGE DIMENSION

Dimensions in mm soM | 1 [12]40[165]|130|200( 12 | 35| 177 [163| 125 675 |40 1235 1035 | 203
1.1 0.75 | 0.55 | 0.25
Output (kW)  FRAME
15 | 11 [o7s]oa7| eos 12|50 165] 130 200[ 12 [ 35 [ 197 [173[125] 67.5 [ 40| 1335 [ 1255 [ 3445
2P 4P 6P 8P 2
SR S I S Y A N [N N Y A AN I N N S N S S S 22 [ 15| 11 [os5] 9oL 12|50 165[ 130 200[ 12 | 35 [ 197 [173[125] 67.5 [ 40| 1335 | 1305 | 3545
180 | 254 | 355 | 45 BEARING
180 | 254 355 45 FRAME DRIVEEND OPPOSITE
DB
SIZE DRIVE END
BEARING — I N I I I I |
80M 15 40 [ M20X1.5| 19 |40 32| 4 16 6 155 | 21.5 | M6 | 62042Z 620322
908 115 | 40 | m2ox15| 24 [s0] 40| 5 [ 19| 8 | 20 | 27 [ms| 62052z | 62042z
S S S [ SN S S S S —— — S 90L 115 | 40 | m2ox15| 24 |50 40| 5 [ 19| 8 | 20 | 27 |m8| 62052z | 62042z

6318C3 | 6318C3
[[sssce [ 28 [ 1705 a72 [280] wraxe |5 [170]160[ 5 | 48 | 25 | e6 [ 100 | maa | es2zcs [ eszecs |

Note : 1.Tolerance of shaft end diameter D : j6.
2. Tolerance of N :j6.

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F:h9

TEC0/95 TEC0/96



HMiZE Outline TECO

SN R TE 2457550« B5 (IM 3001)

Dimensions in mm

Output (kW) FRAME b FLANGE DIMENSION

SIZE LE M N

100L | 3 | 16| 60|215| 180|250 | 14.5 [4|219| 188 (147785 |50 | 147 [1355(392 12550

4 | 4|22 15| 12m | 4 | 15]60|215| 180|250 | 14.5 | 4 | 235 | 200.5 | 147 | 78.5 [ 50 | 159.5| 145 | 413 | 125 | 50

1328 16 | 80 [ 265|230 | 300 | 14.5 [ 4| 273 | 218 [ 147 78.5| 50| 177 | 154 | 456 | 125| 50

132M 16 | 80 [ 265|230 | 300 | 14.5 [ 4| 273 | 218 [ 147 78.5| 50| 177 | 173 | 494 | 125| 50

BEARING

veews  OPPOSITE

EF
DRIVE END

5122| 8 | 24| 31 | M10 | 6206ZZ| 62052Z
112M M25x1.5 | 28|60 50 | 5 [ 22| 8 | 24 | 31 | M10 |6306ZZ| 63052Z
5
5

100L M25X1.5 [28|60| 50

1328 M25X1.5 [38|80| 70 28| 10 | 33 | 41 | M12 | 6308ZZ| 63062Z

132M M25X1.5 | 38|80 70 28| 10 | 33 | 41 [ m12 |6308zZ| 630622

Note : 1. Tolerance of shaft end diameter D : 28 :j6, 38:k6 .
2. Tolerance of N : j6.

TEC0/97

5MIZE Outline TECO

INERZHERTE 227, 0 B5 (IM 3001 )

Dimensions in mm

FRAME

i | 11| 7s | s | reom [ [rs]riofs0o] 250 | sso | w85 5317 [zro] 1sa] o15 [ e9 [ 2115] 213 [eve[193]e0
185]| 15 " 75 160L 15| 110 300| 250 | 350 | 18.5 [ 5| 317|270 193 | 91.5 89 | 2115 235 | 650 | 193 | 60
22 [185] — | — [ 180m 15[ 110] 300] 250 | 350 [ 185 5[ 354|296 193] 915 | 89 | 287.5 | 241.5 [ 671 193] 70
— [ 22| 15| 11| 1eor | 6 [15]110]300] 250 | 350 | 185 5[ 354|296 193] 1.5 | &9 | 2375 | 2605 | 700] 193] 70
P[22 15] 2000 17 [ 110] 350] 300 [ 400 [ 185 5[ 308 329] 231] 1105 [ 108 | 259 | 2015 [770]231] 80

FRAME DRVEEND
EF
SIZE
160M M32x15 42| 110|100 | 5 [ 36 [ 12 [ 37 | 45 | m16 [6300zz| 630722
5
5
5

160L M32x15 [42]110] 100
180M M32x15 [ 48] 110] 100
180L M32x15 [ 48] 110| 100

36 | 12| 37 | 45 [ M16 |6300zZ| 630722

36 | 14 | 425 | 51.5 [ M16 | @nzzcs | (631022C3)

36 | 14 | 425 | 515 [ M16 | 63112Z| 631022

azzcs | (62122263)
200 | msox15 |55[110[100| 5 42 [ 16 | 49 [ 59 | m20

631227 621222

Note : 1. Tolerance of shaft end diameter D:a) .42 ~(p48 : k6 ; b) .y55 : m6.
2. Tolerance of N:j6
3. Bearing No.In( ) is for 2P.

TEC0/98



HMIZE Outline TECO HMIZE Outline TECO

INER IR TE L&, 1 B5 (IM 3001) IMERTERTE L% 1 B5 (IM 3001)

L -
X Ll 2—us

%
N 3
&'
=
Dimensions in mm 3
Output (kW) FRAME 2]
2P 4p SIZE
— [ 185 2255¢ 20 [ 140 [ 400|350 50| 185 | 5 449 [ 355]231] 1105 |[106] 285 292 Dimensions in mm
45| —| — - 225MA 7 20 | 110 (400|350 | 450 [ 18.5 | 5 | 449|355 231 1105 106 | 285 304.5 810 Output (kW) FLANGE DIMENSION
—[as[ 0] 22 | 225mc 20 [140[ 400[ 350 50| 185 [ 5 449 355|231 1105 [106] 285 [ s0as | sa0
85( | = | - | 250MA N 22 | 140 | 500 | 450 | 550 | 185 | 5 | 499 | 397|255 1225 [119]3185| 3425 9195 75 | — 280A | 22 | 140 | 500 | 450 | 550 | 185 5 | 546 | 433 | 255 [122.5| 119 [354.5[237.5] 10385
—[55] 37 [ a0 | 2s0mc 22 | 140[ 500 [ 450 550 [ 185 | 5 [ 400 [307[255] 1225 |[119 3185 | 2425 |ot95 75 | 45 | 37 | 28058 | 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 546 | 433 | 255 |122.5] 119 |354.5]237.5| 10385
BEARING 9 | — [ — ] — | 280ma | 22 [ 140 | 500 | 450 | 550 [ 18.5| 5 [ 546 | 433 | 255 [122.5] 119 [354.5] 238 | 10885
s BIRUEERR] @FHes = — |90 |55 a5 | 280mB | 22 | 140 | 500 [ 450 | 550 [ 18.5| 5 [ 546 | 433 | 255 [122.5] 119 [354.5[ 238 | 10885

DRIVE END

BEARING

2255C [ 231 90 | msox1.5 | 60 [140[125[ 7.5 42 [ 18 [ 53 | 64 | M20 | (631222C3)| (621222C3)

FRAME DRIVE END OPPOSITE

225MA | 231| 90 [ msox15 | 55 [110[100| 5 [ 42 [ 16 [ 49 | 59 | m20 EF
631322 | 62132Z SIZE DRIVE END

225MC | 231| 90 [ ms0x15 | 60 [ 140[125( 75| 42 [ 18 | 53 | 64 | M20

250MA | 255 | 105 | M63x15 | 60 | 140|125| 75| 42 | 18 | 53 |64 |M20| 6313C3 | 6313C3

250MC | 255 | 105 | M63x15 | 65 | 140|125| 75| 42 | 18 | 58 | 69 |M20| 6315 6313

280SA | 255 140 [ Mme3x1.5 [ 65 | 140 | 125 | 7.5 | 40 | 18 | 58 [ 69 [Mm20[ e314C3 6314C3

280SB | 255 140 [ Me3x1.5 [ 75 | 140 | 125 | 7.5 | 40 | 20 [67.5[ 795 M20 [ 6318C3 6316C3

280MA | 255 140 [ m63x15 [ 65 | 140 | 125 | 7.5 | 40 | 18 | 58 | 69 [M20[ 6314C3 6314C3

Note : 1. Tolerance of shaft end diameter D : m6. 280MB | 255 140 | Me3x1.5 [ 75 | 140 [ 125 | 7.5 [ 40 | 20 | 67.5(79.5| M20 [ 6318C3 6316C3
2. Tolerance of N : j6.
3. Bearing No. In{(

) is for 2p. Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
3. Tolerance of N:j6

TEC0/99 TEC0/100



SMZE Outline

INERRERTE

Output (kW) FRAME FLANGE DIMENSION

SIZE LA

22475, ¢ B5 (IM 3001)

TECO

TEBD

Dimensions in mm

BEARING

FRAME
SIZE

315SA M63X1.5 6316C3

DRIVE END OPPOSITE

DRIVE END
6314C3

a1ss | meaxt.s | so [170] 160 [ s [ 40 | 22 [ 71 [ es [me0] esz0c3

6316C3

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
3. Tolerance of N:j6

TECO/101

5MIZE] Outline TECO

IR BERTE s 1 B5 (IM 3001)

ac

an

Dimensions in mm
Output (kW) FRAME

FLANGE DIMENSION
2P 4P 6P 8P SIZE M N P S

140 | 600 | 550 | 660

170 | 600 | 550 | 660
SHAFT EXTENSION BEARING

DRIVEEND OPPOSITE

g 6316C3 6314C3
[ 315w Jueaxas[ so [170]160] 5 [ 40 [ 22| 71] 85 [ma2o[ es0cs | eateca |

Note : 1 Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
3. Tolerance of N:j6

TEC0/102



SMEZE Outline TE%?,

INERZHERTE 224755, : B35 (IM 2001 )

Dimensions in mm

Output (kW) FRAME FIG FLANGE DIMENSION

M P

15 | 1.1 [075]037| eos 12| 50| 165 [ 130 [ 200 12] 35 [ 140| 40 [180] 107] 173 125 [ 67.5 [ 100 67.5 [ 67.5 | 161 62.5 [ 40| 56
22 | 15 | 11 [oss| sor | - |20 15| 0| 200|255 | 80| @0 |w0] 17| 75| 125 | 675 | 125] 605 | 05 | 77| 745 | 40| 50
BEARING

FRAME DRIVE END OPPOSITE
SIZE ° DRIVE END
80M 80 | 10 | 1235 |10 [ 203 [115| 40 [m2oxts| 19| 40| a2 [ a4 [16 ] 6 [155]215]ms 620422 620322
a0s 90 | 10 | 1335 [ 10 [ 3aa5 [ 115 40 [m2oxts| 24 [ s0 [ a0 [ 5 [19] 8 | 20 | 27 [ms 620522 620422
Q0L o0 | 10 | 1335 [ 10 [ 3545 [ 115 40 [meoxts| 24 [ s0 [ 40 [ 5 [1a] 8 [ 20 | 27 [ms 620522 620422

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N:j6.

TEC0/103

SMEZE Outline TE(T:Eg

INERZHERTE 22875, : B35 (IM 2001)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
SIZE LE M N P
3 100L 3 | 16| 60 |215| 180|250 | 14.5 | 4 | 160 | 40| 200 219| 188 | 147 | 785 | 140| — | 665 | 665 | 181 | 725 | 50
- —
a | 422 15| 112w |4 1560 |215[180] 250 145] 4 [190] 45 [ 235] 235 | 2005 [ 147[ 785 [ 140 — [ 655 655 [ 186 75 |50
55[55( 3 | 22
1328 16 | 80 | 265 (230|300 | 14.5 | 4 216 57 | 263 | 273| 218 [147| 785 [140| — | 65 | 64 [ 184 65 |50
75— |- -
3
HEaE
= 132M 16 | 80 | 265 (230|300 | 14.5 | 4 216 57 | 263 | 273| 218 [147| 785 | 178 | 140 | 835 | 835 | 222 84 |50

TENS| BEARING

DRIVE END OPPOSITE
DRIVE END

22| 8| 24 |31 w0 620622 620522

1000 | 63 | 100 [ 12| 147 | 12 [302] 125 50 [ mesx15 | 28 [eo] 50

5
1120 | 70 [ 112 [ 13| 1595 | 12 [413]125] 50 [ mesxas | 28 [eo[ so [ 5 [ 22| 8 | 24 |31 [ w0 630622 630522
1325 |89 | 132 [ 16| 177 [ 12 [4s6 [ 125] 50 [ masxis | 38 [eo[ 70 [ s [ 28 10 33 [ a1 [mrz 630822 630622
132 | 89 | 132 |16 | 177 | 12 | 494|125 50 | m2sx15 | a8 [eo| 70 [ 5 [ 28 [ 10| a3 | a1 [ w2 630822 630622

Note : 1. Tolerance of shaft end diameter D : 28 : j6, Y386 .
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N : j6.

TECO0/104



TECO . TECO
SMEZE Outline TEBD SMIZEE] Outline TEBD

INER IR TE L& 1 B35 (IM 2001) IMERTERTE Z&E73 1 B35 (IM 2001)

Dimensions in mm Dimensions in mm

Output (kW) FRAME Output (kW) FRAME FLANGE DIMENSION

4

WP 6P size T

T | 75 | 5| teom 15 | 10| 200|250 350| 185 | 5 | 254] 60 | 300| 317|270 13 | 915 | 210] — | 67] 57 | 2%0] 105 7] — | 185 | 2255¢ 20 | 140 |400| 350|450 | 185 | 5 | as6 | 75 | 431 | ad0|ass | 231| 1105 |288| — | 985 | 985 |a71| 143

5
85| 15 | 11 | 75| 6oL 15 | 110|300 | 250|350 | 185 | 5 | 254 | 60 | 300|317 | 270] 193 | o15 | 284 20| 07 | o7 | 204| 127 45| —| — | — | 22sma | 7 [20 | 110 |a00|3s0|as0| 185 | 5 |ase| 75 | 431 |aso| 385|231 | 1105 |a11|286| 110 | 110 |96 1555
2 |185] — | — | 1eom 15 | 110|300 250|350 | 185 | 5 | 279| 65 | 330 | 354|206 | 193 | 015 20| — | 65| 65 | 292] 1205 —|as] 30 [ 22 | 225mc 20 | 140 [a00[ 350 50| 185] s [ase| 75 [431[aa0]ass| 21| 1105 [ar1]ase] 110 | 110 [ase[ 1555
— |22 [ 15 [ 11| teor | e [ 15 [110]300] 250|550 185 | 5 |279| 65 |s30| 354|206 193 | 15 | 279 |2a1|115[ 115 | 330] 1395 55| — | — | 2s0ma 22 | 140 500|450 50| 16.5] 5 | 406 | 85 [4s0[ 4007 | 285| 1225 |sao| — [ 1125 | 1125|425 ] 1745
8
HEIE D 7 [i0] 550 [ sw0 [ 400] 185 | & |378] 70 |70 | 308 [ 52| za1 [ 1705 |05 | — | 02| w2 || vwes 5 [ 50 | zsone 22 | 140 | 500 | 450 | s50| 165 | 5 | 406 | o5 | amo | ave| 597 | 255| 122s |sao| — | vizs | vres |azs| 17as
BEARING ENSION BEARING

FRAME A : END OPPOSITE DRIVE END

size DRIVE END.

oom | 89 [108]160] 18] 2115 [ 145 [606[ 193] 6o | mazxts [a2110]100| 5 [s6 [ 12| 37 | 45 [wie[ 63002z | 63072z 2255C | 106 | 149 |225| 28| 285 | 185 | 815 |231| o0 | msoxts 60| 1a0[ 125 7.5 [ 42 | 18 | 53 | 64 [ma0| (@s122zc3) (62122203)

w60 | eo 108|160 18] 2115 [ 145 [es0] 193] 60 [ mszxis [z 10[ 100 5 [Tae [ 12| a7 | as [mie] es0ezz | esorzz 225MA | 106 | 140 | 25| 28 | 285 | 185 | 810 |231] 90 | msoxis | 55| 110 00| 5 | 42 | 16 | 40 | 59 [m20|  estazz 621322
180M | 89 | 121|180| 20 | 2375 | 145 | 671| 193] 70 | Ma2xis |48 | 110] 100| 5 | 36 | 14 | 425 | 515 | 16 | s11zz9)| (631022C3) 225G [ 106 | 149 [ 225 28 | 285 [ 185 | 840 | 231] 90 | msoxis [eo[ 140 125] 7.5 42 [ 18 | 53 [ 64 [m20

1800 | 89 | 121|180 | 20 | 2375 | 145 | 709 | 193] 70 | maax15 48| 110[100] 5 | 36 | 14 | 425 | 515 |mi6| 63112z | est0zz 250MA | 119 | 168 | 250 | 30 | 3185 | 24 | 9195 | 255] 105 | Meaxis | 60| 140 | 125| 75| 42 | 18 | 53 | 64 |M20| 631308 6313C3

(6312223) (621222C3) 250G | 119 168 | 250 30 | 3185 | 24 | 9195 | 255 105 | meaxts | 65| 140 125] 7.5 42 | 18 | 58 [ 69 [m20 6315 6313
2000 | 106 [ 133] 200 24 | 250 | 185 | 770|251 | eo | msoxts [ss|110|100[ 5 [ 42| 16| 40 | so [m2o
631222 | 621222
Note : 1. Tolerance of shaft end diameter D : mé.
¢ f . 6:b 55 : mé 2. Tolerance of shaft center high H: +0, -0.5.
Note: 1. To:erance of szaﬂ end dlahmer:er D:a) 42 ~y48 k6 b) 455 : mé. 5 Tolerance of N : 6.
2. Tolerance of shaft center high H: +0, -0.5. 4. Bearing No.In( ) is for 2P.
3. Tolerance of N : j6.

4. Bearing No. In( ) is for 2P.

TEC0/105 TEC0/106



TECO
JMIZEE] Outline TEBD

IMER IR TE L& 1 B35 (IM 2001)

Dimensions in mm
Output (kW)  FRAME FLANGE DIMENSION
size LE M N P

75[ [ — | — | 280sa| 22 [140{500]450|550| 1855 | 5| 457| 110|560 546|433 | 255| 1225 | 368 [ 110 | 110]455] 475 [ 119

90| — [ — [ — [28oma| 22 [140{500] 450|550 1855 | 5[ 457| 110|560 546 433 | 255| 1225 | 419 [ 15[ 115]505] 48 [119

T
5

|75 45 [ 37 [ 280sB | 22 [140{ 500|450 550| 1855 | 5[ 457| 110|560 546|433 | 255| 1225 | 368 [ 110 | 110]455] 475 [ 119
5
5

—[ oo 55 [ 45 [ 280mB| 22 [140{500]450|550| 185 | 5| 457| 110] 560| 546|433 255| 1225 | 419 [ 15[ 115]505] 48 [119

SHAFT EXTENSION BEARING
FRAME C DRIVEEND OPPOSITE

EF EG
SizE DRIVE END

280sA | 190 280| 35 [ 3545 [ 24 [ 10385 [255( 140 |meaxis| 65 [140[ 125[ 7.5 [ 40 [18[ 58 | 69 |m20[ 6314c3 [ 6314C3

28058 | 190 280| 35 [ 3545 24 [ 10385 [255( 140 |weaxis| 75 [140[ 125[ 7.5 | 40 [ 20 67.5 | 795 | m20| 63183 | 6316C3

280MA [ 190 [ 280 35 | 3545 24 | 10885 |255| 140 [meaxis| 65 |140| 125| 75| 40 18] 58 [ 69 [m20] 6314c3 | e314C3

280mB [ 190 [ 280 35 | 3545 24 | 10885 |255| 140 [meaxis| 75 | 140|125 75| 40 | 20| 675 [ 79.5 | M20| e318C3 | 6316C3

Ndtderance of Shaft End Diameter D : mé6

2. Tolerance of Key Width F:h9

3.Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO0/107

SMIZEE] Outline TE%?,

IMERTERTE &7 1 B35 (IM 2001)

Dimensions in mm

Output (kW) FRAME

2»
180 [ 580 | 53

X BEARING
FRAME DRIVE END OPPOSITE
DB
SIZE

6316C3
[ses] 25 | 11525 22 o0 [ s0 | 70 60| 5 [ 0] 22 | 71 | 5 [wao] ssaocs | satecs |

[ e1ss8 216 [a1s

Note : 1.Tolerance of Shaft End Diameter D:mé
2.Tolerance of Key Width F
3. Tolerance of Shaft Center Helght H:+0, -1
4.Tolerance of N:j6

TECO0/108



HMIZE Outline TECO

INERZERTE 24755, 1 B35 (IM 2001 )

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

BEARING
FRAME DRIVE END OPPOSITE

SIZE

6316C3
[0 28 | v2re [ [0 [weonrs] 50 [ 70 10| 5 [#0] 22 [ 71 | o5 [wao] o200 | earecs |
Note : 1.Tolerance of Shaft End Diameter D : m6

2. Tolerance of Key Width F: ht

9
3. Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:j6

DRIVE END

[[stsme [ 216]a1s] s

TECO0/109

HMISE Outline TECO

IMERBERTE %73 1 B35 (IM 2001)

Output (kW)

Dimensions in mm
FLANGE DIMENSION
LE M N P

600 [ 550 [ 660

BEARING

3o | 26 | at6 | 45 | #20] 28| vare |zz] 80| weaxrs| 80 [ 170] 1e0] 5 | 40] 22 | 71 | 8 [wao] e32003 | saeca |

Note :

1. Tolerance
2. Tolerance
3. Tolerance
4. Tolerance

of Shaft End Diameter D : m6

of Key Width F : h9

of Shaft Center Height H: +0, -1
of N:j6

TECO0/110



M2l Outline TE(T:Eg

INERZERTE 224755, : B35 (IM 2001 )

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

BEARING
DRIVE END OPPOSITE
254355 | a5 4w 28 | tea7 |o72] 230 raxe| 75 [140] 125 7.5 [ 40 [ 20 | 675 | 705 [m20] eatec
[assme [ 254355 [ 45 |aso| 28 | 1717 Jar2[ a0 mraxa] o5 [170] 1e0] s [4s [ 25 | e6 | 100 [mas] eaacs | eaacs |

Note : 1.Tolerance of Shaft End Diameter D : m6
2.Tolerance of Key Width F:h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO0/111

TECO
9MIZEE] Outline TEBD

INEREERTE L5 1 B35 (IM 2001)

Dimensions in mm

FLANGE DIMENSION

BB BC

310 | 310 910 | 43

BEARING

DRIVE END OPPOSITE

[ osste [2s4[ass|[ 45 |aso 28 | 1717 Jar2[as0| mraxa] ss 170 1e0] s [as [ 25 | e6 | 100 [mas] eazeca | eaecs |

Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F:h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TEC0/112



TECO L : TECO
SMEZE Outline TEBD SMIZE Outline TEBD

INERTERTE L% B35 (IM 2001 ) INERTERTE L% 0 V1 (IM 3011)

3 °
o
BE] 2—UB . e
| LA ‘
=
50
(=) —
Ly
N
IS 4
1%
A N T
L ii§ I I 1
BA 1 | YN
L = 6 s
o L $K_HOLE FIG. 1
5

Dimensions in mm

Output (kW) FLANGE DIMENSION
FRAME A AA AB AC AD AG AS

Dimensions in mm
Output (kW) FRAME FIG FLANGE DIMENSION

BEARING SIZE NO.

DRIVE END OPPOSITE 075|055 | — |o018

DRIVE END 1.1 1 0.75] 0.55 | 0.25
6318C3 | 6318C3

80M 1 [12[40(165] 130 200 | 12 | 3.5 177 163 | 125 67.5 | 40 [123.5/103.5( 328

15| 1.1 ] 075] 037 | 90S 12| 50| 165|130 | 200 | 12 | 3.5 197 173 | 125 67.5 | 40 | 133.5[125.5|379.5
as508 | 254 |55 4s [ sao[ 28] 1795 [ar2[2s0|mraxa] o5 [170] 160] s |48 [ 25 | 6 | 100 | mas] eaz2cs | eszzcs | 2
22 | 15| 1.1 | 055 goL 12(50(165[130| 200 [ 12 | 35| 197 [173]125| 67.5 | 40 |133.5(130.5|389.5
Note : 1.Tolerance of Shaft End Diameter D : mé6
- BEARING
2. Tolerance of Key Width F:h9
3. Tolerance of Shaft Center Height H: +0, -1 DRIVEEND OPPOSITE
4. Tolerance of N:j6 B
DRIVE END
80M 115 | M20x1.5 (19 40| 32| 4 | 16 | 6 [ 155|215 | M6 | 62042z | 620322
908 115 | M20X1.5| 24|50 40 5| 19| 8 20 27 | M8 | 620522 620422

90L 115 [ M20x1.5 | 24| 50 | 40| 5 | 19

@

20 | 27 | M8 | 62052z | 62042z

Note : 1.Tolerance of shaft end diameter D : j6.
2. Tolerance of N : j6.

TEC0/113 TECO0/114



JMEZE Outline TE(T:Eg

IERTERTE L&A 0 V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME FIG. FLANGE DIMENSION

SIZE LE M N

100L 3 | 16| 60| 215|180 | 250 [ 14.5 (4| 219 188 | 147 | 78.5| 50| 147 | 1355 | 433 | 125

4 4 22| 15| 112m 4 | 15| 60| 215|180 [ 250 | 14.5 | 4 235) 200.5 | 147 | 78.5 [ 50 | 159.5 [ 145 | 448 | 125

1328 16| 80 | 265 (230|300 | 145 [4| 273 | 218 [147| 785 |50 | 177 | 154 | 504 [ 125

132M 16 | 80 | 265|230 300 | 14.5 | 4273 | 218 | 147| 78.5 50| 177 173 | 542 | 125

BEARING

eeno OPPOSITE

DRIVE END
22| 8 | 24| 31 620622 620522

112M M25x15 | 28(60| 50 | 5 | 22| 8 | 24 | 31 | M10 | 63062Z| 630522
5
5

EF

100L M25X1.5 |28 60 50

1328 M25X1.5 [ 3880 70
132M M25x1.5 | 38 (80| 70

28| 10 | 33 | 41 | M12 | 6308ZZ 630622

28| 10 | 33 | 41 | M12 | 630822 630622

Note : 1.Tolerance of shaft end diameter D : j6.
2. Tolerance of N : j6.

TECO0/115

9MEZE] Outline TE(T:Eg

IMEREZERTE L% 1 V1 (IM3011)

Dimensions in mm

Output (kW) FRAME  FIG. FLANGE DIMENSION
SIZE  NO
:; 1 |75 5 | 160m s 15| 110|300 | 250 | 350 | 18.5 | 5| 317 | 270|193 | 915 | 89 | 211.5| 213 | 656 | 193
185 15 | 11| 75 [ 160L 15| 110|300 | 250 | 350 | 18.5 | 5| 317 [ 270|193 | 915 | 89 | 211.5 | 235 | 700 | 193
22 [185( — | -~ | 180m 15| 110 | 300 | 250 | 350 | 18.5 | 5| 354 | 296 | 193 | 91.5 | 89 | 237.5 | 2415 | 720.5 | 193
| 22 [ 15| 11| 180L | ¢ |15|110]|300| 250 | 350 [ 185 |5 354 |296| 193| 915 | 89 | 237.5 | 2605 | 7585 | 193
ig 30 1225 15 [ 2001 17110 [ 350 | 300 | 400 | 18.5 | 5| 398 | 329 | 231 | 110.5 | 106 | 259 | 291.5 [ 819.5 | 231

BEARING

FRAME DRVEEND OPPOSITE

DB
SIZE DRIVE END

63092Z| 630722

160L M32x1.5 |42 110 | 100 36 [ 12 | 37 | 45 | M16 |63092Z 630722

180M M32x1.5 |48 110 | 100 36 [ 14 | 425 | 515 | M16 | ewizzen [ (631022C3)

EF

160M M32x1.5 42| 110|100 | 5 | 36 | 12 [ 37 | 45 | m16
5
5
5

180L M32x1.5 |48 110 | 100 36 | 14 | 425 | 51.5 | M16 | 63112z 631022

(esr22203) | (621222C3)
200L M50X1.5 [ 55110 [ 100| 5 | 42 | 16 [ 49 | 59 | m20
63122Z| 621222

1. Tolerance of shaft end diameter D :a) .42 ~y48 : k6 ; b) Y55 : mé.
2. Tolerance of N : j6.
(

Note : 3. Bearing No. In

) is for 2P.

TECO0/116



9MIZEE] Outline TE%?,

INERRERTE L&A 1 V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME  FIG. FLANGE DIMENSION
SIZE NO N P S T
— 37| — | 185 | 225SC 20 | 140400 | 350 | 450 | 185 | 5 |449|355|231|110.5( 106 | 285 | 292 | 875
45| | — - 225MA 7 20 | 110 (400 | 350 | 450 | 18.5 | 5 |449 (355|231 |110.5( 106 | 285 |[304.5| 870
- |45 30 | 22 225MC 20 | 140 (400 | 350 | 450 | 185 | 5 |449 355|231 |110.5( 106 | 285 |[304.5| 900
55— | — - 250MA 22 | 140 [ 500 | 450 | 550 | 18.5 | 5 |499 [ 397 | 255|122.5( 119 | 318.5 [342.5] 991
- 55| 37 30 250MC ® 22 | 140 | 500 | 450 | 550 | 18.5 | 5 | 499|397 | 255 |122.5[ 119 | 318.5 |342.5( 991

RING

DRIVEEND OPPOSITE

DRIVE END
225SC | 231 M50X1.5 | 60| 140 | 125( 75| 42 | 18 | 53 64 | M2

S

(631222C3) | (621222C3)

225MA | 231 M50X1.5 55110 (100| 5 | 42 | 16 | 49 | 59 | M20
225MC | 231 M50X1.5 |60 140 [ 125| 7.5 | 42 | 18 | 53 64 | M20

631322 621322

250MA | 255 M63X1.5 | 60| 140|125 7.5| 42 | 18 | 53 64 | M20| 6313C3 6313C3
250MC | 255 M63X1.5 | 65| 140|125 75| 42 | 18 | 58 69 | M20 6315 6313

Note : 1.Tolerance of shaft end diameter D : mé.
2. Tolerance of N : j6.
3. Bearing No.In( ) is for 2P.

TEC0/117

9M2E Outline

IMERTERTE

500

FLANGE DIMENSION

P

550

2R 0 V1 (IM 3011)

122.5 | 119

500

550

122.5 | 119

500

550

122.5 | 119

500

EF

75

550

aloa|a|o

5

122.5 | 119

BEARING

OPPOSITE
DRIVE END

6314C3

75

S

6316C3

75

5

6314C3

75

S

6316C3

1. Tolerance of Shaft End
2. Tolerance of Key Width F: h!

Diameter D : mé
9




HMIZE Outline TECO

INERBERTE L& 1 V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

2P 4P 6P 8P SIZE N P

12775 322

1307.5| 322
BEARING
DRIVE END OPPOSITE
DRIVE END

58 6316C3

6314C3

[ 1ss8 [ meaxis] o [170] 160 5 [ 40 | 22 | 71 [ 85 [meo| eazocs | estecs

Note : 1.Tolerance of Shaft End Diameter D : m6
2.Tolerance of Key Width F:h9
3. Tolerance of N:j6

TECO0/119

9MHZE] Outline TEEEg

IMERLERTE L% 0 V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
2P 4P 6P 8P SIZE LE M N P

BEARING
DRIVE END OPPOSITE
DRIVE END

6316C3 6314C3

[ 31sme [ weaxis] 8o [170[ 160 | s 40 | 22 [ 71 | a5 [m20] ‘ea20cs | eatecs

Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F:h9
3. Tolerance of N:j6

TECO0/120



MIZE Outline TECO SMIE Outline TECO

IMERTERTE L&A 0 V1 (IM 3011) IMERTERTE REH 0 V1 (IM 3011)

Dimensions in mm Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION utput (kW) FRAME FLANGE DIMENSION

SIZE 8P SIZE

BEARING

DRIVE END OPPOSITE
DRIVE END

BEARING
DRIVE END OPPOSITE

DRIVE END 6318C3 6318C3

6316C3 6314C3

M63X1.5
I 315LB l M63X1.5 l 80 l170l 160[ 5 |

mr2xz | o5 [170[ 160 5 [ a8 | 25 [ 86 | 100 [m2a] e322c3 | eazacs

40 [ 2271 ] o5 [weo] esa0cs | estecs Note : 1.Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
Note : 1.Tolerance of Shaft End Diameter D : m6 3. Tolerance of N:j6
2 Tolerance of Key Width F : ho
3. Tolerance of N:j6

TECO/121 TEC0/122



YMIZE] Outline TE(T:Eg

IMERTERITE L&A V1 (IM 3011)

Dimensions in mm

Output (kW)  FRAME FLANGE DIMENSION
‘ZP 4P 6P 8P SIZE N

BEARING
DRIVE END OPPOSITE
DRIVE END

6318C3

6318C3

[ 358 [ mraxa | o5 [170] 160 s [ a8 | 25 | @6 [ 100 | ma4| eszocs | eazacs

Note : 1.Tolerance of Shaft End Diameter D : mé6
2. Tolerance of Key Width F:h9
3. Tolerance of N:j6

TECO0/123

SMIZE Outline TECO

IMERBERTE &A1 V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

8P SIZE

BEARING |
FRAME DRIVE END OPPOSITE
size DRIVE END
z 6318C3 | 6318C3
[ 3ssce | mr2xe [ o5 [170] 60| s 48] 25 ] 86 [ 100 [m2a| es22cs | eszzcs |

Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F: h9
3.Tolerance of N:j6

TEC0/124



15143 Data Sheet

1F143E Data Sheet

FRIEELEREAM, ( Frame-proof motor )

TECO

380V 50Hz
GB18613-2020 GB2 (IE4)

Model : TED4 A4

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
OUTPUT Approx
ND

FULL FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL Lockep PULL BREAK
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0AD ROTOR UP DOWN GD* PRESSURE Weight
rpm ) (%) (%) % %FLC  kg-m  %FLT % 1T kemt MR kg

1 [ 1440 [ 8om | 857 [ 844 | 824 | 73.0 [ 635 | 500 | 182 [ 840 [ 0507] 355 [ 345 | 365 [0015] 57 [ 206

380V 50Hz
FRIZELERAMN ( Frame-proof motor ) GB18613-2020 GB2 (IE4)
Model : TED4 A4
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
SUTFET FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL Lockep PULL BREAK SOUND
LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |0ap ROTOR UP  DOWN PRESSURE
) [ I I I ) %A kgm  %FLT %FLT  %FLT N
075 1 [2860 | som | 835 | 836 | 820 [ 81.5 | 73.0 [ 60.0 | 1.67 [ 770 [0.255] 310 | 300 [ 315 0006 69 [ 174
11| 15 [2860 | som | 852 | 85.9 [ 850 | 835 | 760 [ 630 | 235 [ 810 [0374] 320 [ 310 [ 335 [0008[ 69 [ 196
15 | 2 | 2860 [ 905 | 865 | 87.0 [ 858 | 855 | 795 | 685 | 3.08 | 890 | 0.510] 340 | 320 | 360 [0.012] 69 | 267
22| 3 [2860] oo | 880 [ 880 [ 875 | 855 | 79.5 [ 680 | 444 [ 895 0748 365 [ 330 [ 375 [0015[ 69 [ 289
3 [ 4 [28s8s[ 100 89.1 | 888 [ 850 [ 87.0 | 820 [ 720 | 5.88 [ 950 [1.012] 360 [ 325 [ 365 0028 72 [ 430
4 | 55 [2895 [112m] 90.0 | 902 | 90.1 [ 87.0 | 880 ] 88.0 | 7.76 | 990 | 1344 360 | 330 [ 300 [0.056] 73 | 555
55| 75 [ 2930 1325 | 90.9 [ 913 [ 907 | 87.0 | 835 [ 755 | 10.6 [ 860 [ 1826] 245 [ 190 [ 345 [0069[ 75 [ 714
7.5 | 10 [2915] 1325 | 91.7 [ 922 [ 9266 | 87.0 | 840 [ 77.0 | 143 [ 860 [ 2503| 240 [ 190 [ 310 [0076[ 75 [ 745
11 | 15 [ 2950 [160M| 926 | 926 | 91.6 [ 890 [ 860 | 795 | 203 | 860 | 3.628[ 240 | 195 | 330 [0192] 77 | 117
15 | 20 [2950 [160m[ 933 [ 929 | 929 [ 890 [ 860 | 79.0 [ 274 | 930 |4.947[ 265 | 215 | 355 [0218] 77 | 120
185 | 25 | 2950 | 160L | 937 | 93.4 | 929 | 880 | 845 | 765 | 341 | 930 [6102] 270 | 215 | 350 {0250 | 77 [ 136
22 | 30 [2950 [180m[ 940 [ 93.1 | 926 [ 900 [ 87.5 | 80.0 [ 395 | 950 | 7.256] 290 | 230 | 350 [0330| 78 | 174
30 | 40 [2960 | 200L [ 94.5 [ 945 | 94.0 [ 930 [ 925 910 [ 519 780 | 9.861[ 155 | 135 | 265 [1.074] 79 | 270
37 | 50 [ 2965 | 200L | 948 [ 950 | 945 [ 930 [ 925 | 89.5 | 638 | 880 | 12.14[ 180 | 155 | 295 [1.187]| 79 | 318
45 | 60 | 2965 [225M| 95.0 | 94.9 [ 944 | 920 | 915 | 885 | 782 | 745 | 1477] 140 | 125 | 270 [1.345] 81 [ 360
55 | 75 [ 2970 [250m| 953 | 949 | 939 [ 900 [ 885 | 840 | 974 | 890 | 1802[ 155 | 140 | 330 [2111] 81 | 498
75 | 100 | 2975 | 280s | 956 | 953 | 94.3 [ 900 [ 88.0 | 820 | 132 | 820 | 24.57| 140 | 120 | 280 [3.600| 83 | s88
90 | 125 | 2975 [280M| 958 | 956 [ 949 | 90.0 | 88.0 | 820 | 159 | 820 [2948| 140 | 120 | 280 [4000| 83 [ 650
110 | 150 | 2975 | 3155 | 96.0 | 957 [ 947 | 90.0 | 88.0 [ 82.0 | 193 | 820 [36.03| 140 | 120 | 280 [5200| 86 | 780
132 | 175 | 2975 [315M | 962 | 96.0 | 951 | 90.5 | 895 [ 850 | 230 | 820 [4324| 140 | 120 | 280 | 6.000| 86 | 860
160 | 215 | 2075 [ 315L | 963 | 96.1 | 953 | 90.5 | 89.5 [ 86.0 | 279 | 800 | 5241| 140 | 120 | 250 | 7.600 | 86 | 1100
200 | 270 [ 2975 | 315L | 96.5 | 964 | 958 | 905 | 89.5 | 87.0 | 348 | 800 | 6551 140 | 120 | 250 [8400| 86 | 1220
250 | 335 | 2975 | 355M | 96.5 | 964 | 95.8 | 900 | 89.0 | 85.0 | 437 | 800 | 81.89| 130 | 115 | 230 [13.60| 87 | 1900
315 | 420 | 2075 | 355L | 965 | 964 | 958 | 90.0 | 89.0 [ 855 | 551 [ 800 [ 1032 130 [ 115 | 230 |1560| 87 [ 2200

NOTE: 1.The above are typical values based on test according to GB/T 1032 method
2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.

5. Noise : sound pressure level at no -load, dB(A), Tolerance + 3 dB(A)

6.Data subject to change without notice.

TEC0/125

B, IEC 60034-2-1:2014.

11 | 15 [ 1445 | 90s | 87.2 | 87.7 | 86.7 | 77.0 | 69.0 [ 550 | 2.49 | 870 | 0.741| 330 | 245 | 355 |0021| 57 | 270
15 | 2 [1450 | oo | 882 | 87.7 | 86.5 | 78.0 | 70.0 | 57.0 | 3.31 | 940 | 1.007| 350 | 270 | 380 [0.029| 57 | 316
2.2 3 | 1460 | 100L | 89.5 | 89.6 | 89.3 | 785 | 73.5| 625 | 476 | 750 | 1.466| 205 | 200 | 285 |0.048 | 60 402

3 4 | 1465 | 100L [ 90.4 | 903 | 89.8 | 785 | 723 | 60.5 | 6.42 | 895 | 1.992| 245 | 230 | 335 [0061| 60 | 451

4 5.5 | 1465 [112M| 91.1 | 90.8 | 90.0 | 81.0 | 74.5| 625 | 8.24 | 950 | 2.657| 330 | 225 | 345 | 0.105| 62 58.2
55 | 7.5 [ 1465 [ 1325 | 91.9 | 922 | 91.8 | 83.0 | 785 | 67.5 | 11.0 | 950 | 3.653| 330 | 225 | 345 [0173| 65 | 848
7.5 10 | 1470 [132M| 926 | 923 | 91.9 | 83.0 | 770 | 655 | 14.8 | 980 | 4.964| 360 | 165 | 380 |0.202| 65 93.4
11 | 15 [ 1470 | 160M | 933 | 93.6 | 934 | 835 | 80.0 | 720 | 215 | 800 | 7.281| 250 | 180 | 280 | 0374 | 67 122

15 | 20 | 1470 | 160L | 93.9 | 93.6 | 934 | 83.5 | 80.0 | 71.0 | 29.1 | 805 | 9.929| 240 | 190 | 260 [0484 | 67 | 139
18.5 | 25 | 1480 [180M | 942 | 943 | 943 | 845 | 815 | 740 | 353 | 755 | 1216] 240 | 190 | 260 [0812| 70 191

22 | 30 | 1480 [ 180L | 945 | 94.5 | 943 | 845 | 815 73.0 | 41.9 | 890 [ 14.46| 275 | 215 | 285 0928 70 | 203

30 | 40 | 1480 | 200L | 949 | 94.7 | 944 | 845 | 805 | 715 | 56.8 | 755 [ 19.72| 220 | 190 | 270 [1.484| 72 | 256
37 | 50 | 1480 [ 2255 | 952 | 953 | 95.0 | 86.0 | 83.0 | 755 | 68.7 | 895 | 24.33| 210 | 195 | 270 [2.897| 73 | 352
45 60 | 1480 | 225M | 954 | 94.8 | 943 | 88.0 | 850 | 78.0 | 81.4 | 780 | 29.58| 210 | 185 [ 260 [3.760 73 394
55 | 75 | 1480 [250M | 95.7 | 958 | 955 | 87.5 | 845 | 77.5 | 100 | 820 | 36.16| 205 | 175 | 280 [4.674| 74 | 49
75 | 100 | 1488 | 2805 | 96.0 | 958 | 95.0 | 87.5 | 84.0 | 75.0 | 136 | 800 | 49.12| 160 | 140 | 260 [8.000| 77 | 657
90 | 125 | 1488 [280M | 96.1 | 958 | 95.0 | 87.5 | 84.0 | 750 | 163 | 800 | 58.94| 160 | 140 | 260 [9.200| 77 | 725
110 | 150 | 1488 | 3155 | 96.3 | 96.1 | 953 | 87.5 | 84.0 | 75.0 | 198 | 740 | 72.04] 180 | 160 | 260 [17.60| 82 | 950
132 [ 175 | 1488 [315M | 964 | 96.2 | 955 | 875 | 840 | 750 [ 238 | 740 | 8645) 180 | 160 | 260 [19.60| 82 | 1010
160 | 215 | 1488 | 315L | 96.6 | 96.4 | 95.7 | 87.5 | 84.0 | 75.0 | 288 | 760 | 104.8] 200 | 180 | 260 [22.80| 82 | 1165
200 | 270 | 1488 | 315L | 96.7 | 96.6 | 96.0 | 88.0 | 84.5| 765 | 357 | 760 | 131.0| 200 | 180 | 260 |2520| 82 1370
250 | 335 | 1488 |355M | 96.7 | 96.6 | 96.0 | 89.0 | 87.0 | 81.0 | 441 | 760 | 163.7| 150 | 130 | 260 |35.60| 82 | 1960
315 | 420 | 1488 | 355L | 96.7 | 96.6 | 96.2 | 89.0 | 87.0 | 81.0 | 556 | 780 | 206.3| 150 | 130 | 260 |39.60 | 82 2215

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

2.Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.

5. Noise : sound pressure level at no - load, dB(A), Tolerance + 3 dB(A)

6.Data subject to change without notice.

TECO0/126



15143 Data Sheet

TECO

TED4
275 - B3 (IM 1001)

9MZE Outline

IMERBERITE

380V 50Hz
FRIZELERAMN ( Frame-proof motor ) GB18613-2020 GB2 (IE4)
Model : TED4 61%
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE
SUTFET FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LOCKED FULL Lockep PULL SOUND
NO. LOAD LOAD LOAD LOAD LOAD LOAD ROTOR |oAD ROTOR UP GD?  PRESSURE
©) %) %) () (A w%fic kgm  %FLT %FLT kg-m* NGB kg
075 [ 1 [ 950 [ 905 | 827 [ 824 [ 81.0 | 68.0 [ 58.0 [ 450 | 2.03 [ 625 [0.768] 250 [ 215 [ 300 [0027| 54 | 300
11 | 15 [ 955 | oo | 845 | 845 [ 830 | 695 | 605 [ 475 | 285 | 630 [ 1121 260 | 250 [ 335 [0037[ 54 [ 360
15 | 2 | 960 | 100L | 859 | 862 | 852 [ 70.0 | 625 | 50.0 [ 379 | 685 | 1520| 240 | 185 | 295 [0065| 54 [ 47.0
22 | 3 [ 970 [112m] 87.4 | 873 [ 858 | 660 | 585 [ 460 | 579 | 705 [ 2207 260 | 220 [ 330 [0093[ 60 [ 525
3 | 4 | 970 [ 1325 | 886 | 88.8 [ 877 [ 755 | 67.0 | 540 | 681 | 755 [3.009] 230 | 190 | 330 [0.154] 63 [ 625
4 |55 [ 970 [132m] 895 [ 90.2 | 89.8 | 77.0 | 71.0 | 580 | 8.82 | 695 | 4.012| 190 | 180 | 280 |0.206| 63 | 103
55 | 7.5 [ 970 [132m] 90.5 | 89.9 | 886 | 71.0 | 62.5 | 485 | 13.0 | 835 | 5517 285 | 120 | 285 |0217| 63 [ 105
7.5 | 10 [ 975 [160m| 91.3 [ 91.5 [ 91.0 | 77.0 | 71.0 [ 585 | 162 | 780 | 7.485| 285 | 250 | 285 |0503| 63 | 131
11 | 15 | 970 | 160L | 92.3 | 920 | 920 | 780 | 72.5| 615 | 232 | 800 | 11.03| 300 | 260 | 290 |0700| 63 [ 153
15 | 20 | 980 | 180L | 92.9 [ 93.0 | 93.5 | 84.0 | 80.0 | 71.0 | 202 | 800 | 1489 275 | 230 | 290 |1782| 67 | 218
185 | 25 | 980 | 200 | 93.4 | 940 | 930 | 865 | 840 | 740 | 348 | 645 [ 1837] 200 | 165 | 230 [2791| 69 | 202
22 | 30 | 980 | 200L | 93.7 [ 93.8 | 92.8 | 855 | 820 | 740 | 41.7 | 695 | 21.84| 220 | 180 | 245 [3.023| 69 [ 315
30 | 40 | 980 |225M| 94.2 | 944 | 94.4 | 850 | 825 | 75.0 | 569 | 725 | 2079 225 | 190 | 245 |4559| 69 | 381
37 | 50 | 985 |250M | 94.5 | 94.9 | 949 | 85.0 | 81.5| 73.0 | 700 | 740 | 3655| 175 | 165 | 275 | 6011 71 | 498
45 | 60 | 988 [ 2805 | 948 | 94.8 [ 942 | 850 | 820 | 74.0 | 849 | 720 | 4438] 180 | 160 | 250 [1080| 74 | 786
55 | 75 | 988 |280M| 95.1 | 95.1 | 948 | 855 | 820 | 740 | 103 | 720 | 5425| 180 | 160 | 250 | 12.80| 74 | 895
75 | 100 | 990 | 3155 | 954 | 953 | 94.5 | 855 | 82.0 | 740 | 140 | 720 | 73.82| 200 | 180 | 260 |2320| 77 | 985
90 [ 125 | 990 [315M [ 956 | 955 | 948 | 855 | 820 | 740 | 167 | 720 | 88.59| 200 | 180 | 260 [26.00| 77 | 1020
110 | 150 | 990 | 315L | 95.8 | 95.8 | 953 | 855 | 825 | 74.0 | 204 | 720 | 1083| 140 | 120 | 240 [3040| 77 | 1150
132 [ 175 | 990 [ 315L | 960 | 96.0 [ 953 | 855 | 825 | 750 | 244 | 720 [ 129.9| 140 | 120 | 240 3440| 77 | 1260
160 | 215 | 990 [355M| 962 | 96.0 | 953 | 850 | 815 | 725 | 297 | 720 | 1575 140 | 120 | 250 [35.00| 81 | 1620
200 [ 270 | 990 |355M| 96.3 | 962 | 956 | 850 | 815 | 725 | 371 | 720 | 1969 140 | 120 | 250 [40.00| 81 | 1770
250 [ 335 | 990 | 355L | 965 | 96.4 | 95.8 | 855 | 820 | 73.0 | 460 | 720 | 246.1| 160 | 140 | 250 [49.00| 81 | 2090
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

2. Tolerance according to GB 755, IEC 60034-1.

3.Breakdown & Locked rotor torques are show as average expected voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.

5. Noise : sound pressure level at no -load, dB(A), Tolerance + 3 dB(A)

6.Data subject to change without notice.

TECO0/127

FIG.1 FIG.2
Dimensions in mm
oute & A AA AB A AD A A B B BB B A
P 4p & 8P 5
075 | | | - | 8om | | |125|345 | 161 | 177 | 163 | 125 | 67.5| 15 | 48 | 100 | ~ |163 | 185 | 50 | 80 | 10 |1235
11 |075
15 [ 11]075] — | 90s 140 | 40 | 180|197 [ 173 [125 | 675| 11 [115 | 100 | — [226 | 36 | 56 | 90 | 10 1335
22 (15[ 11| — | 9oL 140 | 40 | 180 [ 197 | 173|125 | 675| 11 | 90 | 125|100 [226 | 36 | 56 | 90 | 10 [1335
3 22|15
|| ||| 2 [0 40 | 200219 | 188|147 | 785 18 | 103 | 140 | - |261 | 21 | 63 [100| 12 | 147
4 | 422 |12m 190 | 45 | 235 235 |2005] 147 [ 785| 18 | 79 | 140 [ — [237 | 28 | 70 | 112 13 |1595
FT EXTENS! BEARING
EF EG DRIVE END OPPOSITE
DRIVE END
80M | 10 |319| 115 |40 | M20x15 | 19 | 40 | 32 | 4 | 16 | 6 | 155|215 | M6 | 620377 | 62037z
905 | 10 4095 115 |40 [ M20x15 [ 24 [ 50 |40 | 5 | 19| 8 | 20 | 27 | M8 | 62047z | 620472
9L | 10 [4095| 115 |40 | M20x15 | 24 | 50 [ 40 | 5 | 19| 8 | 20 | 27 | M8 | 620477 | 620477
1000 | 12 |472| 125 |50 | m2sx15 | 28 | 60 | 50 | 5 | 22| 8 | 24 | 31 [m10| 620527 | 620522
112M | 12 |464| 125 | 50 | M2sx15 | 28 | 60 | 50 | 5 | 22| 8 | 24 | 31 [m10| 63052z | 63052z
Note: 1.Tolerance of shaft end diameter D: j6.
2.Tolerance of shaft center high H: +0,-0.5.
TECO0/128



4MZE Outline TED4

IMERTERIE L&, B3(IM1001)

FIG.3

Dimensions in mm

Output (kW)
AC AD AG AS
1328 216 57 | 263 | 273 218 | 147|785| 27 [108|140| 1 |275| 6 89 |132| 16 [ 177
75 | 75) — | -
3
I I A
55 132M 216 57 | 263 | 273 218 | 147 | 785| 27 [ 70 | 178 | 140|275 | 6 89 |132| 16 [ 177

BEARING

OPPOSITE

GA DB DRIVEEND
DRIVE END

547(125] 50 [ M25X1.5 6308ZZ 6306ZZ
12 |547l125l50| M25X1.5l 38 | 80 l 70 I 5 l 28 l 10[ 33 l 41 |M12l 630877 l 630677 l

Note: 1. Tolerance of shaft end diameter D: j6.
2.Tolerance of shaft center high H: +0,-0.5.

132M I

TECO0/129

YMIZE] Outline TE?Eg'.

IMERBERITE L% B3(IM1001)

PER
&)
]

FIG4 FIG.5

Dimensions in mm

1|11 {7s [~ | 1eom [, |254] 60 [ 300]317 | 270] 193 [o15] 23 [ 67 210 | — 575 [1015] 300 | 47 | 108 | 160 | 18
5[] -
185 15|11 [ | 160 254| 60 [ 300|317 | 270|193 | 915[ 23 | 23 | 254|210 [ 575 1015 | 300 | 47 | 108 | 160 | 18
22 |185[ - | - 180M 5 |279| 65 | 330|354 | 296 [ 193 [ 915(255 (635|241 | - | 62 [ 100 | 330 | 39 | 121 | 180 | 20
2215 [ 1e0 279 | 65 [ 330 | 354 | 296 | 193 | 915|255 [ 255 | 279 [ 241 | 62 [ 100 [ 330 | 39 [ 121 [ 180 | 20
BEARING
OPPOSITE
EF DRIVE END

DRIVE END
o0 2115|145 1652 [193 | 60 | M32x15 | 42 | 110 [ 100 5 36 12| 37 | 45 [M16| 630922 630722
2 Losr5fras 710 10 70| maaxis| 48 [ 110|100 [ 5 | 36 | 14 | 425|515 [m16|©3112263)|(631022C3)
TaoL |2 - 631122 | 631022

Note: 1.Tolerance of shaft end diameter D: k6.
2.Tolerance of shaft center high H: +0,-0.5.
3. Bearing No. In( ) is for 2P.

TEC0/130



4MZE Outline TED4

SN RZERTE L% B3 (IM1001)
o Yo
FIG.6 FIG.7

Dimensions in mm
Output (kW)

FRAME

4 6P gp  SIZE
2130]"8] [ 200 o [318] 75 | 308|448 | 358 231 [105] 30| 30 [305 | — | 76 [176 | ses [ 52 |133[200] 24
BEIEEE 356 | 75 [ 431 [ 498 | 378 | 231 [1105] 32| 32 | 286 | — | 90 | 90 | 350 [375] 149 | 225 | 28
AEEEE 356 | 75 | 431 ] 498 | 378 | 231 [1105] 32| 32 | 311 | 286 | 90 | 115 | 375 [375] 149 | 225 | 28
| 45]30 || 225MC 7 |356| 75 [ 431|498 | 378|231 [1105| 32| 32 | 311 [ 286 | 90 | 115 [ 375 [375( 149 | 225 | 28
5] | — [ | 2soma 406 | 85 | 480 [527.5 430 | 255 [1225| 38 | 38 | 349 | — | 120 [ 120 | 425 [ 635 168 | 250 | 30
| 5537 | [ 2somc 406 | 85 | 480 [5275] 430 | 255 [1225 38| 38 | 349 | — [ 120 | 120 | 425 |635] 168 | 250 | 30

BEARING

OPPOSITE
DRIVE END
DRIVE END

(631222C3)| (621222C3)
16 [ 49 | 59 |M20| 631277 | 621222

200L |288 |185(764.5) 231 M50X15 | 55 | 110 [ 100 [ 5
2255C [308 |185| 816 | 231 MS50X15 | 60 | 140 [ 125 | 75

2
2

225MA [308 185 811 | 231 Msox1s | 55 [110 [100 | 5 | 42 | 16 | 49 | 59 [m20|©3}222C3)|621222C3)
2
42

631322
225MC |308 [185] 841 | 231 MS50X1.5 | 60 | 140 [ 125 | 7.5
250MA B51.5| 24 |1977.5( 255 | 105| M63X1.5 [ 60 | 140 | 125 | 7.5

18 | 53 | 64 [M20] 6313c3 | 6313C3
250mC 515 24 [o775| 255 105| mesxis | 65 | 140 [125 | 75 [ 42 | 18 | 58 | 69 [mao| 315 | 6313

Note: 1. Tolerance of shaft end diameter D: k6.
2.Tolerance of shaft center high H: +0,-0.5.
3. Bearing No. In( ) is for 2P.

TEC0/131

YMIZE] Outline TE?Eg'.

IMERBERITE L% B3(IM1001)

Dimensions in mm

Output (kW) FRAME 5
SIZE
75 | -~ | --- | - [1280SA [ 457 | 110 | 560 | 550 | 445 | 255 (1225|385 | 385 | 368 | 110 [ 110 | 445 | 48 | 190 | 280 | 35
- | 75| 45 |- | 280SB | 457 [ 110 | 560 | 550 | 445 [ 255 |122.5| 385 385 | 368 | 110 [ 110 [ 445 | 48 [ 190 | 280 | 35
90 | ---| --- | - [280MA [ 457 | 110 | 560 | 550 | 445 | 255 [122.5| 38 | 38 | 419 130 | 137 | 495 | 48 | 190 | 280 | 35
--- | 90| 55 | - | 280MB | 457 | 110 | 560 | 550 | 445 | 255 [122.5( 38 [ 38 [ 419 [ 130 | 137 | 495 | 48 | 190 | 280 | 35

BEARING
OPPOSITE
DRIVE END

DRIVE END

280SA |3665| 24 [ 1037.5| 255 [ 140 | M63X15 | 65 140|125 75| 40 [ 18 | 58 | 69 |M20 [ 6316C3 6314C3
280SB [3665( 24 | 1037.5(255| 140 | M63X15 | 75 | 140 [ 125 7.5 | 40 | 20 | 67.5| 795 | M20 | 6318C3 6316C3
280MA |3665( 24 | 1087.5| 255| 140 | M63X15 | 65 | 140 [ 125 7.5 | 40 | 18 | 58 | 69 | M20 | 6316C3 6314C3
280MB [366.5| 24 [ 1087.5| 255 ( 140 | M63X1.5 | 75 | 140 | 125| 7.5 | 40 [ 20 | 67.5| 79.5| M20 [ 6318C3 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

TEC0/132



JMIZEE] Outline

IMERTERIE

22475 0 B3 (IM 1001)

Xpa

FRAME
SIZE

3155A

B8

4—9K HOLES

69 | 145 [ 406 | 210 | 210

Dimensions in mm

BB BC

620 | 53 | 216

31558

69 | 145 | 406 [ 210 | 210

620 | 53 | 216

315MA

69 | 144 | 457 | 240 | 240

670 | 53 | 216

315MB

69 | 144 | 457 | 240 | 240

670 | 53 | 216

BEAR!

DRIVE END

28 [1216 125| 75| 40 | 18 [ 58 | 69 [M20 | 6316C3
28 | 1246 160 5 | 40 | 22 | 71 | 85 [ M20| 6320C3
28 | 1266 125 75| 40 | 18 | 58 | 69 | M20 | 6316C3
28 | 129 160 5 | 40 | 22 | 71 | 85 [ M20| 6320C3

Note: 1.Tolerance of Shaft
2.Tolerance of Shaft
3.Tolerance of Key Width F: h9

Center Height H: +0, -1

YMIZE] Outline TE?Eg'.

IMERBERITE L% B3(IM1001)

Dimensions in mm

Output (kW)

AA  AB AC AD AG AS X BA" BB BC C H HA
» 4
160 [ - |
315LA | 508 150 | 650 | 682 | 574 | 336 163 | 75 | 85 [508 | 710 (335 [ 335 | 870 | 68 | 216 | 315 | 45
200
160| 110
00| 132 | 35U | 508|150 | 650|682 | 574|336 | 163 | 75 | 85 |08 | 710335 | 335 | 870 | 68 | 216 | 315 | 45

BEARING

OPPOSITE
GA DB DRIVEEND
DRIVE END

| 3158 |480| 28 |1514|322|200| M63X1.5 | BD|WO|160| 5 | 40 | 22 | n I 85 |M20| 6320C3 l 6316C3 |

Note: 1. Tolerance of Shaft End Diameter D: m6
2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

TEC0/134



M2l Outline TED4

IMERTERIE L&, B3(IM1001)

i
;E

) 4—on_HoLes

Dimensions in mm

Output (kW)
A AA AB AC AD X Y B BA BA" BB BC C H HA

e 355MA | 610| 150 [ 750 [ 810 | 645 | 412 | 189 | 100 | 200 [ 560 | 330 | 330 | 860 | 48 | 254 [ 355 | 45
I - |250|;$ | 355MB |610| 150|750|810|645|412I189|100 |200|560|330 | 330 | 850' 48 |254|355| 45 |

SHAFT EXTENSION BEARING

OPPOSITE
G GA DB DRIVEEND
DRIVE END

20 |675] 795 |20 | 6317C3 | e317C3
28 [1595 372 230 [ w72 (o5 [170[160] 5 [ a8 | 25 | 6 [ 100 [ma4 | es22c3 | 632263 |

[ 3ssme | sa0 |

Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

TEC0/135

SMEZE Outline TE?Eg'.

IMERZRERTE L7, 0 B3 (IM1001)
lele]
L, == /

| 7 s e 5 ¥
o Noe

Dimensions in mm

Output (kW)
RANE A AA AB AC AD AG f BA BA' BB BC C H HA

BEARING

OPPOSITE
G GA DB DRIVEEND
DRIVE END

[ 3sst8 [ 540 | 28 [164s | 372 230 mraxe 95 [ 170 160 48 | 25 [ 86 | 100 [maa] e322c3 | 63223 |

Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Shaft Center Height H: +0, -1
3.Tolerance of Key Width F: h9

TECO0/136



4MZE Outline TED4

IMERTERIE L% B5(IM3001)

Dimensions in mm

Output (kW) FRAME  FIG FLANGE DIMENSION
AD AG AS HE HH L
2P 4 6 8 SIZE NO. LA LE M N P S T
01?15 075 .. | - | 8om | 1 |12 40]|165|130| 200] 12 | 35 177 163 | 125 | 67.5|123.5 68.5| 319
15[ 11| 075] ... | 90s | , | 12]50|165[130]200| 12 |35| 271 | 173|125 67.5|1335 92 |4095
22 15| 11| | 9oL 12|50 | 165|130 200| 12 | 35| 271 | 173| 125 67.5[1335| 92 |409.5]

SHAFTEXTENSION BEARING

OPPOSITE
DRIVE END
80M 115 | 40 [M20X1.5( 19 | 40 | 32| 4 [ 16 [ 6 |155|215 M6| 6204ZZ 620372
90s 115 | 40 [M20X15( 24 50|40 5| 19| 8 20 | 27 | M8| 6205ZZ 620422
90L 115 | 40 [M20X15( 24 [ 50 | 40| 5 [ 19| 8 20 | 27 | M8| 6205ZZ 620472

EF EG G DB DRIVE END

Note: 1. Tolerance of shaft end diameter D: j6
2. Tolerance of N: j6.

TEC0/137

YMIZE] Outline TEsEgl

IMERBERITE L% B5(IM3001)

Dimensions in mm

Output (kW) FRAME  FIG FLANGE DIMENSION
AC AD AG AS HE HH L LL O
6P 8 SZE NO. LA LE M N P S T
15 100 | 4| 16| 60 |215]| 180|250 [14.5| 4 |288.5| 188 [ 147 | 78.5 | 147 | 84 | 472 125 50
22 112M | 3 | 15| 60| 215 180|250 | 14.5| 4 [306.5/200.5) 147 | 785 |159.5] 98 | 464 125] 50
2 1325 |, | 16]80265]230[300|145] 4| 360| 218|147 | 785 | 177 | 95 | 547|125 50
55 132M 16 | 80 | 265|230 (300 [ 145| 4 | 360 | 218 [ 147 | 785 | 177 | 95 | 547 125 50

BEARING
OPPOSITE
DRIVE END

EF DRIVE END

100L M25X1.5 28| 60 | 50
112M | M25X1.5| 28 | 60 | 50
1328 M25X1.5( 38| 80 | 70
132M | M25X1.5( 38| 80 | 70

22| 8 | 24| 31 [M10| 6206ZZ | 6205ZZ
22| 8 | 24| 31 [M10| 6306ZZ | 6305ZZ
28| 10 | 33 | 41 [M12| 6308ZZ | 6306ZZ
28| 10 | 33 | 41 [M12| 6308ZZ | 6306ZZ

5
5
5
5

Note: 1. Tolerance of shaft end diameter D: y28: j6, p38:K6.
2. Tolerance of N: j6.

TEC0/138



4MZE Outline TED4

IMERTERIE L% B5(IM3001)

[T
fue
gl
afg .
[ N
|
fas
Dimensions in mm
Output (kW) FRAME  FIG FLANGE DIMENSION
AC AD AG AS HE HH L LL 0
2P 4 6P -- SZE NO.LA LE M N P S T
Wl [7s]—] 1e0m , |15 |110] 300| 250| 350|185 5 | 427 | 270 | 193] 9.5 | 2115 155 652|193 60
185 15 | 11 [ | 1601 15 [110[300| 250|350 {185 | 5 | 427 | 270 | 193 | 915 |2115]155|652[193] 60
22 |185 |~ || 180M | |15 [110{300| 250| 350|185 5 | 476| 296 | 193 915 |2375]160|710]193| 70
|22 {15 || 1s0L 15 [110[300] 250 350{185| 5 | 476 | 296 | 193 | 915 | 2375 160| 710[193] 70

BEARING
OPPOSITE
DRIVE END

EF DRIVE END

160M | M32X1.5| 42 110|100
160L M32X1.5| 42 | 110|100
180M [ M32X1.5| 48 (110|100
180L M32X1.5| 48 | 110 (100

36 | 12 | 37 | 45 |M16| 63092Z 63072Z
36 | 12 | 37 | 45 |M16| 630922 63072Z
36 | 14 | 42.5| 51.5|M16|(6311ZZC3)((6310ZZC3)
36 | 14 | 425]|51.5|M16| 631122 631022

5
5
5
5

Note: 1.Tolerance of shaft end diameter D: k6.
2.Tolerance of N: j6.
3.Bearing No.In () is for 2P.

TEC0/139

YMIZE] Outline TEsEgl

IMERBERITE L% B5(IM3001)

Output (kW) FRAME  FIG FLANGE DIMENSION
AC AD AG  AS HE HH L
2P 4 6 --- SZE NO. LA LE M N P S T
39 30 ["8°] | 2000 [ 7 | 17 [110]350|300|400|18.5| 5 |s763| 358 231| 1075 | 288 | 185 8145
| 37| | .| 2essc 20 | 140|400 | 350{ 450|185 5 |652|3775[ 231 | 1075 | 308 |1865| 876
45 | | | .- |225MA | & | 20 [110]400[350|450(18.5| 5 |652|3775| 231| 1075 | 308 [1865| 871
| 45 | 30| | 225McC 20 | 140 {400 | 350|450 [185| 5 [ 652|377 231 1075 | 308 |1865| 901

BEARING
OPPOSITE

DRIVE END

DRIVE END

2000 | 231 80 [msoxis| 55 [110[100] 5 [ 42 | 16 [ 49 | 59 |m20]
2255C | 231 90 [msox15| 60 [140[125] 75] 42 | 18 | 53 | 64 [m20]
225Ma | 231] 90 |msoxts| s [110[100] 5 [ 42 | 16 | 49 | 59 [M20] 31077c3 [621222c3)
225MC | 231 90 [Msox15| 60 | 140[125| 7.5| 42 | 18 | 53 | 64 |m20| 31322 | 621322

(6312ZZC3) |(621222C3)
63127z 621277

Note: 1.Tolerance of shaft end diameter D: mé6.
2.Tolerance of N: j6.
3.Bearing No. In () is for 2P.

TECO0/140



4MZE Outline TED4

IMERTERIE L% B5(IM3001)

Output (kW) FRAME  FIG FLANGE DIMENSION
SIZE NO. LA LE M N P

BEARING

OPPOSITE
G GA DB DRIVEEND
DRIVE END

255 105| M63X1.5| 60 [140(125( 7.5( 42 | 18 | 53 | 64 | M20| 6313C3 6313C3
IZSSI 105| M63X1.5] 65 IMOI 125| ﬂ:ﬂ I 18 I 58 I 69IM20| 6315 I 6313 |

| 250MC

Note: 1. Tolerance of shaft end diameter D: m6.
2.Tolerance of N: j6.

TECO0/141

YMIZE] Outline TEsEgl

IMERBERITE L% B5(IM3001)

Output (kW) FRAME FLANGE DIMENSION

SIZE LE BN S

75| -== | - | --- | 280SA | 22 | 140|500 | 450|550 (18.5| 5 | 717 | 445 | 255| 122.5| 366.5| 238 | 1037.5
--- | 75 | 45 | ___ | 280SB | 22 [140|500|450(550|185| 5 | 717 445 | 255| 122.5| 366.5| 238 | 1037.5
90 [ --- | --- | .| 280MA | 22 | 140|500 [ 450 550(18.5| 5 [717| 445 | 255[ 122.5| 366.5 | 238 | 1087.5
=== | 90 | 55 | -~ | 280MB | 22 | 140|500 | 450550 (18.5| 5 |717 | 445 | 255| 122.5| 366.5| 238 | 1087.5

BEARING
OPPOSITE
DRIVE END

EF DRIVE END

280SA 255|140 | M63X1.5| 65 | 140| 125| 7.5| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3
280SB 255|140| M63X1.5| 75 | 140|125| 7.5| 40 | 20 |67.5|79.5| M20| 6318C3 6316C3
280MA | 255|140 | M63X1.5( 65 |140|125| 7.5| 40 | 18 | 58 | 69 [ M20| 6316C3 6314C3
280MB | 255140 [ M63X1.5| 75 | 140(125| 7.5| 40 | 20 |67.5|79.5| M20| 6318C3 6316C3

Note: 1. Tolerance of Shaft End Diameter D: mé
2.Tolerance of Key Width F: h9
3.Tolerance of N:j6

TEC0/142



. . . TECO
9"”2 Outline TED4 9"’*} Outline TED4

IMERTERIE L&A 0 B5(IM3001) IMERTERTE L& ¢ B35 (1M 2001)

AC

Fia.1 Fla. 2

Output (kW) FLANGE DIMENSION
Output (kW) FRAME FLANGE DIMENSION AC AD AG AS
SIZE LA LE N T 2P 4P 6P
110 | --- | --- | 3155A | 25 |140|600|550|660| 24 | 6 | 660 |527.5| 336 | 163 | 269 | 1216 322 | 180 O o7s| [ | som [ 1 {12 [ 40 |165| 130]200( 12 | 3.5]125[345|161]177] 163 [125 [67.5] 15 | 48 [100| --- [ 163] 18] s0
— | 10| 75 | 31558 | 25 [170|600| 550|660 | 24 | 6 | 660 |5275| 336 | 163 | 269 | 1246 322 | 180 15 [1.1 |o7s| | 90s 12 | 50 [165[ 130|200 12 | 3.5|140| 40 [180|197] 173 [125 |67.5| 11 [ 115|100 -—- | 226] 36 | 56
2
132 | - | - | 315MA | 25 | 140|600 550|660| 24 | 6 | 660 | 5275 336 | 163 | 269 | 1266 322 | 180 22 (15| 11| [ 9oL 12 | 50 [165[ 130|200 12 | 3.5|140| 40 [ 180|197 173 125 |67.5| 11 | 90 | 125 100| 226| 36 | 56
- 132 90 315MB 25 (170 (600 [ 550 (660 24 [ 6 660 | 527.5| 336 | 163 | 269 [ 1296| 322 | 180 BEARING
FTEXTENSI BEARING FRAME DRIVEEND  OPPOSITE
OPPOSITE SIZE DRIVE END
EG DRIVE END
DRIVE END soM [ 8010|1235 | 10| 319 |115| 40 [ maox1s |19 [40 32| 4 [ 16 | 6 [155[215| M6 | 62042z 620372
3155A M63X1.5 | 65 |140[125[ 7.5| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3 90s [ 90|10 1335 | 10| 4095 |115| 40 | maox1s | 24 | 50| 40| 5 [19| 8 | 20|27 [m8| 62052z 620472
31558 M63X1.5 | 80 |170[160( 5 |40 | 22 | 71 | 85| M20| 6320C3 6316C3 9oL [ 90|10 1335 | 10| 4095 |115| 40 | m2ox1s | 24 |50 | 40| 5 [19| 8 | 20|27 [m8| 62052z 620472

315MA M63X1.5 | 65 |140|125| 7.5| 40 | 18 | 58 | 69 | M20 6316C3 6314C3
315MB M63X1.5 | 80 |170|160| 5 | 40 | 22 | 71 | 85| M20 6320C3 6316C3

Note: 1. Tolerance of shaft end diameter D: j6.
.Tolerance of shaft center high H: +0,-0.5
Note: 1. Tolerance of Shaft End Diameter D: m6 3.Tolerance of N: j6.

2. Tolerance of Key Width F: h9

3. Tolerance of N:js6

~

TEC0/143 TECO0/144



. . . TECO
9"”2 Outline TED4 9"’*} Outline TED4

IMERTERIE L& ¢ B35 (1M 2001) IMERBERITE L& ¢ B35 (1M 2001)

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
A AA AB AC AD AD AG AS X Y
SIZE M N 2P 4P 6P
2‘32 151 | qo0u | 4 | 16 | 60 |215]180| 250| 145| 4 |160| 40 |200|219| 188 [147 [78.5] 18 [ 103] 40| --- | 261] 21 | 63 }; 11 |75| | 160Mm 15 | 110]300[250{ 350 [18.5| 5 |254| 60 [300(317| 270|193 [91.5| 23 | 67 | 210] --- | 57.5| 1015|300
5
4 | a|22|-| 112m| 3 | 15 | 60 [215[180| 250 [ 14.5| 4 | 190] 45 |235|235|2005|147 |78.5| 18 | 79 [140| | 237| 28 | 70 18.5[ 15 | 11| | 160L 15 | 110|300|250[ 350| 18:5| 5 [254| 60 |300[317| 270|193 |91.5| 23 | 23 | 254|210 57.5| 1015|300
;E 5503 ] 1as 16 | 80 |265[230| 300|145 4 [216 57 |263|273| 218 147 [78.5| 27 | 108|140 | [ 275 6 | 89 22 [185| - | ---| 180M 15 | 110[300[250| 350|18.5| 5 [279| 65 |330|354 296 | 193 |91.5|25.5[63.5(241| - | 62 | 100 [330
. 4 6
. ;’-5 545 | 132m 16 | 80 |265[230| 300|145 4 (216 57 |263|273| 218 [147 [7855| 27 | 70 |178[ 140|275 6 | 89 |22 15| | 180L 15 | 110|300|250[ 350(18.5| 5 [279] 65 |330 [354| 296 |193 | 91.5[25.5]25.5| 279241 62 | 100 [330
SHAFT EXTENSION BEARING A o BEAR
EF G DRIVEEND ~~ OPPOSITE RA B A 0 B D B A DB P
DRIVE END R L)
1001 [ 100[ 12 {147 12 | 472|125 | 50 [m25x15| 28 | 60 | 50| 5 22 [ 8 | 24| 31 |m10| 620622 620522 160M | 47 [108|160| 18 |2115[ 145 [ 652193 | 60| M32x1.5| 42 [110]100 | 5 | 36| 12 | 37| 45 |m16| 63092z | 630722
112M | 112| 13 f1sos| 12 | 464[ 125 [ 50 | M2sx15| 28 |60 [ 50 [ 5 | 22 | 8 [ 24|31 |m10| 630622 630522 160L | 47 [108|160( 18 |2115| 145 | 652[193| 60| M32x15| 42 [110[100 | 5 | 36| 12 | 37 | 45 [Mm16| 63092z | 630722
1325 | 132] 16 [177) 12| 547|125 | 50 | M2sx15[ 38 | 80 [ 70 | 5 | 28 |10 [ 33 | 41 |Mm12| 63082z 630622 180M | 39 [121]180| 20 |2375[ 145 [ 710(193| 70| M32x1.5| 48 [110{100 | 5 | 36| 14 | 425| 51.5| M16|(E31122C3)| (631022C3)
132M [ 132[ 16 |177] 12 | 547|125 | 50 [m25x15| 38 | 80 [ 70| 5 [ 28 [10 | 33| 41 |mr2| 630822 630622 180L | 39 [121]180| 20 |2375| 145 | 710[193| 70| M32x15| 48 [110[100 | 5 | 36 | 14 425|515 m16| 631122 | 631022
Note: 1.Tolerance of shaft end diameter D: y28: j6, $38:k6. Note: 1.Tolerance of shaft end diameter D: k6.
2.Tolerance of shaft center high H: +0,-0.5. 2.Tolerance of shaft center high H: +0,-0.5.
3.Tolerance of N: j6. 3.Tolerance of N: j6.

4. Bearing No. In( ) is for 2P.

TEC0/145 TECO0/146



9MZE Outline

IMERTERIE

TED4
28753 B35 (IM2001)

g

DRIVEEND

630922

76 | 76 |365]
90 | 90 |350]
90 | 115|375
90 | 115|375

OPPOSITE
DRIVE END

630722

8

630922

630722

8

(631122C3)

(631022C3)

8

631122

631022

of shaft end diameter D: m6.
of shaft center high H: +0,-0.5.

SMEZE Outline TE?Eg'.

IMERBERITE L& ¢ B35 (1M 2001)

el

Output (kW) FRAME FIG. FLANGE DIMENSION

A AA AB AC AD AG AS
2P 4P 6P - SIZE NO. LA LE M N P

250MA

250MC 22 8 120 | 120|425
BEARING

FRAME BC C H HA HE K G GA DB DRVEEND OPPOSITE
SIZE DRIVE END

53| 64 [M20| 6313C3 | 6313C3

| 250MC |535|168|250| 30|35|5| 2 |9775|225||05| M63><|5| 65 |M0| |25| 75|A2 |13 | ssl 69 |M20| 6315 | 6313 |

Note: 1.Tolerance of shaft end diameter D: m6.
2.Tolerance of shaft center high H: +0,-0.5.
3.Tolerance of N: j6.

TECO0/148



YMIZE Outline TED4

SMERBERTE RIH : B35(IM2001)

5 [ \&—ex nouEs

Output (kW) FLANGE DIMENSION
LE M N P

75 | - | - | - | 280sa] 22 |1 550|18.5 5 [457|110[560] 550|445 [ 25| 122.5(38.5[ 38.5 368[ 110[ 110 [ 445 | 48
| 75 a5 || 28058 | 22 |1 550|18.5 5 [457|110[560 550|445 [ 25| 122.5(38.5| 38.5| 368[ 110[ 110 [ 445 | 48
90 | == [ - | -~ |280mA| 22 |1 550|185 5 |457|110[560 550|445 [ 25| 1225 38 | 38| 419[ 130| 137 495 | 48
| 90| 55| - |280m8| 22 |1 550|185 5 [457|110[560 550|445 [ 25| 1225 38 | 38| 419[ 130] 137 [ 495 | 48
RA A o B D B A DB DI D 0!

RIVE END

280SA [ 190|280 35 |366.5| 24 | 10375 [ 255|140 | M63X1.5 | 65 [140|125 (7.5 |40 [ 18 | 58 [ 69 |M20| 6316C3 6314C3

28058 | 190 280| 35 |[3665| 24 | 10375 [ 255140 | M63X15 [ 75 |140|125 |75 [ 40 [ 20 |67.5(79.5|M20| 6318C3 | 6316C3

280MA [ 190| 280| 35 [3665| 24 [ 1087.5 | 255|140 | M63X1.5 | 65 (140 [125|7.5 | 40 | 18 | 58| 69 [M20[ 6316C3 | 6314C3

280MB | 190 280| 35 |366.5| 24 | 1087.5 [ 255140 | M63X15 [ 75 |140|125 [7.5 [ 40 [ 20 |67.5(79.5|M20| 6318C3 | 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Key Width F: h9
3.Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:j6

TECO0/149

HMIE Outline TECO

IMERBERTE R¥H : B35(IM2001)

Ac

4—PX HOLES

Output (kW)  FRAME FLANGE DIMENSION S O ) D Y

2P 4P 6P SIZE LA LE M N

3155A | 25 (140 600| 550|660( 24 | 6 |508|115|615|620(524 |336[163 | 69 | 145 406 210| 210 620| 53

--- [110] 75 315SB | 25 [170] 600( 550|660| 24 | 6 |508(115]|615(620|524 | 336163 | 69 [ 145| 406| 210 210| 620 53

132 -—-| - | 315MA [ 25 140 600| 550|660| 24 | 6 |508|115|615|620|524 |336[163 | 69 | 144| 457 240 240( 670 53

BEARING

END OPPOSITE
DRIVE END

315SA [ 216 | 315 | 35 |430| 28 | 1216 |322[180| M63x1.5| 65 [140[125| 7.5 40| 18 [ 58 | 69 [M20| 6316C3 | 6314C3

31558 [ 216 | 315 | 35 [430( 28 | 1246 |322[180| M63x1.5| 80 [170[160| 5 | 40| 22 [ 71| 85 [M20| 6320C3 | 6316C3

315MA | 216 | 315 | 35 [430| 28 | 1266 322|180 M63X1.5| 65 |140{125|7.5| 40| 18 | 58 | 69 |M20| 6316C3 6314C3

315MB | 216 | 315 | 35 |430| 28 | 1296 |322]180| M63X1.5| 80 |170{160| 5 | 40| 22 | 71 | 85 |M20| 6320C3 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of Shaft Center Height H: +0, -1
4.Tolerance of N:js6

TEC0/150



YMIZE] Outline TE(T:Eg

IMERBERITE L& ¢ B35 (1M 2001)

4MZE Outline TED4

IMERTERIE ZHA 0 B35(IM2001)

. -
Py
c 2—us
o
uld
H
er
iz J B
r
g 2
Z —‘ . "
7 =
{2 . . >
66K _HOLES ‘7 BB 49K HoLES
Lo T

Output (kW) FRAME FLANGE DIMENSION

Output (kW) FRAME FLANGE DIMENSION

A AA AB AC AD AG AS

A AA AB AC

2P 4P 6P SIZE LA LE M N P

508|710 335 [ 335 (870

FRAME BC C H HA HE
SIZE
315LA | 68(216(315| 45 [ 480 28 [1484| 322

508|710 335 [ 335 (870
BEARING

DB DRIVEEND OPPOSITE
DRIVE END

M20| 6316C3 | 6314C3

| 31518 | 68|2W5|315|45|480| 28 |W514|322|200| M63X|5| 80|170|160| 5 |40 | 22 | n | 85 |M24| 6320C3 | 6316C3 |

Note: 1.Tolerance of Shaft End Diameter D: m6

2.Tolerance of Key Width F: h9

3.Tolerance of Shaft Center Height H: +0, -1

4.Tolerance of N:js6

TECO0/151

LEM N P s
140|740(680| 800 | 24

6 |610]150(750] 810

330|330 | 860 | 48

170|740|680| 800 | 24

FRAME C H HA HE

6 |610] 150 750] 810

75 [140|125( 7.5 | 40 | 20 [67.5 |79.5 |M20|

330330 | 860 | 48
BEARING

DRIVEEND OPPOSITE
DRIVE END

6317C3 | 6317C3

| 355MB |254|355| 45|540| 28 | 1595 |372|230| M72X2 | 95 |170|160| 5 |48 | 25 | 86 ||00|M24| 6322C3 | 6322C3 |

Note: 1.Tolerance of Shaft End Diameter D: m6

2.Tolerance of Key Width F: h9

3.Tolerance of Shaft Center Height H: +0, -1

4.Tolerance of N:js6

TECO0/152



9MZE Outline

IMERTERIE

TED4
28753 B35 (IM2001)

Output (kW) FRAME FLANGE DIMENSION

2P 4P 6P SIZE LA

7

-9k noLes

A AA AB AC

FRAME BC C H HA HE K
SIZE

355LA | 48 [254355| 45 | 529| 28 [1714 372|230 | M72X2 | 75

20 |67.5[79.5 |M20| 6317C3

BEARING

G GA DB DRIVEEND OPPOSITE
DRIVE END

| 355LB |48 |ZS4|355| 4S|529| 28 |1645|372|230| M72X2 | 95 |170|160| 5 | 48| 25 | 86 |100|M24| 6322C3 | 6322C3 |

Note: 1.Tolerance of Shaft End Diameter D: m6

2.Tolerance of Key Width F: h9

3.Tolerance of Shaft Center Height H: +0, -1

4.Tolerance of N:js6

TEC0/153

TECO

TED4
AR 0 V1 (IM3011)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
SIZE 3 LE M N P N T
01?15 075 o | - 80M | 1 | 12| 40|165]130| 200| 12 | 35 177 163 | 125 | 67.5|123.5| 68.5| 354
15[ 11 ]07s 90 | , [12]50]165[130]200| 12 | 35| 271 | 173 125|67.5[1335 92 |44a5
22| 15| 11| | 9oL 12|50 165|130 200 12 [ 35| 271 | 173| 125 67.5[1335| 92 |44
SHAFTEXTENSION BEARING
" o5 |mmEEs OPPOSITE
DRIVE END
8oM | 115 [M2ox15[ 19 | 40| 32 4 | 16| 6 |155|215| M6| 62042z | 62032z
90S 115 |M20X1.5| 24 50 (40| 5 19| 8 20 27 | M8| 6205727 620477
ooL | 115 [meox1s| 24 | 5o [ 40| 5| 19| 8 [ 20 | 27 | m8| 62052z | 62042z
Note: 1.Tolerance of shaft end diameter D: j6

2. Tolerance of N: j6.

TECO0/154



4MZE Outline TED4

IMERTERIE REHN: V1(IM3011)

Dimensions in mm

Output (kW) FRAME  FIG FLANGE DIMENSION
AC AD AG AS HE HH L LL
P 4 6 8 Sz NO. LA LE M N P S T
HE S 1000 | 4 | 16| 60|215| 180|250 | 145| 4 [2885| 188 | 147 | 785 | 147 | 84 | 507|125
22 112m | 3 |15 60]215] 180]250 | 145 4 [306.5]2005] 1477851505 98 [ 499|125
3 1325 |, |16 [ 8065|220 300 145] 4 | 360 218 | 147|785 [ 177 [ 95 [se2 125
EX 132M 16 | 80 | 265] 230300 [ 145] 4 [ 360] 218 | 147 [ 785] 177 [ 95 |82 125

BEARING
OPPOSITE
DRIVE END

EF DRIVE END

5
5
5
5

100L M25X1.5| 28| 60 | 50
112M | M25X1.5( 28 | 60 | 50
1328 M25X1.5| 38| 80 | 70
132M | M25X1.5( 38| 80 | 70

22| 8 | 24| 31 [M10| 6206ZZ | 6205ZZ
22| 8 | 24| 31 [M10| 6306ZZ | 6305ZZ
28 | 10 | 33 | 41 [M12| 6308ZZ | 6306ZZ
28 | 10 | 33 | 41 [M12| 6308ZZ | 6306ZZ

Note: 1. Tolerance of shaft end diameter D: y28: j6,y38:6.
2.Tolerance of N: j6.

TEC0/155

YMIZE] Outline TEsEgl

IMERBERITE LEHN: V1(IM3011)

Dimensions in mm

Output (kW) FRAME  FIG FLANGE DIMENSION
AC AD AG AS HE HH L LL
P 4 6 -- SZE NO. LA LE M N P S T
1l |75 [~ 160m 5 |15 |110]300] 250] 350 |18:5| 5 | 427 270] 193 | 915 |2115| 155 | 702 | 193
1g5] 15 [ 11 [ [ 1e0L 15 [110{300| 250 | 350 1855 | 5 | 427 | 270 | 193 | 91.5 |211.5] 155 | 702 | 193
22 [185 | - |~ | 180M | |15 |110]300|250|350[185| 5 | 476 | 296 | 193|915 |2575] 160 | 760 | 193
|22 |15 || 180L 15 {110{300| 250 | 350 [18.5| 5 | 476 | 296 | 193 | 915 |2375| 160 | 760 | 193

BEARING
OPPOSITE
DRIVE END

DRIVE END

160M | M32X1.5| 42 [ 110|100 | 5 [ 36| 12 | 37 | 45 [M16[ 6309ZZ 63072Z

160L M32X1.5| 42 | 110 100| 5 |36 [ 12 [ 37 [ 45 |M16| 6309ZZ 63072Z

180M [ M32X1.5| 48 [ 110|100 | 5 |36 | 14 | 42.5| 51.5|M16|(6311ZZC3)[(6310ZZC3)

180L M32X1.5| 48 | 110100 | 5 | 36 [ 14 [42.5(51.5|M16| 6311ZZ 631022
Note: 1. Tolerance of shaft end diameter D: k6.

2.Tolerance of N: j6.
3.Bearing No.In () is for 2P.

TECO0/156



4MZE Outline TED4

IMERTERIE REHN: V1(IM3011)

Output (kW) FRAME  FIG FLANGE DIMENSION
LE L\ P S T

AC AD AG AS 213

39130 ["82] ] 200 | 7 [ 17 [110350]300( 400 {185 5 |s765] 358 | 231| 1075 | 288 185 [8145
a7 | || eessc 20 [140 400|350 | 450|185 | 5 |652]377.5] 231| 1075 | 308 [1865| 876
45 | | | .| 225MA | 8 | 20 |110|400|350|450(185| 5 |652|3775| 231| 1075 | 308 |1865| 871
| 45 | 30| 225MC 20 (140 [400 | 350 [ 450|185 | 5 |652]377.5| 231 | 1075 | 308 [186.5] 901
BEARING
OPPOSITE
DRIVE END

DRIVE END
200L 231 [Ms0x15| 55 [110[100] 5 | 42 | 16 | 49 | 59 |M20| (6310773 621222¢3)
2255C 231 |Msox1.5| 60 |140(125| 7.5| 42 | 18 | 53 | 64 |Mm20| 631222 | 621222
225MA 231 [msoxis | 55 [110]100] 5 [ 42| 16 [ 49 | 59 [M20] (6310773 [6212223)
225MC 231 |Mmsox15| 60 | 140[125| 7.5| 42 | 18 | 53 | 64 |m20 62132z

Note: 1. Tolerance of shaft end diameter D: mé6.
2.Tolerance of N: j6.
3.Bearing No. In () is for 2P.

TEC0/157

YMIZE] Outline TEsEgl

IMERBERITE LEHN: V1(IM3011)

Output (kW) FRAME  FIG, FLANGE DIMENSION
3 SIZE NO. LA LE M N P

SHAFTEXTENSION BEARING

OPPOSITE
EF EG F G GA DB DRIVEEND
DRIVE END

250MA 255 M63X1.5[ 60 | 140| 125| 7.5| 42 | 18 | 53 | 64 | M20[ 6313C3
I 250MC I 255 IM63X1,SJ 65 IMDI 125] i‘lZ | 18] 58 I 69IM20| 6315 |

6313C3
6313 |

Note: 1. Tolerance of shaft end diameter D: m6.
2.Tolerance of N: j6.

TECO0/158



4MZE Outline TED4

IMERTERIE REHN: V1(IM3011)

Output (kW) FRAME FLANGE DIMENSION

6P - SIZE LE M P s

75| - | - |- | 280SA | 22 [140|500 [450|550(18.5| 5 | 717 | 445 | 255| 1225 366.5| 238 | 1137.5
---| 75 |45 | ... | 280SB | 22 | 140|500 [ 450|550(185| 5 |717| 445 | 255| 122.5| 366.5| 238 | 1137.5
90 | --- | -~ | .- | 280MA | 22 | 140|500 | 450 (550|18.5| 5 |717| 445 | 255| 122.5| 366.5| 238 | 1187.5
=== 90 | 55 | --- | 280MB | 22 | 140 [ 500 [ 450 | 550|185| 5 |717| 445 | 255| 122.5| 366.5| 238 | 1187.5

BEARING
OPPOSITE
DRIVE END

EF DRIVE END

280SA 255 M63X1.5| 65 |140|125| 7.5| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3
280SB 255 M63X1.5( 75| 140|125| 7.5| 40 | 20 |67.5|79.5| M20| 6318C3 6316C3
280MA 255 M63X1.5( 65 |140|125| 7.5| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3
280MB 255 M63X1.5( 75 |140|125| 7.5| 40 | 20 |67.5|79.5| M20| 6318C3 6316C3

Note: 1. Tolerance of Shaft End Diameter D: m6
2.Tolerance of Key Width F: h9
3.Tolerance of N:j6

TECO0/159

YMIZE] Outline TEsEgl

IMERBERITE LEHN: V1(IM3011)

Output (kW) FRAME FLANGE DIMENSION

SIZE LA LE M

110 - 3155A 25| 140 600 [ 550 [ 660 | 24 | 6 660 | 527.5| 336 | 163 | 430 | 269 | 1346 | 322
- 10| 75 315SB 25| 170 | 600 [ 550 [ 660 | 24 | 6 660 | 527.5| 336 | 163 | 430 | 269 | 1346 | 322
132 --- | 315MA | 25 |140 600 [ 550|660 | 24 | 6 660 | 527.5| 336 | 163 | 430 | 269 | 1346 | 322
- 132 90 315MB 25| 170|600 [ 550 [ 660 | 24 | 6 660 | 527.5( 336 | 163 | 430 | 269 | 1346 | 322

SHAFTEXTENSI BEARING
OPPOSITE
DRIVE END

EG DRIVE END

3155A M63X1.5 | 65 |140|125| 7.5| 40 | 18 | 58 | 69| M20 6316C3 73148

315SB M63X1.5 | 80 |170|160| 5 | 40 | 22 | 71 | 85| M20 6320C3 6316C3

315MA M63X1.5 | 65 |140|125| 7.5| 40 | 18 | 58 | 69| M20 6316C3 73148

315MB M63X1.5 | 80 |170|160| 5 | 40 | 22 | 71 | 85| M20 6320C3 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2.Tolerance of Key Width F: h9
3.Tolerance of N:js6

TEC0/160



M2l Outline TED4

IMERTERIE REHN: V1(IM3011)

Output (kW) FRAME FLANGE DIMENSION

AC AD AG AS HE
6P SZE LA LE M N P S

1901739 31518 | 30 [170[600 [ s50[ 660] 24 | 6 | es2[s5275] 336 | 163 [ 430 284 [1834] 322]
SHAFTEXTENSION BEARING
OPPOSITE

DRIVE END

EF EG F G GA DB DRIVEEND

315LA [ M63X1.5| 65 | 140| 125| 7.5| 40 | 18 | 58 | 69 | M20| 6316C3 73148
| 315LB |M63X1.5| 80 |170|160| 140 I 22 I 7 I BSIMZOI 6320C3 I 73168 |

Note: 1. Tolerance of Shaft End Diameter D: m6
2.Tolerance of Key Width F: h9
3.Tolerance of N:js6

TECO0/161

SMEZE Outline TEsEgl

IMERBERITE LEHN: V1(IM3011)

Output (kW)  FRAME FLANGE DIMENSION
6 SZE LA LE M N P S

AC AD AG AS HE HH L

SHAFTEXTENSION BEARING
OPPOSITE
DRIVE END

EF EG F G GA DB DRIVEEND

355MA M72X2 | 75 | 140(125( 7.5[ 40 | 20 [67.5]79.5| M20| 6317C3 73178
I 355MB I M72X2| 95 |170|160I ALAB I 25 | 86]100[M24| 6322C3 | 73228 I

Note: 1. Tolerance of Shaft End Diameter D: mé
2.Tolerance of Key Width F: h9
3.Tolerance of N:js6

TEC0/162



M2l Outline TED4

IMERTERIE REHN: V1(IM3011)

Output (kW) FRAME FLANGE DIMENSION
6P SIZE LA LE M N P S

AC AD AG AS HE

SHAFTEXTENSION BEARING
OPPOSITE
DRIVE END

EF EG F G GA DB DRIVEEND

355LA [ M63X1.5| 75 | 140| 125| 7.5| 40 | 20 |67.5|79.5|M20| 6317C3 73178
| 355LB |M63X1.5| 95 |170|160| 148 I 25 I 86 I100|M24I 6322C3 I 73228 |

Note: 1. Tolerance of Shaft End Diameter D: m6
2.Tolerance of Key Width F: h9
3.Tolerance of N:js6

TEC0/163

MEMO

TECO




